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The pole shoes of DC machines are fastened to the pole core by

A. Welding B. Soldering
C. Steel clumps D. Countersunk screws
Ans. D

Which of the following are considered as disadvantage(s) of Gauss-Seidel
method over Newton's method in load flow programs?

A. More iteration

B. More memory requirement and less accuracy

C. Lessinteractions but more memory

D. More accuracy and more memory

Ans. A

The quantity "Rm" which relates dependent voltage to controlling current
is called

A. Trans Conductance B. Maximum Resistance
C. Trans Resistance D. Limiting Resistance
Ans. C

For which purpose bundled conductors are employed to a power system
A. Appearance of the transmission line

B. Mechanical stability of line

C. Decrease system stability

D. Increase the short circuit current

Ans. D

Radio frequency chokes are air cored to

A. Keep frequency low B. Keep inductive reactance low
C. Keep frequency high D. Keep inductive reactance high
Ans.B ¢ ‘ :

Fundamental property used in single node pair circuit analyzer is that
........... across all elements is same. .
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A. Current ’ B. Voltage

C. Resistance D. Inductance

Ans. B

Landfill gas is actually --------- used in thermal power plants.
A. Methane B. Ethane

C. Black liquor D. Ethane

Ans. A

The average fossil fuel plant converts about is % of the power
going in to the power going out.

A. 33 B. 40

C. 25 D. 50

Ans.BothAand B

If field resistance of a dc shunt generator is increased beyond its critical
value, the generator.

A. output voltage will exceed its nameplate rating

B. will not build up

C. may burn out if loaded to its nameplate rating

D. power output may exceed its nameplate rating

Ans. B '

A semiconductor device is connected in a series circuit with a battery and
a resistance. If the polarity of battery is reversed, the. current drops
almost to zero. The device may be

A. P-type semiconductor B. N-type semiconductor
C. P-N junction D. An intrinsic semiconductor
Ans. C

What is the probability of a number “2" when a dice is thrown?

A. 2/6 : B. 1/3
C. 1/6 . D. %
Ans. C :

If theinput capacitor of a power supply is shorted,' it will resultin
A. Excessive hum > B. Reduced voltage output
€. No voltage output - D. Low voltage output

Ans. C SN Z.'
 —— A
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13.

14.

15.

16.

17.

18.

| 1

Admittance is the reciprocal of

A. Capacitive reactance B. Inductive reactance
C. Reactive power D. Impedance
Ans.D

o

-------- is a by-product of paper industry, which is used by many industries
as a primary source of electricity.

A. Landfill gas B. Sludge waste
C. Black Liquor D. Wood waste
Ans. C

Which of the following ideas means deciding at runtime what strategy to
summon? \

A. Dynamic typing B. Dynamic hiding
C. Dynamic loading D. Dynamic blinding
Ans. D

If the firing angle in an SCR rectifier is decreased, output will be

A. Maximum B. Increased

C. Decreased D. Unaffected

Ans. B ‘

The ------- time signal is described for all values of time.
A. Discrete B. Continuous

C. Random D. Digital

Ans. B

Which of the following conditions relate line resistance 'R' and line
reactance 'X' for maximum steady state power transmission on a
transmission line?

A. X=R B. R=y3X
C. X=1\3R D. X=R/\2
Ans. C
These are - types of dependent sources, depending on the
controlling variable and output of the source.
A, Two B. Three
C. Four . D. Five
Ans. C . , 3
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20,  Discretedavice field effect transistor is classified on the basis of thj,
‘ A. Resistive state B. Conducting state
C. Voltaic state D. Control gate construction
Ans.D

71.  Atvery sunny places this source(s) of energy can be found

A. Jet fuel B. Geothermal
C. Solar D. BothB&C

Ans. C

22.  Main purpose of modulation process is to
Distort the original signal

Add extra noise to the signal

Reduce the mutual interference

Time shift in frequency

. Increase signal to noise ratio
Ans.D

moON®>»

23.  Which line is obtained by the method of least square?
A. Straight line
B. Second degree equation line
C. Polynomial equation line
D. Best fit line
Ans.D

24.  Atransformer transforms
A. Voltage
C. Frequency
Ans.BothAand D

B. Power
D. Current

*According to NTS the answer is voltage and current however in actual it
the power which transformer transforms.

25.  Conjunction x /\ igi
y behaves on digit
ordinary algebra, gits 0 and 1 exactly as ------does fof
A. Addition ’
: B. Sub i
C. Multiplication D. Di .traCtlon
Ans. C . Division

‘_.‘”
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26.

27.

28.

29.

30,

3L

32.

Power in an AC circuit is found by

A. Vlisins B. Vitane
C. Vicose D. VI
Ans. C

Modulation index in amplitude modulation

A. Is defined as the measure of extent of amplitude variation about an
un-modulated carrier.

B. Does not impact power dissipation

C. Isindependent of integral multiple of amplitude

D. None of these

Ans. A

Fourier series are infinite series of elementary trigonometric functions i.e.

sine and

A. Cosine B. Sec
C. Cosec D. Tan
Ans. A

SCR (Silicion controlled rectifier) goes into saturation, when gate-cathode

junction is
A. Forward biased B. Reverse biased
C. In steady state D. Polarized
Ans. A '
Drop out to cut off ratio for most relays is of the order of
A. 0.2to 0.3 B. 0.3to0.4
C. 04to0.6 D. 0.6to 1.0
Ans.D
A copper oxide ----- allows current to flow through a meter in only one '
direction.
“A. Diac B. Transistor
C. ' Rectifier D. Voltmeter
Ans. C
DC generators have -------- on rotating shafts ghat’ convert AC into DC.
A. Diodes B. Commutator
C. Compressor D. Rotor
Ans. B

Se———
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33, There are two types of overload protection; instantaneous over current

and --—--- ;

A. Variable over current B. Time over current

C. Constant over current D. Delay feedback current
Ans. B

34. Single sideband techniques are mostly employed for
A. Conservation of transmitted power
B. Conservation of transmitted bandwidth
C. Conservation of transmitted power and bandwidth
D. Improving the performance of frequency modulation
Ans. C

35.  For the same peak value of voltage which waveform will have the least

RMS value?

A. Sine wave B. Square wave

C. Triangular wave D. Full wave rectified sine wave
Ans. C

36.  Which of the following sources have highest power generation capacity?

A. Qi _ B. Biogas
C. Nuclear . D. Natural Gas
Ans.C

37. Us&lly high tension cables can be used for electric power transmission
but the voltage should not exceed

A. 11kv B. 22kv
C. 32kv 'D. 110kv
_ Ans. A

38.  The line integral of the electric field around a closed loop is equal to the

negative of the rate of change of ma i

by the loop. This statement igs knowngar\\se Bt e
A. Ampere's law '

B. Faraday's law of induction

C. Gauss' law of magnetism

D. Maxwell's equation -

Ans. B
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39.  The partial derivatives "fxy" and "fyx" are called ---------- derivatives.
A. Dependent partial B. Independent partial
C. Mixed partial D. Universal partial
Ans. C

40.  Green function method is a useful technique for solving.
A. Ordinary differential equation  B. Partial differential equation
C. 1st order ODEs D. 2nd order ODEs

Ans. B

41.  The sum of all potential differences in a complete loop through the circuit
should be
A. Equal to zero
B. Equal to individual voltages
C. Equal to individual currents
D. Equal to individual resistances
A5, A

42.  Uniguided propagation involves
A. Propagation through computer LANs
B. Propagation through telephone channels
C. Propagation through optical fiber
D. Propagation through coaxial cable
E. Free space propagation
Ans. E ‘

43.  Preferring a ---------- consists of using OHM's law to take an existing
voltage source in series with a resistance and replace it with a current
source in parallel with same resistance.

'A. Voltage transformation B. Current transformation
C. Source transformation D. Resistance transformation

Ans, C

44.  Dynamic resistance of diode.
A. Remains constant with time

B. Cannot be calculated for a diode .
C. Doesn't depend on voltage and current change across diode

D. Changes as a function of applied voltage
Ans. D

L e NI ST
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44. The TRIACis @ -======- device with control terminal
A. Uni-directional B. Bi-directional
C. Tri-directional D. Two terminal
Ans. B

45. If all conductive objects are bonded to same earth grounding system, the
risk of electric shock is
A. Maximized 8. Minimized
C. Zero D. Neglected
Ans. B

46. In open loop control system, input i§ ==m==n output.
A. Dependent of B. Independent of
C. Equalto D. Exponent of
Ans. B

47.  If Ais a square matrix with 3 x 3 order having det(A)=21, then what will
be the det (2A)? Whereas det is determinant.

A. 168 B.. 42
C. 21 D. 126
Ans. A

48. Error in a computer program is called

A. Virus B. Crash
C. Bug D. Worm
Ans. C
49. A system is -, if the natural response neither decays nor grows, but

remains constant or oscillates.

A. Asymptomatically stable B. Marginally stable
C. Fullystable D. Absolute stable
Ans. B 7

50. N-type material is formed by doping pure silicon with

A. Trivalent impurity B. Tetravalent impurity
C. Pentavalent impurity D. Divalent impurity
Ans. C

T N TR BT
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51,

52,

53.

54.

55.

56.

57.

The main criterion for selection of the size of power distribution using a
radial distribution system is

A. Voltage drop : B. Corona loss
C. Temperature rise D. Capital cost
Ans. A '

Self-induction of a solenoid is

A. Directly proportional to the current flowing through the coil.
B. Inversely proportional to its area of cross-section

C. Directly proportional to its length

D. Directly proportional to its area of cross-section

Ans. D

Transmission lines mostly use high voltage ------ - alternating current.
A. Singlé phase B. Two phase ’

C. Three phase - D. Neutral phase

Ans. C

In @ DC generator, brushes on the commutator are shifted from

* geometrical neutral position to

A. Obtain highest generator voltage
B. Avoid sparking

C. Obtain highest generator efficiency
D. Produce spark

Ans. B

The electric dipole mc;ment per unit volume of the dielectric is called
A. Dipole density B. Polarization of dielectric

C. Electric displacement vector D. Polarization density

Ans. B

The negative maximum of cosine wave occurs at

A. 270° _ B. 180°
C. 90 - - : D. 0°
Ans.B

For current amplification in BJT, we mostly use
A. Common base configuration
B. Common emitter configuration
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58.

59.

60.

61.

62.

63.

64.

10

ase and common emitter configuration

or configuration
llector and commo

C. Both common b
D. Common collect
E. Both common co

n emitter configuration

Ans. D

If we have two points "A" and "B" on node and the voltage is represented
byVab, then - is taken as reference. ,
A. ‘Nodo A B. NodeB

C. Origin point \ D. Both

Ans. A

motor which divides full rotation into large

Stepper motor is a/an
number of steps.

A. Direct current B. Alternating current

C. Powerless D. Small

Ans. A

A state during which nothing happens is known as s
A. LDA . B. Nop *
C. MAR ; D. Op Code

Ans. B

A relay used for protection of motors against overload is

A. Impedance relay B. Electromagnetic attraction type
C. Thermal relay D. Buchholz's relay
Ans. C

Which of the following relays is used on transformers?

A. MHO Relay B. Merz Price Relay
C. Buchholz's relay D. None :
Ans.C ‘

Solid Grounding is used for Voltages
A. Above 220 kV B. Above 11kV

C. Below 660V
Ans. C D. Below 115V

Anid 4 |
oy :ra; voltage source has -— internal resistance
B. Infinity '
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65.

66.

67.

68.

69.

70.

71.

C. High ‘- D. Low

Ans. A

An ideal current source has ---—-- internal resistance
A. Zero , . B. Infinite

C. High D. Low

Ans. B

A moving iron ammeter coil has few turns of thick wire in order to have

A. Low resistance B. High sensitivity
C. Effective damping . D. Large scale
Ans. A d

Electric lines of force about a negative charge are

A. Circular and anticlockwise  B. Circular and clockwise
C. Radially inward D. Radially outward
Ans. C

A digital signal is

A. Discrete B. Discrete in time
C. Discrete in amplitude

D. Discrete in neither time nor amplitude

E. Discrete in both amplitude and tinre

Ans. E

----- is defined as the measure of instrument by which it is error free.

A. Accuracy B. Precision
C. Resolution D. None of above
Ans. A :

A diode that has a negative resistance characteristics is the
A. Schottkey diode B. Tunnel diode
C. Hot carrier diode D. Laser diode

. E. Zener diode

Ans. B

Which type of engine uses maximum air fuel ratio?
A. Petrol engine . B Gas engine
C. Diesel engine . D. Gas turbine

»

- _ B : 5
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72.

73.

74.

75.

76.

77.

78.

12

E. Hydro turbine

Ans. D : | |
on for AC & DC values?

librati
Which Instrument has same ¢2 B. Hot wire type

2‘ :ag:?:igo:otirf:pe ' D. Movingiren type
Ans. B p :
current are concentrated close to the surface of e

The EM field and w5
' _The ohenomenon is ca
i et B. Faraday effect

A, Skin effect

C. EM concentration effect D. Ohms effect

Ans. A

arge lamps by

B. Heating effect

D. Carbon electrodes

Light is produced in electric disch
A. lonization in vapor ot g2s
C. Magnetic effect

Ans. A

. diode acts as a voltage controlled variable capacitor.
A.: Yaractor B. Zener _

C. Avalanche D. Light emitting

Ans. A

v

By.which a meter after checking with no current returns to its previous
state :

A. Controlling torque B. Damping torque
C. Deflecting torque ; D. None of the above

Ans. A
2v cg:;:ctting a .sl"lu.nt pf higher value in ammeter wi;at will happ;n
‘ nt sensitivity increases B. Current sensitivity decreases

C. Damping increases
And. B D. Controlling torque decreases
g‘" :::L‘I?thpins occurs in ——— circuit break
. as er,
C. Oilfilled B. Vacuum filied
Ans. A D. sF6 '

e
—— : i
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80.

81.

82.
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79.

For the signal Cos (x /4) the fund
A 2

C. 8
Ans. C

amental period is
B. 4

D. 10

In Z- Transform, the ROC must be centered at

A. Origin B. Z=1
C. Poles D. Zeros
Ans. A

For a single phase rotary convertor,
AC line to DC current ratio will be

A 14 B. 1.0
C. 0.707 D. 0.5
Ans. A

when the power factor is unity, the

A rectifier is a

A, Bilateral device ‘B. Linear device

C. Nonlinear device ' D. Passive device
Ans.C

A permanent magnet coil meter has which features

Low power consumption
No hysteresis loss
Reduced eddy current
Reduced damping

. Al

Ans.

m

Electric energy is stored by .
A. Nickel cadmium battery B. Lead acid battery
C. Dry cell battery D. None

_Ans. B

What is handoff? o

A. Call activation B. Call termination
C. Shifting call from one cell to another

D. Al

Ans. C

I—t 13
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86.

87.

88.

89.

90.

91.

92.

to the plane of inclden“

is parallel
id to be ?
s sa.'d ‘2 B. Circularly polarized
D. Hyperbolically polarized

the

When electric field
electromagnetic wave
A. Linearly polarize

C. Elliptically polarized

Ans.D

eter can measure

Moving coil amm g. DCcurrent

A. ACcurrent

C. Eddy current p. Stray current
Ans. B

Due to velocity saturation, MOSFET enters ir.l saturation region
A. Before pinch off B. After P""Ch off _
C. At pinch off D. at Qpoint

E. After Q point

Ans. A

Which of the following is not bilateral?

A. Resistor B. Diode

C. Capacitor D. Inductor

Ans. B

Which of the following contact point metals has the highest meltin

point?

A. Silver ' B. Tungsten
C. Gold _ -D. Copper
_Ans..a

In a rotary converter

A. Armature currents are DC only
B. Armature currents are AC only
C. Partly AC & partly DC

D. All '

Ans. C | | ’
Which bulb operates ‘

it n Io.west p:we‘r‘? o :

C. GLS bulb “ Monbuils

R . D. Torch lamp :

“w

h
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93, Which instrument cannot be used for DC measurements?
A. Moving iron attraction type
B. Moving coil permanent magnet type
C. Hot wire type '
D. Induction type
Ans.D

94.  Which type of system is referred by pneumatic system?

A. Pressure - B. Hydraulic
C. Fluid . D. None of these
Ans. A

95. fhe voltage above 230kV is called

A. Extra high voltage B. Ultra high voltage
C. High voltage - D. None ;

Ans. A o '

96. Lower voltages like 66kv and 33kv are considered to be
A. Sub transmission voltage = B. Distribution voltage

C. Generation voltage D. None

"Ans. A
.\ 97.  Every pre-amplifier in amplifier circuit contain ____to achieve linearity,
B A. ClassA B. ClassB /
F C. ClassAB D. ClassC sk
. Ans. A : ‘ |

98.  DIAC is a semiconductor device which act as a
A. 2 terminal unidirectional switch
B. 2 terminal bidirectional switch
C.- 3 terminal bidirectional switch
D. 4 terminal multi directional switch
Ans.B :

99.  What is reciprocal-of power factor?

A.- Gain -~ B.. Qfactor
C. Reactive power D. Real power
Ans.B

—' ' ) == 15




100.

100.

101.

102.

103.

104,

105.

18

- Aero derivative turbines do not have

What is the percentage of symmetrical faults in power system? ‘

A, 5% B. 10%
C. 15% D. 20%
Ans, A

Transmission lines are considered to be —kVand above,

A. 110kv B. 140kv
C. 130kv D. 150kv
Ans. A

The product of V-rms and I-rms is called ; power.

A. Apparent power B. Real power

C. Virtual power D. Reactive power

Ans. A

State variable analysis is used for the modelling of —— type of systems,
A. Linear B. Non-linear

€. Time variant D. Time invariant

E. All of above '

Ans. E

-----

A. Stator B. Compressor
C. Fuel intake system .D. Fan
Ans.D

Commercial digital/analog convertor modules are available with precision
ranging from 6 bit to ——. )

A. 10 B. 12
C. 32 D. 18
Ans:D -

In superposition theorem, all voitage squrces are replaced by
A. Open circuit

B. Closed circuit

C. Short clrcuit ' _ '

D. Open drcuit with parallel branch .

Ans.C =~

\
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107.

108.

109.

110.

111,

112,
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106.

The principle of .......... can be used to analyze fault in power system
network.

A. Thevenin B. Norton

C. Jordon D. Superposition

Ans.D

In submarine power system, power is transmitted through——- cables,
A. High voltage direct current B. Low voltage direct current

C. Under current D. Under ampere
Ans. A

RCsnubber circuit is used to limit the rate of..... in off state.

A.  Rise of current in SCR B. Rise of voltage in SCR
C. Conduction period D. All of above
Ans.B

Which system is used for dc to dc ngh voltage gain?
A. Solar cell energy conversion system '
B. Battery backup system

C. Fuel cell energy conversion system

D. High intensity discharge lamp ballasts for automobile headlamps
E. All of the above

Ans. E

UIT has same characteristics like

A. CE B. BIT

C. FET ; D. Diodes

Ans. C :

Rechargeable batteries or Pbs batteries are of type. .
A. Primary batteries B. Secondary batteries

C. Electrochemical batteries D. None .

Ans. B '

How is load modeled in load flow analysis?

- A. Constant power

B. Constant impedance
C. Constant load

D. Variable load
Ans. A
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- is applicable to
T iupfir::as:t:;:tg:ore'm e g. Linear time variant

i and non-linea
C. Linear time invariant . D. Ltmear d
E. Linear, non-linear and time varian
Ans. A

114. Four wires are évailable in -—----system.. |
A. Star B. Delta

.C. . Interconnected D. BothAand B

Ans. A

115. Active devices
A. Supply energy B. Absorb energy
C. Convert energy from one form to another
D. Supply and absorb energy
E. Supply energy and convert one form to another
Ans. E |

116. Over Current protection for miotor is provided by

A. Kit kat fuses - - ‘B. Overcurrent relay
C. |Cartridge fuses D. None
: Ans‘ A
ey ‘" .
137+ Inductance can be measured by ’ .ﬂ& {}
A. Wien's bridge : B. Sheanng brldge
C. Anderson br udge 4 D. Maxwell bridge
Ans D e i
118. Fora f‘ xed number of poles and armature conductors ----- winding Wi
give hugh emf, \
‘ 2 tap w'"d'"gdi v ‘B. Wave winding
opper win ng D.
Ans. B ¢ : Both A& B
119,

Maxwell loop current m '
ethod of solvi i es
A. Branch currents ing electrical network us

B. Kirchhoff's voltage |aw

C. isconfined to single loop circuit

D. is a network redu
i ction method

o — ‘. 255 'I
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120.

121.

122.

123,

124,

128,

126.

* Which of the following Isnot a type of transformer?

A. Resonant transformer B. Laminated core transformer
C. single instrument transformer D, Ferrite core transformer

E. Castiron transformer

Ans. E

Which of the prime movers is least efficient?

A. Gas turbine B. Petrol engine
C. Diesel engine D. Steam engine i
. Ans.D '

When electromagnetic waves collide with hurdles their frequencles

A. Increase 2 B. Decrease y
C. Remains same D. Bounce back
Ans. C

|
In 3-phase 4-wire system, how many voltages are available?

A. Two B. Three . T
'C. Four D. Nine - il
Ans. A

|4
--------- -- meter is used a null detector in Wheatstone bridge.
A. Ammeter : B. Voltmeter
C. Galvanometer ~ D. Wattmeter /
Ans. C
f
If “Rt” is the resistance of a coil of copper at T°C and RT is the resistance
at T°C and also the resistance temperature coefficient of copper per
degree centigrade at 0°C is 1/234.45, then Rt/RT .
A. (14t) /(14T7) . L '
B. (1+234.45t)/(1+234.45 T ’
C. (234.45+1t)/(234:45+T)
D. (234.45+1t2) /(234.45 + T;)

= Ans. c |

The wavelength of an electromagnetic wave after reflection at an angle
on asurface :
A. Increases in the actual direction of propagation .
B. Decreases in the actual direction of propagation
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C. Remains the same as the wavelength perpendicular to the surface
D. Remains the same as in free space b
Ans. A

127. AxH=J+Dis

A. Maxwell equation ' B. Continuity
C. Laplace equation D. Poisson equation
Ans. A '

128. The channel of a JFET is between the

A. Gate and drain - B. Drain and source

C. Gate and source D. Input and output
Ans.B
129. LTIsystem can bé completely characterized by
A. Impulse response B. Stepinput ‘.
C. Output D. Step response
Ans. A '
130. If a signal having different frequency and different sampling frequency
are time division multiplexes then it is called .
A. Pulse stuffing B. Synchronous multiplexing
C. Asynchronous multiplexing D. FDMA
. Ans.A

131. We build control systems for __

- A. Remote control . B. Convenience of input form
~C. Power amplification D. Compensation for disturbance
E. All of the above ’ -

Ans.E |

131. ' Natural frequency of a system gives

'| A. Nature of transient B. Overshoot

. C. Oscillation D. Speed of response

| Ans.D 2 3
*as per NTS key answer is speed of response however actual answer is
oscillations |
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132. Hay bridge is used for the measurement of

. A. Inductance -B. Resistance

i C. Capacitance D. None of these

: Ans. A

| 133, ----- bridge is used for the measurement of resistance.
: A. Shearing bridge B. Hay bridge

f C. Wheatstone bridge D. Maxwell bridge

Ans. C

134. Inan LTI system, if all the poles and zeros are inside the-unit circle then
A. ltsinverse does not exist :

B. The system is causal and stable
C. The inverse of system is causal and stable

D. Both systém and its inverse are causal and stable
Ans.D

135. Under-damped systems have

‘A. Damping ratio > 1 B. O0<dampingratio<1
C. Dampingratio=1 D. Dampingratio=0
Ans. B :

136. An alternator is operating on unity PF load, then
A. Armature reaction will be cross magnetizing

" B. Armature reaction will be de-magnetizing

C. Armature reaction will be magnetizing

D. None of the above

Ans. A

137. ROC converges if poles and zeros lies inside

A. Origin ' B. Z=1 \
C. Poles ‘ D. Zeros
Ans.B
138, is the fastest possible response without the overshoot.:
~ A, Under damped B. Over damped o
C. Critically damped ' D. General response
Ans. C A :

T TS R P |
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139.

140.

141. .

142.

143,

144.

145.

22

Which oscillator is the most stable oscillator?

A. Crystal * B. Wienbridge
C. Colpitts D. Hartley
Ans. A

Fourier series representation of continuous signal requires _____ numbg,
of harmonically complex components. !

" AN B. 2n/N

* C. n+N I« 5 B
E. oo Infinite :
Ans. E

Any constant of time domain is an impulse in frequency domain with
A. Infinite height , infinite width, infinite area

B. Infinite height, infinite width , zero area

C. Infinite height , zero width , zero area

D. 'Infinite height, zero width , unit area

Ans.D '

Which statement is true about continuous and discrete LTI system?
A. Convolution sum is approximation to convolution integral

B. Convolution integral is approximation to convolution sum

C. Convolution sum and integral are explicit realization

D. All

Ans. C

Which of the following has super linear rate of convergence?
A. Bisection method B. Newton Raphson method
C. Secant method D. False position method
Ans. C T4 ]

The modulation technique in which carrier is switched between two
different carrier levels 0&1 is called

A. Amplitude shift keying B. On off keying
C. Frequency shift keying D. Phase shift keying .
Ans.B '

LTI system is stable when

A. Zeroisinside aunitcircle  B. Poles are inside a unit.circle
C. Zero at origin D. 'Poles at origin

Ans. B

b ,
| —
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146. Which of the following converts thermal energy to kinetic energy?

A. Thermocouple B. Fuelcell
C. Rocket D. Storage battery
Ans. C

147. For constant voltage transmission, voltage drop “is compensated by

installing
A. Synchronous motors B. Capacitors
C. Inductors D. All of above
Ans. A
148.  Which of the following voltage is usually not the generating voltage?
‘A. 6.66kv B. 9.9kv
© C 11kv D. 13kv
Ans. B
149.  Boosters are basically
A. Inductors - B. Capacitors
C. Transformers ) D. Synchronous motors
* Ans. C
p
150. Difference between D-mosfet and JFET is the absence of
A. P-N junction ° ' B. Drain
C.* Gate - D. Source
Ans. A -
151. FET is beneficial due to
A. Low noise ' B. Small size
C. High power gam ! D. All
Ans.D 8o

152. Vce voltage (voltage between collector and emitter) of a translstor is very
" important in checking whether transistor is

A. Working in saturation B. Working in cut off
C. Defective D. All

Ans.D

153.  FIR filter can be designed to achieve

A. Linear phase ; B. Inverting phase
C.- Non-inverting phase D. BothA&B
i Ans. A :

Lot e e — I
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154, In 8051, the contents of the Instruction register are split Into

A. 2nibbles B. 3 nibbles
C. 4 nibbles D. 5 nibbles
Ans. A .

155. One of the properties of FIR filters is that ....s.is not required for FIR

filters.
A. Input B. Transfer function
C. Feedback * D. Output
Ans, C
156. Optical power cable depends on ... associated with optical fiber
receiver, ;
A. Quantum B. Darkcurrent .
C. Thermal D. All
Ans.D

157. The parameter hfe of a transistor corresponds to

A. Bdc B. Pac
C. .Re' D. Rc'
Ans.B

158. Oscillator whose frequency can be changed by a DC control voltage is
A. Triangular wave oscillator  B. Wien-bridge oscillator
C. Crystal oscillator D. Voltage controlled oscillator
Ans.D ;

* 159, DC operating point of an amplifier specified by voltage and current value

is called i ¥
A. Gain B. Qpoint

C. Load line D. None of above
Ans. B )

160. In RLC circuits, at low frequency; Z is larger due to

A. Xcis larger B. XLis larger
C. Xcissmaller D. None
Ans. A ‘

2¢ |
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161.

162.

163.

164.

165.

166.

167.

is_the part of instruction which tells the computer which
operation to perform next.

A. OP code B. On code
C. RAM D. ROM
Ans. A

In 8085 ............ is the part of a control unit.

A. ROM ' B. RAM

C. Instruction registers D. OP code
Ans. C

JFET has main drawback of

A. Having low input impedance

B. Noise distortion .
C. Having small gain-bandwidth product
D. None

Ans. C

In order to have a lower cost of electrical energy generation

A. The load factor and diversity factor should be low

B. The load factor and diversity factor should be high

C. The load factor should be low and diversity factor should be high
D. The load factor should be high and diversity factor should be low
Ans. B

When the current in the light bulb drops by 2%, its power decreases by

A 4% B. 2%
C. 8% D. 16%
Ans. A :

What Is common mode rejection ratio CMRR?

A. Rtis ratio of differential mode gain to common mode gain

B. I isthe ratio of common mode gain to differential mode gain

C. Itis the product of common mode gain and differential mode gain
D. None of these

Ans. A
. Resolution of ADC is defined as the no of bits in
A: Output B. Input
c o D. None ;
Ans. A - 3\5'
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* 168.

170.

171

172.

173.

26

168

The most common method for measurement of low resistance is
A. Wheatstone bridge method

B. Potentiometer method

C. Voltmetgk ammeter method

D. Kelvin'bridge method

Ans. D

The shunt winding of a motor has a resistance of 85 ohm at 22°C. When
the motor runs at full load, its resistance increases to 100 ohms. The
resistance temperature coefficient of winding per 0°C is 0.004. The rise.in
temperature of the winding will be nearly

A. 20°C - B. 50°C
C. 70°C D. 100°C
Ans. C

I the height of transmission tower is increased, which of the following
. parameters are likely to change?

A. Capacitance B. Inductance
. C. Resistance D. Nochange
Ans. A ~

If ROC (Region of conv'er_genfce) does not include unit circle then

A. Fourier transform converges B. Z-transform converges

C. Harley transform converges D: Chirplet transform converges
Ans. B 3

: g

In MSI (Medium Scale Integration) technique; the number of transistors
on the single IC package can be fabricated are -

. A. Lessthan 10 o B. 10t0 100
~C. 100to 1000 D. 1000 to 10000
Ans. B

In LSI (Large Scale Integration) technique, the nuriber of transistors
‘which can be fabricated on the single IC are

/A. 10to 100 B. 1000to 10000
C. 100to 1000 D. . Greater than 10000
.Ans.C ' R

*SSI small scale integration 0 to 10 transistors
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174.

175.

176.

177.

178.

179.

180.

Multiple Cholce Questions

TTL (Transistor - Transistor Logic) of chip integration uses
A. Bipolar junction transistor  B. Field effect

C. Complementary symmetry metal oxide

D. None

Ans. A

For getting the sampled signal without any distortion, according to

Nyquist criteria, the minimum sampling period must be
A. Double the max period
B. Equal to the max period
C. Greater than the max period
D. Half the max period
Ans.D

&

How is thyrister turned off?

A. By forced commutation B. Reverse gating
C. Forward biasing ~ D. None
Ans. A

For a silicon diode, the value of the forward bias voltage is
A. 0.1 .B.0.3 ; C. 0.7

D. Depends on the concentration of majority carriers

Ans. C

b

In high frequency app‘lications we use

A. Pulse transformer B. Air core transformers
C." Ferrite core transformers ~ D. None I
Ans. B

If there are less than 4 electrons in the valence shell, then the Aelementvis

generzily a

A. Conductor B.. Semiconductor
C. Insulator * D. None of these
Ans. A

Which is not a type of.substatlon?

A. \ine . B. Collector
C. "Converter D. Switching °
Ans. A

1 — |
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184.

185.

186.

187.

Multiple Cholce Questions —

R

What is the basic principle behind motor operation?
A. Electromagnetism B. Electrostatic induction

C. Magnetism D. None
Ans. A’

Most squirrel cage rotors are made by die casting of --—- conductor bars,
B. Aluminum

A. Copper
C. Zinc D. Silver
Ans.B
The —--—- of measurement is a measure of change in the instrument

output, which occurs when the quantity being measured changes by a
given amount.

A. Sensitivity o “Threshold
C. Accuracy ' D. None
Ans. A 5 '

—--transforms voltage from high to low and reverse and perform any of
several other important functions.

A. Substation B. Grid
C. Switchyard . D. None
Ans. A

.

The input for a distribution substation is typically at least
transmission lines or sub-transmission lines. '

A. Two ' B. three
C. Four ' D. None
Ans. A

When a small resistance or impedance Is a'ccidentally .or intentionally

inserted between two points of different potential, it i
A. Short circuit | : Jan

B. Open circuit

C. Close circuit .

D. None : : 1
Ans. A

Hollow conductors are used in transmission line to

" A, Toreduce corona
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188.

189.

190.

e —

191.

192

B. To reduce weight of the copper

C. Improve stability '

D. Increase power transmission capacity
Ans. A

Shunt reactors are connected with transmission lines for
A. Limiting fault current B. Limiting fault voltage
C. Absorbing reactive power D. Absorbing high voltage surges
Ans. C ‘

N o
alasp .
2 1WA ,_7:.-}4‘ &=

In a DC machine, what is the angle between rotor and stator fields

A. 45° B. 90°

C. 120° D. 180°

Ans. B

Which of the following motor has the highest torque?

A. DC series motor B. AC series motor

C. Induction motor " D. Synchronous motor

Ans. A -

Motor that should not be used with load removed is

A. Series motor B. Shunt motor

C. Both 4 : D. None

Ans. A

The process of conversion of AC into DC is called ~=-—---.

A. Magnification B., Amplification

C. PRurification : D. 'Rectiﬂcation

Ans. D :

The region of operation of transistors is -—-- if emitter junction is forward

biased and collector junction is reverse biased.

A. Active : B. Saturation

C. Cutoff D. Inverted

Ans. A

When no signal input, a bipolar transistor would have least Ic when

A. Emitter base junction is reverse biased :
. B. Emitter grounded ' T

C. Emitter base junction forward biased
D. Emitter base current high
Ans. A
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195. ~ An N-type and P-type semiconductor can be obtained by doping silicoy,
with '
'A. Sodium and magnesium respectively
B. Phosphorus and boron respectively
C. Indium and sodium respectively
D. Boron and arsenic respectively
Ans.B :

196. ‘The form factor in reference to alternating current waveform represents
the ratio of ;
A. The average value to RMS value
B. The peak value to RMS value
C. The RMS value to average value
D. The RMS value to peak value
Ans.C

197. Power factor of magnetizing component of a transformer is

A. Zero B. Unity
C. 0.8 lagging D. Always leading
Ans. A

198. If the horizontal and vertica_l components of Earth's magnetic field are
- - equal then angle of dip is -

A. 45° ' B. 60°
C. 90° D. 30°
Ans. A : '

199. The Bk field lasts as long as current is flowing through the conductor.

A. Gravitational .1 B. Electric
C. Magnetic D. Kinetic
Ans. C

200. Waves which do not require material medium for their propagation are

called
A. Electromagnetic = B. Electrostatic
C. Electrical . D. Mechanical

Ans. A

w0 —
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Multiple Cholce Questions

,01. SCRisa device having === layers and -—----- junctions.
A. Four,three B. Three, four

C. Three, two D. Four, two
Ans. A

202. The AC motors used in servo applications is a
A. Single phase induction motor
B. Two phase induction motor
C. Three phase induction motor
D.. Synchronous motor
Ans. B

503, Transfer of ASCII codes from a microprocessor to a printer must be done

on handshake basis because
A. open collector buffers are used on a signal & data lines
B. Microprocessor can send characters much faster than p

print them
C. Sometimes parallel printer in a system don't have BIOS procedure

D. Both AandC

rinter can

. Ans. B
204. Which is not a type of key switch? -
‘A. Mechanical key switch B. Capacitive key switch
C. Hall effect key switch D. Maxwell's key switch
Ans.D - aig S

205. Specifying the kind of input, processing and output required for

" program occur when ¢ :
A. Defining the problem B. Planning the problem

"¢ Flowcharting the problem  D. Coding the problem .
Ans. A '

206. In bus topology, what is 'backbone'?
A. Hub B. TAP

C. Logcable D. Backup server
Ans. C

| 207. Which statement is not true about VHDL (VHSIC hardware description -

l’anguage)?
A. VHDL is an |EEE standard language
B. VHDL is strongly typed language

—31
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208.

209. |

210.

211.

212.

213,

214,

32

C. VHDL s case sensitive
D. VHDL is developed as a part of very high speed integrated circuit

* (VHSIC)
Ans. C

The main drawback of a feedback system is
A. Inaccuracy B. Inefficiency

C.- Instability D. Insensitivity
Ans.C °
Transient response of system is basically due to
A. Coupling B. Forces
C. Friction D. Stored energy
Ans.D ' '
If current and voltage are out of phase by 90° then power is
A. Zero B. Minimum
C. - Maximum D. V3 VI :
~ Ans. A
The instantaneous value of sinuscidal AC current at 45° is called
A. Peak to peak value B, RMS value
C. Peakvalue D. Average value
Ans. B
Which wave has the least value of form factor?
A. Square wave B. Triangle wave
C. .Sine wave D. Rectangle wave
Ans. A '

The unit of inductive susceptance is

A. Siemens B. mH "
C. Henry ‘ D. Ohm
Ans. A

When sole purpose of AC is to give heat then selection of conductor is
based on = :

A Peaklvalue of current B. Average value of current
C. RMS value of current D. None
Ans. C

l
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215.

216.

217.

- 218.

219.

—rTm s

220.

Lo

. 222

The power factor of DC supply voltage is always

A. Unity B. Zero
C. Infinite D. None
Ans. A

Potential barriers are measured in

A. Volts B. Amps
C. Ohms D. Coulombs
Ans. A

Transistor means transfer of

A. Transfer of resistance B. Transfer of capacitance
C. Transfer of inductance D. None
Ans. A

Depletion region carries

A. Positive charge B. Negative charge
C. No charge D. None of above
Ans. C

Which is not an integrating instrument?

A. Ampere hour meter B. Watt hour meter
C. Voltmeter D. Odometer
Ans. C

The memory unit using only gates is

A. RAM B. ROM
C. Core D. Disc

Ans.A . : %

Ladder network used in digital to anal_og converter is

A. R-Cladder B. R-2R ladder
C. R-Lladder - i~ D. R-2Lladder
Ans.B

No of digits in octal system is

A 2 : B. 8
C. 16 R D. 18
Ans. B

33
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223.  Which of the following binary numbers is equal to decimal number 107

A. 1000 B. 1001
C. 0101 D. 1010
Ans.D

224. In DLD, a function that includes all the 2n min terms is equal to the logje

’

A O B. 12 .
C. Infinity - 0. 2"
Ans. B

225.  Which triggering method is used for flip flop?

A. Master slave B. Kingslave 7
C. Boss employ D. None
“Ans. A ’

226. How many general purpose registers the execution unit has?

A 2 B. 8
G- 12 : D. 18
Ans. B :

227. 8086 allows to set aside an entire 64k-byte segment as stack. The upper
16 bits of the starting address for this segment are kept in
A. Stack pointer *B. Dataregister

C. Segment register ~D. All of above
Ans. C '

p

228. When all the terms in a row of Routh array are zero, the characterist

equation has roots on?
. A. Positive real axis
C.- Imaginary axis
‘ Ans.C

B. Negative real axis
D. Real axis

229.  Addition of poles in a transfer function causes

A. Lead compensation
B. Lag compensation
C. Lead lag compensation

D. Interval compensatlon
Ans B
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- 230.

231.

233.

234.

235.

236.

237.

238.

Multiple Choice Questions

If a system is critically damped and the gain is increased then the system

becomes :

A. Over damped _ B. Under damped

C. Oscillatory . D. Remains critically damped
Ans. B '

Which cannot be treated as an amplifier in control system?

A. DC generator ' B. DC motor
C. Metadyne D. Amplidyne
Ans. B

In PCM system, quantization noise depends upon
A. Number of quantization levels only -

B. Sampling rate : C. Index number
D. BothBandC ¢

Ans. A

Coupling used in Stoneman transmission bridge is

A. Resistive B. Capacitive”’

C. Inductive D. Combination of all

Ans. B

One can provide two or more voice circuits on same carrier by using
A. DSB-SC B. SSB with pilot carrier '

C. ISB systems D. SSB-BC system

Ans. C ’

_ Frequency frogging is used in carrier system to

B. Reduce distortion

A. Conserve frequencies
D. Destroy frequencies

C. Reduce crosstalk

Ans. C

Video transmission in TV broadcast is usually on
A. FM B. PM

C. AM D. SM

Ans.C

In FM power has the modulation index that

A. Increases B. Decreases

— . :

35
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C. Remalns constant D. Become zero
Ans. C
239. Asingle flip flop can be constructed by using which digital gate
A. NAND B. OR
C. NOR D. AND
|Ans. A

\
240. Duration of pulse response is finite for

A. FIR filters B. IR filters
C. Electronic D. None
Ans. A

241. For N-channel MOSFET ----- terminal acts as a control electrode.

A, Gate B. Source
C. Drain ‘ D. All
Ans. A

242, Graphical difference between nFET and pFET is
A. Inversion bubble at the gate B. Inversion bubble at the source
C. Inversion bubble at the drain D. All
Ans. A

243. Functionality of PLC contains

A. Sequential controlrelay . B. Process control relay
C. Distributed control relay D. All of above
Ans.D

244. Injection laser is a ----- device.

- A. Breakdown B. Avalanche
C. Threshold D. None of above
Ans. B

245, 2.uallty factor (Q-factor) of tuned circuit is referred to as which property
c. :z;iittivity B. Sensitivity
. ity 2
A D. Connedlvnty
36

R 7 S IS



[ s S T AR A SRR A oAy 5 i 1 Multiple Cholce Questions

246.

247.

248.

249,

250.

251,

252,

'C. Remains same

If scale of voltmeter is uniform its type is

A. Hotwire B. Induction
C. Moving coil permanent magnet type

D. Moving coil dynamometer ‘

Ans. C A

Voltage applied across para'llel RLC circuit is 100V, what is the resonant
frequency when inductance is 0.1H, capacitance is 0.1uF and resistance is
100ohms

A. 1.259 KHz " B. 1.359 KHz
C. 1.539 KHz D. 1.739 KHz
Ans. C

The flag register in 8051 microcontroller is

A. Program status word B. Memory register
C. Bitstatus D. Location of data

Ans. A

An oscillator converts which type of input to AC waveform signal

A. AC power input B. DC power input
C. Both AC and DC power inputs D. None of above
Ans. B '

Consistency of an instrument is related with

A. Precision T B. Accuracy

C. Validity D. Reliability

Ans. D :

When an electric current passes through a bucket full of water, lot of
bubbling is observed. This suggests that the type of supply is

A. AC ' B. D.C
C. Canbe any of these D. None
Ans. B

What happens to the resistance of carbon filament lamp as the applied

voltage is increased

A. Increases B. Decreases

D. None of above 3F
Ans. B |

e e
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253.

254.

255.

256.

257.

258.

259.

33

J8

A 6 KHz sinusoidal voltage is applied to @ series RC circuit. The frequenq,

of voltage across the resistor is

AR 8. 12 kHz
C. 6 kHz D. 18 kHz
Ans. C

When the frequency of source voltage decreases, the _impedance of 3

parallel RC circuit
B. Decreases

A. Increases
C. Does not change D. Decreases to zero
Ans. A

" ‘.
In a complex plane, the number 4 +j3 is located in
A. First quadrant / B. Second quadrant
C. Third quadrant D. Fourth quadrant
Ans. A

For a large value of Vs FET behaves as
A. Voltage controlled current source
B. Current controlled voltage source
C. Variable resistance

D. None of above

Ans. A

Removing bypass capacitor across the emitter leg resistor in 3 ct
amplifier causes ' \

A. Increase in voltage gain B. Short circuit

C. Decrease in voltage gain

D. Exponential rise in current
Ans.C

When a step input is given to an op-amp integrator, the output will be

A. Integral fnfnction B. Differential function
C. Exponential function D. Aramp f i
P p function

Hysteresis is desirable in Schmi
A. It protects the circuit

B. It constantly magnetizes and de-

tt-trigger because

magnetizes it
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— Multiple Choice Questions '

C. Devices in the circuit shpuld be allowed time for saturation and

AT TY TS

f desaturation
: D. None
. Ans. C
[é.: 260. In a full wave rectifier without filter, the ripple factor is
b A. 0.75 B. 0.65
i C. 0482 . D. 3.14
E Ans. C
i 261. Minimum number of flip flops required to construct a mod 75 counter is
i A. 7 B. 9
C. 4 ; D. 1
Ans. A '

262. In a clamping circuit, the peak to peak voltage of the waveform being
clamped is ' ' :
A. Independent of the input voltage
B. Not affected by the clamping
C. Depends on the input voltage

D. All of above N o
Ans.B | . iR Vo
263. , Azener diode has a sharp breakdown
" A. Atlow reverse voltage B. -In Forward biased state
C. InReverse biased state . D. Never breaks down
Ans. A

264. N channel FETs are superior to P channel because
A. Of greater concentrations of impurity
B. Mobility of electrons is greater than holes
C. Low breakdown voltage
D. Higher stability
Ans.B

265.. Negative feedback in an amplifier
~ A. Increases the voltage gain
.B. Reduces the voltage gain
C. Does not affect the gain of amplifier
D. None of above
Ans. B

e T e e e B s .
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266. For generating 1 kHz signal most suitable circuit is

A. Crystal oscillator B. Wheatstone bridge
C. Wien Bridge Oscillator D. BothA&C
Ans. C

267. The main feature or prominent property of the crystal oscillator

A. Economy 8. Reliability
C. Stability D. High frequency
Ans. C

268. Primary of a machine is stationary while secondary is rotating. This
rotating transformer is known as

A. Conduction motor B. Current transformer
C. Potential transformer D. Induction motor
Ans. D

269. For rectification, which of the following is used

A. Capacitors B. Resistors
C. Diodes D. Inductors
Ans. C

270. Conduction angle in amplifier in class A amplifiers is

A. 180 B. 90
C. 270 D. 360
Ans.D

271. In amplifiers, the common mode rejection ratio (CMRR) should be
A. High (in ideal differential amplifier CMRR is infinity)
B. Low
C. Keeps modulating between high and low
D. None of above
Ans. A

271.  Atransformer with a winding ratio of 20:1 means

A. For every 20 turns of primary, there shall be one secondary turn
B. There are 20 turns on primary and 1 turn on secondary
C. Secondary voltage is 1/ 20™ of the primary voltage.

D. Primary current is 20 ti
o imes greater than secondary current

I /
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972, Power 'P'is required to be transmitted by overhead lines over the iength

'L~ For the same power loss and the same voltage between canductor
and earth, the least conductor material is required in

A. 3 wire AC system B. 2 wire DC system

C. 4 wire AC system D. 3 wire DC system
Ans. B

273. A 100V bulb has a resistance of 500 ohm. The number of hours it can
work for every KWH of energy consumed will be

A. 10 hours . B. 35 hours
C. 55hours ' D. 50 hours
Ans.D

274.  If the poles are in the left half of s-plane then the system is

A. Marginally stable B. Unstable
C. Stable D. Critically stable
Ans. C

275. - In which circuit, current leads the voltage by 90° or voltage lags the

current by 90°

A. Inductive B. Resistive
C. Capacitive D. None
Ans. C - :

276. The efficiency of a transformer will be maximum when
A. Power factor is closer to unity
B. When itis fully loaded
C. Copper losses equal to the iron losses
D. When it is loaded at half of its capacity
Ans. C : '

277. - The ins:rument which senses the fault and initiates the trip

A. Fuse - ' ; B. Protective relays
T C. Circuit breaker D. Barriers
Ans. B
278. The storage of electric charge is possible in —--- and it is charged and
discharged continuously.
A. Lelanche cells . B. Edison cells

r———
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. Lead acid battery D. Nickel chromium battery

Ans. C

ment cannot be used for both AC and DC?
B. Electrostatic type
. D. None of these

279. Which type of instru
A. Dynamometer type

C. Induction type

Ans. C
280 Usss is an isotope of Uranium making up about === % of natural uranium,
A 07% B. 0.9%
C. 0.10% - D. 0.5%
Ans. A

281.  Which of the following is used as a moderator in nuclear reactor?

A. Graphite B. Boron
C. Uranium D. Hydrogen
Ans. A

282. Occurrence of electric potential (usually less than 10 V) between two
isolated objects that ideally should not have any voltage differente 1
between them is due to 4

A. Stray voltage B. Dim voltﬁge
+ C. Tame voitage ' D. Ground voltage
Ans. A

5

283. PMMC (Permanent Magnet Movihg Coil) instruments have following

features
A. Low hysteresis loss B. Reduced Eddy current
C. Uniform scale | - D. Low : i
D. power consum
E. Allof above - : ' ' Sy
Ans. E '
284, iorrémon base amplifier when.compared to FET is represented.as
. Common gate B. Common source
C. Common drain D. Non
Ans. A ’ ‘
285. I: ag electrodynamometer type wattmeter
urrent coil is fixed i
i ‘ B. Pressure coil is fixed
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286.

287.

288.

289.

290.

C. Both are fixed
Ans. A

D. Both are moving

A Hall's effect sensor can be used for measurin :
B

A. Pressure B. Magnetic flux
C. Relative humidity D. Current
Ans. B

in an Oscilloscope, time base is generated by

A. Horizontal amplifier B. Vertical amplifier
C. Sweep generator D. Signal generator
Ans.C

Multiple Choice Questions
7o

Each stage of a four stage amplifier has a voltage gain of 12. The overall

voltage gain is -

A 12 : B. 34
C. 20736. D. None
Ans. C‘

Seismic transducer is used for measuring

A. Linearvelocity B. Angular velocity
C. Acceleration D. Pressure ’
Ans. C

Spectrum analyzer graphically presents energy distribution of a signal as

function of ;

A. Frequency : B. Phase

C. Amplitude D. None _ ,‘
~Ans. A R

291,

292,

Signal g:nerators generate

A. Signals of varying amplitude and varying frequency

B. Repeating and non repeating electronic signals

C. Signals of constant amplitude and constant frequency -
D. None of above ‘

Ans. B

A triangular wave shape is obtained by
A. Integrating sine wave

]

”
/

e
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295.

296.

297.

1298.

PIT LTIV

B. Integrating rectangular waves
C. Integrating square wave

D. All of above

Ans. C

o e

Wave analyzer is an instrument ‘to measure relative amplitude of single

frequency component in a

A. Complex waveform B. Sinusoidal waveforms
C. BothA&B D. None of above
Ans. A 4

For an OP-AMP with negative feedback the output is

- A. Equal to the input

B. Increased

C. Feedback to the inverting input

D. Feedback to the non-inverting input
Ans. C

In an operational amplifier the common mode gain is

- A. Zero B. Infinity
C. Verylow D. Very high
Ans. A

An electronic oscillator is

A. Just like an alternator B. Nothing but an amplifier

C. An amplifier with feedback D. A converter of ac to dc energy
Ans. C '

In RC phase shift oscillator circuit

A. There is no need for feedback signal
B. Pure sine wave output is possible
c. Feedback factor is less than unity

D. None of above

Ans.B

Closed loop gain of a feedback amplifier is the gain obtained when
A. Its output terminals are closed '

B. Negative feedback is applied

C. Feedback loop is closed
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299.

300.

“301

302.

303.

304.

305.

In memory mapped scheme,

D. Feedback factor exceeds unity
Ans. C ; -

Feedback in an amplifier always helps to

A. Control its output " B. Increase its gain
C. Decrease its input impedance D. .Stabilize its gain
Ans. A ’

The internal resistance of a saturated Weston cell is of the order of

A. A few hundred ohms B. Negligible
C. Infinite *  D. Thousand ohms
Ans. A

»

If two or more interrupts occur during execution, the sequ'ence of
appearance of interrupts is called '

A. Multi-interrupt B. Nested interrupt

C. Interrupt within interrupt

D. Nested interrupt and interrupt within interrupt

Ans.D :

-

The condition occurring when two or more devices try to write data to a
bus simultaneously is

A. Address decoding B. Bus contention -
C. Bus collisions D. Address multiplexing ",
Ans. B

the devices are viewed as
B. Memory locations

A. Dictinct I/O devices 5
D. Only output devices

C. Only input devices

- Ans.B ; |
The process of refreshing the data in RAM to reduce the possibility of
data loss is known as
A. Data cycle B. Regain cycle
C. Retain cycle D. Refresh cycle N
Ans.D ;

The instruction, MOV. AX,2OH s an example of
A. Register addressing mode ¥ e
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306.

307.

308.

309.

310.

311,

46

8. Direct addressing mode )
C. Immediate addressing mode

D. Based indexed addressing mode
Ans. C

The instruction that unconditionally transfers the control of execution t,
the specified address is ,

A. JMP B. CALL
C. RET : D. IRET
Ans. A

Unlike microprocessors, micro controllers make use of batteries because
they have

A. High power dissipation B. Low power consumption

C. Low voltage consumption - D. Low current consumption

"Ans. B
Rip}gle factor of a bridge rectifier is
A. 0.5 - ‘ B. 1
C: 2 ' D. 0.75
Ans. A :

Which of the following is NOT a purpose of Disturbance Monitoring
Equipment? ’ -

A. Model validation
B. Disturbance investigation
C. Incorrect relay setting

D. Astessment of system protection performance
Ans, C

\:h‘;: |c‘me of the following is not a basic category of measurement?

C Diact. ~* B, Validity

Ans. B, D. Indirect

A use of ; : ;

P'°8rar?\fs r&?::e“;?:; is that, they can be used to and to M3
A. Increase c erstandable and easier to maintain.

ode du | |
C. Sub program plication | _B. Decrease code duplication
D, List e)gpress:ion

Ans. B
| ]
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312. The large or surge impedance loading of a long transmission line can be
increased without adversely affecting its stability by connecting a lumped
A. Inductance in series with the line .
B. Inductance in shunt with the line
C. Capacitance in shunt with the line
D. Capacitance in series with the line

Ans.D
313. Ascompared to oscillators, inverter provides 3
A. Low voltage output B. Low frequency output
C. Distortion less output D. Noise less output
Ans. B '

314. A______ canbe'used to make automated potentiometer in comparison

measurements.

A. Analog to digital converter B. Digital to analog converter
C. Electrometer D. Precision meter

Ans.B

315. Depletion region of diode contains
A. No mobile charge carriers
B. A small number of mobile carriers
C. Alarge number of mobile carriers
D. The number of mobile carriers depend upon temperature

Ans. A
316. The analog to digital converter provides of input signal.
A. Representation B. Quantization
C. Maximum value . D. Allinformation
Ans.B

317. A higher directivity is specified by
A. High gain low bandwidth B. High gain high bandwidth

C. Low gain low bandwidth D. Low gain high bandwidth

Ans. A
318. GSM uses i
A. FDMA B. TDMA
C. Both D. None of above
Ans. C

. <7

*
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. 324,

319.

320.

321

322.

323.

Advanced mobile phoné syst?ms l(}ANll;SgAxfe
t m: D. Both
Ans. B

Which modulation has higher dat; rg:\e;?

& oA D. QPSK
.Ans. C

Fly back converter is used for
A. AC-AC ) B. AC-DC
c. DC-DC D. DC-AC

E. BothB&C

Ans.E

Large ph'ase mercury arc rectifier is used as

A. Inverter B. Rectifier
C. Both D. None
Ans.B ’ '

In a transformer it is difficult to measure the efficiency by output-input
measurement methods because

A. The output is sinusoidal and hence cannot be determined

B. Losses are abnormally high -

C. Efficiency of transformer is usually high and hence extreme
measprements will be necessary '

D. Ountputis out of phase with re !
peist ' respgct té ‘Input

ly 9ccurzte

Series capacitor compensation is used to

.

B. Reduce the series
reactance
C. Supply the reactive power between load and supply

D. Increase volta : '
ek ge dip on load buses

v

Shunt reactors are needed

A. Toboostr. .
, . eceiying end voltage under light load
. s
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326.

327.

328.

329,

330.

331.

332.

B. To boost recelving end voltage under heavy loads
C. To bring down recelving end voltage at light loads

D. To bring down recelving end voltage under heavy loads
Ans. C

In a transfer function galn k=0 root locus roots are

A. Break In point B. Open loop poles
C. Break away points D. Open loop zeros

Ans. B

TDMA uses

A. Phasg modulation B. Amplitude modulation
C. Frequency modulation D. All of above

Ans. A

Output occurring due to only input with zero initial conditions is called

A. Zero state B. Zero input
C. Absolute state D. Real state
Ans. A

The maximum loads attached to a device called
A. Fanin B. Fan out
C. Phasein ' D. Phase out
Ans.B

Link layer déslgn is also called

A. Transport layer B. Access layer

C. Data layer D. Protocol design layer
E. Network layer

Ans. C

TCP/IP address is how many bits

A. 16 bits ; B. 32 bits

C. 64 bits D. 128 bits ,
Ans. B b o ; ‘

If two 16 bit numbers are multiplied then the result is

A. Twobytes . B. Four bytes

C. Six bytes D. Eight bytes

Ans. B '

—‘ . 49

‘
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333.

334.

335.

336.

337.

A. Modulated digital

338.

—~
Differential amplifier uses which coupling

A. Transformer coupling
C. Direct coupling
Ans.C

B. RCcoupling
D. None of above

The main advantage of auto transformer over a two winding transforme
is that :

A. No cooling is required
B. Hysteresis losses are minimized
C. Eddy current losses are minimized

D. Only one winding is used as a resu
material

Ans.D

>

It there is substantial saving in

In a line to ground fault on a system, the fault current is 1500 A. The zero
sequence current is

A. 1500 A B. OA _
C. 750A D. 500 A | '

\
Ans.D . > -

The torque of an induction motor is
A. Directly proportional to slip

B. Inversely prpportional to slip

C. Proportional to the square of slip

D. Directly proportional to current
Ans. A

In which form, waves reach at the antenna

B. Modulated analo
C. Aligned waves D.! All of above
Ans.D

/ . X
Why are pole tips in a DC machine chamfered?
A. Toimprove commutation characteristics
B. To reduce armature reaction effect

C. To achieve nearly sinusoidal ai »
al air-gap flux densi i
l:. To increase induted EMF per coil e
ns. B é
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339,

340.

341

342.

343.

344,

345,

The phase difference between the
transformer is

A 0O B. 90

C., 180 D. Between 30 and 60
Ans. C '

primary and secondary voltage of a

Why is it important to maintain an im
pedance match from th
the load when sending signals? ) source to

A. To reduce external noise B. To keep the line balanced

C. Toreduce reflected energy D. To reduce attenuation
Ans. C

Power input to a transformer at no load and rated voltage consists of

A. Eddy current loss B. Hysteresis loss
C. Copper loss D. Core loss
Ans.D

In a transformer, no load currenti

A. Leads the applied voltage by 90

B. Lags the applied voltage by 90

C. Lags the applied voltage by some what less than 90
D. Leads the applied voltage by some what less than S0
Ans.C

4 \
Number of cycles generated in 8 pole alternator in one revolution

A 2 B. 4

cC. 8 . D. 16 .

Ans. B ‘ )

What limits design of long transmission. line?

A. Thermal considerations B. Conductor area

C; Both A&B D. None of above
Ans. B

Which of following terms are related to PWM?

A. NRZ B. RZ

C. Both 'D. None of the above

Ans. C

—.“
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346.

347.

348.

349.

350.

351.

352.

- 353,

52

What is the main task of power electronics? .

A. AC-DC conversion B. AC-AC conversion

C. DC-AC conversion D. A&C

Ans. B :

The bit used for error detection and retransmission is named as
A. Parity bit B. First bit

C. lowbit _ D. High bit

Ans. A

in a DC machine, the angle between the stator and rotor fields is

A. 0 B. 90
‘C. 180 ' ' D. 270
Ans. B

Torque of an indicating meter depends upon

A. Spring " B. Gravity '
C. Both _ ' . D. None
. Ans.C

If gauge of copper is increased in impedance matching transformer whi
will happen '

A: Resistance will increase B. Resistance will decrease

C. Resistance remainsthe same  D. None of the above

Ans. A ' R 27

A 440V, 100W bulb on 220V will behave like a

A. 25W 'S B. S0W
C. 75W . . D. None '
Ans. A

‘Doped semiconductor material has temperature coefficient of

A. Posit_ive' : B. Negative
C. Neither positive nor negative ~ D." Either positive or negative
Ans. A ‘ o E

Laplace transform is used for solving

A. CPmpIex equ.ations B. Differential equations
(‘:\.n ngearequatlons - D. Quadratic equations
5. ‘ ; '




P Multiple Choice Questions

s54. If1H2 frequency is applied to the field of dc machine armature EMF will

be :

A. 1Hzsinusoidal B. DC

C. 1Hzsquare wave D. None of above
Ans. A

355. Heating value is measured by

A. Hygrometer B. Barometer
C. Altimeter D. Bomb calorimeter
Ans.D

356. Which of the following is not running cost of the thermal power plant?

A. Equipment B. Fuel
C. Workers : D. Maintenance,
Ans. A

357. Calorific value is usually given by unit of energy divided by

A. Mass (usually) B. Volume
C. ‘Weight ’ D. Density
Ans. A : y

358. Efficiency of thermal power plant is measured by subtracting efficiency of

turbine from
A. Boiler ' B. Condenser

) C. Compressor D. None of these
Ans. A .

. 359. The time of power plant which is obtained by dividing average time by -
' total time is cailed “

A. Plant operating factor B. Demand factor

C. Plant capacity factor D. Diversity factor

Ans. A -
360. Total number of stages in gas turbine power plant

A. Four , B. Two .~

C. Six ' D. None

Ans. A

S S e e e 13
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361.

362.

363.

364.

365.

366.

367.

The method in which customer pays some fixed cost along with Peai

demand cost and total electricity usage cost is called
A. Two part tariff B. Three part tariff

C. Commercial tariff D. None of the above

Ans. B

" Which hydel plant has lowest production capacity?

B. Dargai Hydro Plant

A. Rasul Barrage
D. Duber Khawar Hydro

C. Gomal Zam Dam

Ans. C .
Calorific value of which fuel is highest

A. Anthracite’ B. Hydrogen

C. Coal . - . D. Natural gas

Ans. B '

Which winding of transformer has less cross sectional area?
A. Primary winding : B. Secondary winding

C. Léw voltage winding D. High voltage winding
Ans.D .

A helical antenna is used in satellite tracking because of its

A. Circular polarization B. Maneuverability

C. Broad.bandwidth D. Good front to back ratio
Ans. A

A heterodyne frequency changeris called a

A. Modulator B. Mixer
C. Demodulator ' p D. Frequency translator
Ans. B

The process in which the signal is first compressed before modulatio
and expanded after demodulation so as to allow the use of a unifor
quantizing rateis knownas ~ \

A. Pre emphasis B. De-emphasis
C. Quantization - D. Companding

Ans. D

\
\
_ AN \ '
g
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Frequency shift keying is used mostly in

68.

3 A. Radio transmission B. Telegraphy
C. Telephone D. Satellite Ccommunication
Ans. B

369. LVDT (linear variable differential transformer) is a device
A. Electrodynamic . B. Electromechanical .
C. Electromagnetic D. Electrostatic
Ans. B :

370. The autocorrefation function is
A. An odd function in t, B. An even functionint,

- C. Anexponential functionin t, D. None

Ans. B < .

371. Probability density function of thermal noise is
A. Binomial B. Poisson
C. Gaussian ~:D. None of these
Ans.C

372.  If 360 coulomb charge is stored for a time period of 30 minutes. What will
be the current? ;

A. 200mA ' B. 20A
C. 2A , , D. 20mA
Ans. A

373. The potential difference between two similar charges is

A. Same . B. Infinite
C. Nil . D. None of above

Ans. C

374. Mass, in force-voltage analogy, is analogous to

A. Charge : B. Current
C. Inductance D. Resistance
Ans. C ‘

375. Top loading is sometimes used with an antenna in order to

A. Decrease its input impedance
B. Increase its height

NS e S R be
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' Multipla
C. Decransd its radistion raslatance
D, Increase 15 effective helght
Ans. D
blc antennd X]

L 2'.‘::;onant antenna g, Non resonant antenna
¢, Eitherof the above D. None
Ans. B

377, The carrler of @ 100% modulated AM wave Is suppressed, the percenta,
power saving IS ———— .
A, 100% ‘ g, 50%
C. 83% D. 66.66%

' Ans. D
378¢ gurning material such as wood, paper and textile constitute which type of
« fire
A. Class A B. ClassB
C. ClassC D. ClassD
~ Ans. A :

fic antenna is
B. A figure of eight

D. None

379, The radiation pattern of a parabo
. A. Omni directional
C. Highly directional

Ans.C '
380. Execution of prograh instruction in computer takes placein

A. RAM B. ROM

C. Hard disk , D. Motherboard

Ans. A '

381. The breakdown voltage in gases depends on
A. Distance between electrodes
B. Relative air densit g
v . i Sl
D. All of these e, PN
Ans.D

382, ¢
2 :urt;: alter.nators are charact;rized by
. Short diameters and great axial lengths

56 e — ' :
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383.

384

385.

387.

g. Short diameters and narrow axia| lengths
C. Large diameters and narrow axial lengths
D. Large diameters and great axial lengths
Ans. A

An ammeter is convertible to a voltmeter by
A. Changing the scale '

B. Putting a large resistance in parallel A
with the a
the instrument - ctual me

c’ Pupins a large resistance in series with the actual measuring part of

the jnstrument . ;
D. Simply installing the instrument in parallel with the circuit

asuring part of

Ans. C » '
Transformers are designed to have leakage induction.
A. Zero - ' B. low

C. High : D. Medium

Ans. B

£

The psth of the magnetic flux in transformer should have

A. Low reluctance ~ B. Lowresistance
C. High reluctance D. High resistance
Ans. A -

For transmitting power on a 20-25 km line which voltage should be used

A SV B. 11KV |
C. 33KV ' D. 66kV )
Ans. B :

Due to low budget the weight of the conductor is to be reduced by 25 %
using the same conductor material. As-a power engineer what will you do

A. ‘Reducs: the voltage level
B. Double the voltage level

C. Reduce the frequency level
D. None of the above
Ans. B

i : ion of the conductor
Ina current is induced with mechanical motion oft i
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389.

391.

392.

393.

394.

58

sformer
A. Transfor D. None of the above

C. Thyristor
Ans. B
1000 million ftonls coal ist tr:quired to generate 1000 MW for a yea, fo
uranium this fuel amoun
A. 10-15 B. 20-25
C. 30-35 D. 40-45
Ans, C
E=N de/dt iscalled ‘
A. Lenz's law B. Faraday'slaw -
C.- Amperes Law D. Gauss's Law
Ans. B
L}

In real power system constant used a +j b, j is called
8. v-1

A V1
C. -1 D. 1
Ans. B |

Capacity factor =0.628, maximum demand is 325 MW, plant capacity
350 MW, calculate load factor, Average load = 250 MW. '
? B. 0.67

A. 0.8
c: 09 . - D. 05
Ans. B )
writes answer as 0.67)

*Actual answer is 0.76 (NTS mistakenly

For transmission lines the standing wave ratio is.the ratio of
A. Maximum voltage to minimum voltage '

B. Maximum current to minimum voltage
C. Peak voltage to RMS voltage

"D. Maximum reactance to minimum reactance

Ans. A

In order to improve the steady state stability of overhead transmissiof
lines, which of the following methods can be adopfed ' '
A. Reducing impedance between the stations -

B. Adopting quick response excitation
C. Using series capacitors to make X = V3R

D. Any of the above

Ans.D ’ : ,
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396.

397.

398.

statements is then correct?

A. The AC generators carry slip rin
commutator .

B. The DC generators carry slip rin
commutator q

C. Both ACand DC generators tarry slip rings .

D. Both ACand DC generators require a commutator

E. The AC generators carry slips while DC generators require diode
rectifiers to produce ac output

Ans. A

gs while Dc generators require 5

8s while AC’ generators require a

In shunt generator, the shunt winding is parallel with the armature its
advantage is ‘
A. Single source is used to excite both

. B. Eliminates need for external excitation

C. Both D. None of above
Ans. B

The turbines of run of river hydel power plant (low head turbines) deal

with which kind of water _ :
A. Lessvolume and low pressure  B. Less volume and high pressure
C. High volume and low pressure  D. High volume and high pressure

Ans. C

If a large load is disconnected suddenly from an. alternator or a power

system, then

A. Turbine speed increases and frequency also increases
B. Turbine speed decreases and frequency also decreases
C. Turbine speed increases but frequency decrease§

'D. Turbine speed decreases but frequency increases

Ans, A -

The probability that a loss of load occurs _for a given combination of .
system demand and generators availabilities is called



400.

401.

403.

404.

402.

: OR
A loss of load occurs when system load exceeds the available generat‘n
capacity. The overall probability that there will be a shortage of powe, i

called
A. Loss of load probability B. Load loss detachability
: D. None of above

C. Load probability
Ans. A

The power in the circuit other than that whfch keeps on flowing frop,

source to load and back is called
\. Active power

=. Apparent power

Ans. A

B. Reactive power
D. None of above

The current flowing through negative sequence impedance is called
A. Positive sequence current B. Zero sequence current

C. Negative sequence current D. Neutral current.

Ans.C i

In a DC generator, eddy current is proportional to
A. Thickness of laminations

B. Square of thickness of laminations

C. Inverse of square of thickness of laminations
D. Inverse of Thickness of laminations

Ans. B

When an induction motor is_connected to the supply, the rotation is
caused by

A. Rotating magnetic field of stator

B. Rotating magnetic field of rotor

C. Electric field of stator

D. Electric field of rotor

Ans. A -

The fault shown in the figure is

A. Symmetric B. Asymmetric

C.- Skewed ‘
Ans. A ' D. Lopified
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406.

407.

408.

409.

Muitiple Choijc
@ Questi,
ratio of magnetic flux density in material to the field ons

"

inva
A. Absolute permeability B. Relative caum s called
permeabilit

C. Relative permittivity D. Absolute Y

e
B Rermittivity
plasma frequency of copper
A 2.6x1075 B. 2.6x10°12
C. 2.6x10%6 D. 2.6x103
Ans. A ; T S

When a current carrying conductor is placed in a magnetic ﬁeld it is
subjected to Electromagnetic or Lorentz force which is

A. Parallel to field B. Perpendicular to field
C. 45°to field D. 135°to field
Ans. B

In an infinite sheet charge is uniformly distributed in YZ plane, the
direction of electric field will be

A. Along x-axis B. Along y-axis

C. Along z-axis D. Can be along any of these
Ans. A :

Dq/ Dt is called-

A. Current . B. Charge

C. Voltage D. Capacitance

Ans. A !

410. ~ Four inductors 10mH, 20mH , 2$mH , and 5mH are connected in series,”

411.

" net inductance will be

A. 10mH B. 25mH
C. 60mH ] D. 75mH
Ans. C :

Four inductors 10mH, 10.5mH, 20mH, and 20.5mH are connected in

parallel, the equivalent inductance will be

“A. 4.3mH . B. 3.4mH
C. 6mH D. 7mH
Ans.B '

————————_
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412.

413.

414.

415.

- 416.

417.

- 418.

bl
N

.l
= LT s

n series RLC circuit R=2 ohm, L=1 H, C=1F, the system response wouylq
A. Damped B. Underdamped be -
C. Critically damped D. Overdamped

Ans. C

For undamped system, R=1 ohm, L=2 H, C=2F, the value of ffeQUency

A. 0.1 B. 0.5

c. 1.0 D. 15

E. 2.0

Ans. B

Electrical field with uniform charge density on sphere

A. X>R ' B. X<R

C. X=R D. None

Ans.B .

Addition of small displacements along a zig-228 path and summing then
is

A. Equal to vector pointing from initial to final point

B. Workdone G Impossible to find

D. Not equal to single vector

Ans. A -

In Kirchoff's law summation of all the currents entering or leaving a node
are

A. Unity B. Zero

C.. Infinity D. None of these

~ Ans.B

In an RLC series circuit the total Impedance between two end points

would be

A. Z=V(R*+(XL-XC)}*" B. Z=V(R+XL)*+XC?
C. -Z=R+XL-XC D.. Z=R-XL+XC

Ans. A

In Cathode Ray Oscilloscope vertical axis represehts and hOf'w“td k.

axis represents
2. Volts/Division ; Time/Division  B. Time/Division ; Volts/Divisio”
A.I“V;:;Itage;Resn'stance , D. Resistance ; Current
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419.

420.

421.

422,

423.

424,

Instrument for measuring ocular focys
orr
A. Drum meter B. Duro:g:::'on of eyes
C. Ellipsigraphy . Dicipkainas

. Electroretinography er

Ans. D

For input function of 2 Boolean ¢
algebra functions. ‘ variables there are —— Boolean
A 12 B. 8 -
C. -36. D. 4

Ans. C

Diode clampers are used to shift AC voltage waveform up or dowh i
positive and negative peak by inserting ' n

A. DClevel B. AC level

C. Both AC and DC level D. None of above

Ans.A -

Rectifiers employ —=--mseeeeeee - operational amplifier to eliminate diode
voltage.

A. Passive circuit ' B. Active circuit

C. Saturation circuit : D. Non-saturation circuit

Ans. A :

Which of thé following statements is incorrect? %

A. Switching regulators use switching speeds of 20 kHz or more

B. A great advantage of switching regulators is that their* power
consumption is very low :

C. Both bipolar. transistors and FETs have very good switching

characteristics _ .
D. The output voltage of a switching. regulator is controlled by altering
the switching frequency >
Ans.D < '

SCR is turned on by applying gate pulse, now it can be turned off when

A. Anode current falls below holding current

B. Anode current falls below latching curr?nt |

C. Anode current increase above the holdm‘g current
D. None of the above -
Ans. A
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425.

426.

427.

428.

429.

430.

Which of the following is normal operation of NPN TRANSISTOR?
A. Emitter to base junction Is forward biased and collector tq ba
s

junction reverse biased
B. Emitter to base junction is forward biased and collector tq b
e

junction forward biased
C. Emitter to base junction is reverse biased and collector to bage

junction reverse biased
D. Emitter to base junction is reverse biased and collector tq base

junction forward biased ¥y
Ans. A '

If first byte of the data is stored at _____ address , 8086 can read
entire word in one operation.

A. Odd address - B. Even address
C. 0521H D. Anysegment
Ans. B -

Instead  of establishing different connections of wires, modern devices
are built with virtual relay contacts, these are programmed using

A. Assembly language B. Machine language
C. Ladder logic D. Visual basic
Ans. C : '

First generation of computers use

A. Microprocessors B. IC's
¢. Vacuum tubes D. None of the above
Ans. C

Program counter is used to

A. Store address of the next instruction to be executed
B. Store address of the previous instructions

C. Store address of the segment '

D. None of these

Ans. A

Intel MCS_51 is commonly known as

A. 8080 B. 8051
C. 5151 D. None of the above
Ans. B



t A Multiple Choice Questions

Data storage system is provided by

1.
43 A. Control mechanism B. Regist
C. Logic gates D. B 5
‘ . Both
P Ans. C A&s
# 432. inverse of even function
) A. Even B. Odd
C. Linear ' D. D
. Does i
g not exist
433, For multiple video channels, digi i i
i, igital modulation and diodes are
A. Zener B. Schotky
}. C. Laser D. Light emitting
, Ans. C

434. Proper way to apply time shifting and scaling on a signal is
’ A. Time shifting is applied first and then scaling
B. Scaling is applied first and then time shifting
3 C. Anyone can be applied irrespective of order
D. Only one operation can be performed
Ans. A

435. In closed loop control system feedback strategy is

g A. Input dependent B. Fail safe
C. Error driven D. BothA&B
Ans. C

436. Asymptotic stability of a control system is determined by
’ A. Eigen values B. Poles and zeros

C. Only zeros D. None of above
Ans. A

437. Baseband analog intensity modulation is done by modulating __-___

applied to LED.

A. Voltage 8. Current
C. Frequency D. Amplitude
Ans.B

—_——-—-—_"- y




-
Multiple Choice Questions p
stical fiber detectlon one 1s k |
438, Two Coherent modes are y present 0 Of nowy |
s the other.

as homodyne and __— g | leterodyne detection

A. Balanced detection
. ¢. Unbalanced detection p. None
Ans. B |
439. ldentify correct statement about FM and AM

A. More power is required for M than A |
B. Less poweris required for £M than AM

C. Equal poweris required for FM and AM

D. None of the above ;
Ans.B |

noise sequence is similar to

440. The autocorrelation of discrete pseudo

—maesao
A. Random atmospheric generator
. Ground clutches .

!

B. White noise
D. Audio distortion :
Ans. B !

441, Bandwidth should be to avoid distortion of the signal. ‘
|

A. Equal B. Twice -
C. Thrice D. 4times j
Ans. B v L t
!
442. To avoid aliasing of the signal, sngnalfrequencyshould be !
A. Equal B. Twice |
C. Thrice D. Half ' P
Ans. C . : i
i |
443, K+2Fyi=4,(x+v)' is_____order equation |
. First . ' 3 '
C. Third g' Second v L
Rica ; . None A
. : ¥ i

44_4~ TT Method is used

A. Capacitanc
eC
and reactance can be localized at receiving end

B. Capacitance C|
ocaliz
lumped A 'ece'V‘ns end and reactance at sendlnl!

J_’W

.-.,.._.w/



I a4,

448.

449,

450.

451,

445.

446.

. S Multiple Choice Quesgions

C. Line to neutral capacitance js di

vi '
D. Capacitance C and reactance ded by twe halves

e .
srid mideoint Cfually localized at sending, receiving
Ans. C
In a power plant, coal is carried from s

t :

means of orage place to boilers generally by-
A. Bucket B. Vbelts
C. Trolleys D

- Manuall
Ans. B Y

¥

A condenser in a thermal power plant condenses steam coming out of

A. Boiler . B. Super heater -
C. Economizer D. Turbine
_Ans. D

Which variety of coal has lowest calorific value?

A. Steam coal B. Bituminous coal ! .,
C. Lignite D. Anthracite
Ans. C

In position control systems, the device used for providing rated feedback
voltage is called

A. Potentiometer B. Synchro transmitter
C. Synchro transformer D. Tachogenerator
Ans. D

Phase margin of system specifies ;

A. Absolute stability B. Frequency response
C. Relative stability D. Instability

Ans.C

the moment of inertia is analogous to
B. Inductance
D. Inverse inductance

In force voltage analogy,

A. Capacitance

C. Inverse capacitance
-Ans. B

Vs g tor?
Which of the following non linearity IS caused by servo mo

='57



Mulitiple Choice QUESUONS  m—

452.

453.

454,

455.

456.

457.

- 458.

B. Dead space

A. Coulomb friction ;
C. Saturation D. Dissemination

Ans. C
The transfer function of a system fs used for the calculation of

A. Output for a given input B. Steady state gain ll
C. Order of the system D. Time constant |
Ans. A

A balanced modulator produces

A. AM B. SSB

C. VSB D. DSB

Ans. D

In common base amplifier circuit the output is taken from

A. Collector B. Emitter

C. Base D. BothA&C

Ans: A

The greatest possible amplification is obtained in
A. Common emitter circuit _ B. Common base circuit

C. Common collector circuit - . D. None
Ans. A '

An Inductor is operated at 50 Vac with a frequency of 10 KHz and current
of 7.96 mA then the value of L is )

A. 100mH ~ B. 10mH

C. 1mH D. 1H

Ans. A

Which type of copper wire will have the highest tensile strength?
A. Softdrawn B. ‘Medium drawn '

C. Hard drawn - 'D. None

Ans. C |

At breakaway point, several branches of root loci coalesce becaV
system characteristics equation has

" A. Single root
B. Allroots on right hand side of S plane



>
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Mumplo Cholce Quuﬂom

459

460.

461.

462.

463.

464,

465,

c. Several roots
D. Imaginary.-roots only
Ans. C

Excessive noise in a control system ma

: : res
A. Reduction in gain Y result in
C. Oscillations

Ans.D

B. Reduction in bandwidth
D. Saturation in amplifying stages

If 3000 kW power is to be transmitted over a distance of 30 km

be the voltage level to transmit the power? what will

C. 66kV D. 132 kv
Ans. B 2

Basically a controller is a

A. Amplifier ‘B. Clipper
C. Comparator ' D. Summer
Ans. C

In a 3 phase half wave diode rectifier, the ratio of average output voltage
to per phase maximum AC voltage is

A. 0.827 ‘ _ B. 1.57
C. 3.2 D. 0.25
Ans. A '

AGC voltage is applied to the stages which are

A. Before the detector stage ~ B. After the detector stage
C. Detector stage * D. BothA&C

Ans.D :

Receiver having poorer IF selectivity will have poor y
A. Sensitivity ' B. Blocking of adjacent channels
C. Diverse reception D. None )

Ans. B :

Padders are provided in a radio receiver .
A. To improve sensitivity B. To improve tracking

C. For reducing noise D. For fine tuning
Ans. B ‘ :




N TELILPIe CNOICE Wuua =

166.

467.

468.

469.

470.

471.

472.

473,

70

A PWM signal can be generat

“A. Band stop signal

—

tion receliver Is provided by

Fidelity in a communica
A. Detector stage B. Mixer stage
C. Audio stage D. All of above

Ans. D given then tick audio stage)

*(If option all of the above is not
ommunication system is digital?

ich of the following ¢
XVhllfM B. AM
C.. PAM D. PCM
Ans. D

ed by
. Unstable multivibrator

A. A monostable multivibrator : ‘
C. Integrating the PPM signal  D. Differentiating the PPM signal
Ans.D '

Optical fibers rely for their operation on the phenomenon of
' B. Refraction

A. Reflection )
C. Dispersion D. Total internal reflection
Ans. D

in order to get the original signal from the sampled signal, which of the

following filters should be necessarily used
B. Low pass filter

C. High pass filter - D. Band pass filter

Ans. B

In an AC circuit which of the following elements consume power
A. Inductor B. Capacitor

C. Resistor - D.. All

Ans. C

Which one of the following is a closed loop system?

A. Electric switches B. ‘Car starter

IC\;\ le(J: generator D.' Autopilot of an aircraft

\

Which of the followi o
load? ing losses of DC_motor decrease with the increase



474.

475.

476.

477,

478.

479,

C. Brush contact |oss + Core Jog
Ans. D ' + None of above

For Zener regulation we don'
current because

A. It will damage the Physical st

ru 5
B. Alot amount of heat wil| be pr:;t:‘re :f Zener diode
C. Below Zener knee cu e

rrent a o 3 '
Zener diode Aekant Voltage s NOt maintaineq by the

D. It will consume more electrica) power

Ans. A .

A wire mesh or electrode between ‘

o B.thgrti::thode and anode is known as
C. Filament D. None

Ans. B

Collection of structured d
the data held is called

A. Information

C. Controlling

Ans. B

B. Database
D. Securities

The control unit directs the ALU to

perform an arithmetic operation, the
machine cycles is involved in its

A. First step ~_B. Third step

C. Second step .« . D. Fifth step
Ans. B’

In Poisson distribution, the probability of success is
A 1 . B. 0.5

C. 0.2 D. 0

Ans.D

' it “probability of bulb being
i it is found that the proba . '
:inef:cilf/:ti;bg I:).zf%‘;tt?r:lyate how many defective bulbs will be produced in

a total of 8000 bulbs

B. 960
2‘ 2500" D. 96000
Ans. B



‘”u’b‘pl. Choice Questions ﬁ
|

480. Technique which s used to enable multiple broadband g ,
transmitted over single mode fiber 8Naly 1

A. Subscriber multiplexing |

B. Wavelength division multiplexing |

C. Time division multiplexing |}

D. Frequency division multiplexing ,!

|

!

1

Ans. A

481. __ cellsmake concentration layer of the lens.
A. Strong B. Fibrous
C. Weak D. Optical
Ans. B

ving telegraph lines use
B. Wideband lines
D. Dialed service

482. Mostdata communications invol
A. Simplex lines
C. Narrowband lines
Ans.C ' :

——

483. In a,criticélly damped system, the damping factor is
A. Zero B. Less than unity

C. Greater than unity " D. Unity
Ans.D

——— e —— -

484, If two vectors 3 and b are anti-parallel to each other, then the resultant |

vector is

A. 2b ' B. a+b
C. a-b ; D. 2a
Ans. C ' .

485." The scalar product of two parallel vectors is equal to the
A. The product of their magnitude ‘
B. Equal to their magnitude
C. The product of their directions
D. All of the above
Ans. A

e ———— e —— T
- ————— e g —

486. A thyristor has
ol — alternating semi
junctions are present, B S conductor layers and __—

72 | N ——— L - : |

|
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487.

487.

488.

489.

490.

| A Multiple Choico Questions

-

A. Three, four B.. Four the
' ee
c. Three, two D. None

Ans. B

A programmer would most likely Prepare a flo
A. Specific program flow chart

. General program flow chart

¢. Specific system design

D. General system design

Ans. A

W chart for 3

In digital electronics, numbers of basic operations or functions are

A 5 - B. 1
C. 2 D. 4
Ans. C

127 may be represented in binary number system as

A. 00011111B B. 1000 00008
C. 1111111 D. 11111111
Ans. C

Which gate is called universal gate?

A. AND B. NOT
C. NOR D. XNOR
E. OR
Ans. C

The phenomenon in which changing current in one coil induces emf in
another coil placed near to the first is called

A. Mutual induction - " B. Self induction

C. Primary induction D. Secondary induction
Ans. A '
Transformer oil.must be free from

A. Odour B. Gases

C. Sulphur D. Moisture

Ans,. D

A current transformer should not have
A. A movable secondary winding

— 73
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493,
194,
495.
496.

497.

499, -

500.

* A. Temperature rise test

B, A high value of resistance across secondary
:  clreuited

¢ Primary and wecondary 9Per
D, None of above "

Ans. B

¢ maximum temperature occurs at

In a plston, th
o F g. Gudgeon pin

2 ?:xnpp ':l:;:“ 8 p. Top centre
Ans. D

Which of the following enters the super heater of a boiler?
A. Cold steam B, Hotwater

C. Wet steam D. Superheated steam
Ans. C

g arresters are placed nearer to

In outdoor substations. the lightnin

A. lIsolator g, Current transformer
C. Power transformer D. Circuit breaker

Ans. C

conducted on isolator?

Which of the following type tests are
B. Impulse voltage withstand test

C. Short time current test D. All

Ans. D

cross product of A with that vector.

Curl of vector is ____
B. Three dimensional

A. Two dimensional

C. One dimensional D. None
Ans. B
th current is flowing into positive terminal of the b.attery, the powd!
eing ___ ' .
2- G:;fl’tfbe‘; B. Discharged v
; ere D ;
Ans. A ~D. . None of above
2‘“:;’2::::)::\}:% synchronous speed and is called slip.
» e o
B. Actual speed
C. Asynchronouss pag '
i peed D. None of above



504.
505.
506.
507,

508,

S

502.

503.

: M Multiple Choice Questions

EMF is ____ integral of non-conse
. rvatio P
pov{?resource. nal electric field generated by
2. C':nstant S Surface
Ans. A o None of above
Electronic circuits with high gain and
A. Oscillations B 8:::;;;"& condition produce
C. Resonance D. :Fluctuations
Ans. A ST
2 ot
Squirrel cage rotor with ___ number of b
ars
fromri Hposing Back 6 supply prevent current induced
A. Even ’ B. Odd
Ans. C
The definite lntegral of dy/dx=cosx is
A. Sin X B. TanX
C. -SinX " D. None of these
Ans. A

The disadvantage of a half wave rectifier is that
A. Components are expensive B. Diode must have a high power rating

C. Output is difficult to filter ~ D. None
Ans. C

Noise in resistance depends upon

A. Temperature B. Sampling rate
C. Material D. All of above

Ans. A

Ina parallel resonancé curcutt at resonance
B. Current is maximum

A. Impedance is zero '
C. Voltage is maximum- D. Impedance is minimu

Ans, C

What is meant by Admittance? . 2
AR hyow 3 circuit or device will oppose the flow of current

Y



“:‘ Muitiple Cholce Questions m ™

8. Measure of how aasily a clreult or dovice will allow the llow of CUtrg
C. Measure of how a clreult or device will divert the flow of current n
D. None of the above

Ans. B

509. Force on one meter length of conductor In a magnetic field createg by

current of 1 ampere Is

A. EMF p. Voltage
C. Electricintensity D. Magnetic Induction
Ans.D

510. In night hand rule thumb polnts in the direction of current and finger ¢, i

in the direction of

A. Electric field B. Electric force
C. Magnetic field D. None of above
Ans.C .

511. Radius of curvature of the path of a charged particle in a uniform
magnetic field is directly proportional to

A. Flux density of field B. Particle's energy
C. Particle's momentum D. Particle's charge
Ans. C
512. effect determines the sign of charge.
A. Thomson , B. Seeback
C. Hall D. Petlier
Ans.C
513. Time constant of a series R-L circuit equals
A. LR B. C/R
C. R/L D. All
Ans. A
514. Amperes law is concerned with ~

A. A unit magnetic pole
B. Electrochemical equivalent

C. Force on wire carrying current in i
a magneti
D. RMS value Bl

Ans. C



i

-

T

' 522. The brush voltage drop in DC motors

Muitipie Choice Q
. Uestion
Resistance, Capacitance and inductance are’ ' ns
~====-- glements.

15
ot QCSSSe B. Redundant
c. r D. None of
. : above
5' 4. Magnets were firstusedby *  to find range
A. Indians : B. Europeans
¢. Chinese - D. Japanese
Ans. C '
Y
17. Abridge used for the measurement of capaci i
5 insulator s : , pacitance or dielectric loss of an
A. Shearing bridge B. Hay bridge
C. Wheatstone bridge D. None
Ans. A '
518. Longwire wound tightly on a cylinder core is called
A. Toroid _B. Solenoid
C. Cable D. Conductor
Ans. B
519. Lenz's law is law of conservation of
A. Momentum B. Charge
C. EMF - D. Energy
- Ans. A

520. A material having strong magnetic properties is called
B. Ferromagnetic

A. Paramagnetic . :
C. Diamagnetic D. None of above
Ans. B :
521. For a fuse rating of 2.5 KW and 220 Volt microwave the rating of the
current is ' : _
A.S5A B. '10A
C. 12A D. 15A
Ans. C

is usually of the order of

A 4 B. 6 . .

C. 8 D %oy o : +}
Ans.D




" Multipte Cholco Questions N
|

appen if relative speed b/w rotating flux of the stayg, b
n motor is zero? g

523. What will h
| be very large

rotor of inductio
A. Torque produccd wil
B. Rotor will not run

C. Rotor runs at high speed

D. Slip of motor is 5%

Ans. B
r are 50 with a stator fre

524, If the oscillations per minute of a roto

50 Hz, slip will be ,
A. 10% B. 12%
C. 4% D. 8%
Ans. C
525. The power scale of circle diagram of an induction motor can be foung

from )
A. Stator resistance test B. No load test only
C. Short circuit test only D. None of above

Ans. C
526. Variation in supply mains, frequency is 'com.pensated by in
industrial motors
A. Overcurrent relays B. VFD
C. ‘Opto electronic devices D. Centre tapped transformers

i Ans. B
527. Critical resistance of a DC generator varies with
A. 1/N? B. N?
C. 1/N D. N .
Ans.D

Which statement is valid for a single phase capacitor start motor i

529.
: steady state?

A. Forward flux by rotor, current is equal to backward flux by rot”
current '

B. Net forward flux is equal to net backward flux by rotor current

C. Net forward flux is less than net backward flux by rotor current

D. None of above
Ans. B

.78 —

.
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530.

531.

523.

533.

534,

535.

336,

337,

. C. Shunt generators

Hopkinson test is conducted at

. A. Fullload B. Partload
c. Low load D. Noload
Ans. A

The back EMF of a DC motor depends on

A. Field flux B. Shape of conductors
C. Type of slip rings . D. Brush materig|
Ans. A

Equalizer connections are required wh

en paralleling two
A. Bipolar generators

B. Series generators

D. Compound generator
Ans.D

Highest losses'in a DC motor are
A. Copper losses

C. Mechanical losses

Ans. A

B. Core losses
D. None of the above

A DC motor can easily be identified by

A. Yoke - B. Commutator
C. Size of conductor D. Winding
Ans. B ’

The torque""speed characteristics of a DC motor

A. Parabola B. Linearly rising

C. Rectangular hyperbola D. Linearly declining -

Ans, C

Usually very wide and.sensitive speed control method is used for
A. Reciprocating pumps B. Colliery winders

C. Centrifugal bellows D. Lathe machine

Ans. B

Alarge size alternator is protected against over loads by providing -

+ Overcurrent relays ‘B. Thermal relays :
‘C oA combination of A & B D. Temperature sensitive relays .
Ans, p ‘ )

Mumplo Choice Quostlons .

79



l ' Questions ’ . N
Multiple Chole® e used t0 determine the efﬁdg%’
¥

539.

540.

541.

542.

543.

545.

.o gest €@l
ich of the following load ’
wm?dentical transf rmers 3t fob g. Short circuit test
A. Open circuit test D. gack to back test
c. Type tests
e due to the presence of
; o =
t transformer is due
The ratfq error of nat;:u_rreﬂ B. Stray magnetisrfn
A. Exciting CU:e p. Lagging power factor
c. Corona€
Ans. A
he voltages and sends
. i fference petween t S sigy
: e
¢. *Controller p. Non
Ans. B
In JFET, shunt sampling gate has ' .
A. Voltage . Curren
Cc. AC p. DC
Ans. B
sampling gate is
A. OR . B. NAND
C. Linear D. Random
Ans.C
. circuits always have memory elements -
A. Combinational B.. Sequential
i. Elemental D. None of these
ns. B .
Early effect of BIT refers to :
B. Thermal runaway

A. Avalanche breakdown
C. Base narrowing
Ans. C

D. Zener breakdown. -

Xoltage gain of common collector is
. 'Equalto1l ‘
B. Greater than 10

C. Greater than 100 D. Less than 1
i . an

4
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— Multiple Cholce Questions

(n transistor circuit _____ capacitor js used

6.
4 ‘A. Mica B. Air
(A P;Pe' D. Electrolyte
Ans.

47, The output impedance of a CB transistor is

A. High B. Zero
C. Low D. Very low
Ans. A

548, The inputimpedance of a CB transistor is

A. High 5 B. Zero '
C. Low . D. Verylow
Ans. C '

549. In an ideal op amp if a different signal is applied at both the ends the
output will be ' ‘

A. Zero . B. Infinite

C. Input2-inputl D. None
Ans. B

550. - If same signal of 0.4 V is applied on both the ends of the op amp with 100
db gain. The output will be

A. Zero T B. Infinite
' -1 ' | D. None of above
Ans. A ,

-

551.  Multiplexer converts : . _
A. Parallel data into parallel data  B. Serial data into parallel data

C. Parallél data into serial data  D. Serial datg into serial data

Ans.C
352, ASCII (American standard code for information interchange ) is __ bits
code '
A 5 B. 7
€12 - 7D 18
Ans. B

.." .- e 5 | '_ _. 8,l



Multiple Choice Questions ~  EEE—

553.

-

554.

555.

556.

557.

558.

. 559,

82

" Hot wire anemometers are used

Decoders convert binary input to output.
A. Decimal B. Hexadecimal
. ctal
C. Binary p. O
Ans. A
In a radio receiver B
equally to noise

A. All stages contribute

N ratio
_ RF stage has no effect on 5/ .
(BZ MFi:ergstage contr he noise generated

D. RF stage has effec
"Ans. C

ibutes most of t
ton S/N ratio

of amplification.
8. ' Double stage

A. Single stage :
“C. Three stage D. More than 3 stages

Ans.D

A radio receiver has

to measure --=-- .
B. Pressure of fluids

A. Velocity of air stream
' D. Leakage reactance

C. Varying voltage
Ans. A

The letter DPDT is for

A. Switch [ _~ B. Conductor
C. Thick wire - D. Fuse
Ans. A, . |

Due to burning of 1 Kg of pure carbon with a minimum quantity of

 required, the percentage of carbon dioxide in the exhaust gas would be

A 10%
: . 2§ B. 19%
i. 29% b a8
ns. C « )

A graphical re ' : :
presentation b .
A. Monograph etween discharge and time is known &

C. Topography , B. Hectograph
Ans.D., . D. Hydrograph



H

560-

561.

562.

563.

564.

'565.

566.

i Multipie ¢ ;
Inan ideal diesel cycle, the Working SubstanCe . hoice Questions
i is
g : , B. Diesel
¢. Mixture of air and diesel D. Any combustip

which of the following is generally not 5

) Constituent of co
A. Sulphur B. Moisture o
C. Chromium D." Hydrogen

Ans. C

Coal rank classifies coal according to its
A. Carbon percentage B. Ash content

C. Degree of metamorphism D. Density
Ans.C

Power plants uéing coal work closely on which of the following cycle

A. Otto cycle B. Binary vapor cycle
C.. Brayton cycle D. Rankine cyce
Ans.D

The air standard efficiency of a diesel engine depends on

A. Compression ratio ' B. Speed

C. Torque . -~ D. Allof above

Ans. A

Coking is ‘ ;

A. Formation of lumps or masses of coke in boiler surfaces at high
temperatures ' '

B. Heating of coal in absénce of dir, driving out CO2 and leaving behind

the residue and carbon
C. Burning of coal in furnace \ T i
D. Producing lumps of coal from fine pgwders with the help of a binder

Ans. B %

Deuterium oxide is used in nuclear reactors as

A. Fuel ‘-%"“f:;:"
C. Shield Ll ol
Ans. B



Multip

567.

568.

- 569.

570.

571.

572.

573.

84 — '

le Choice Questions P— | | B
A : _

i of
The output of a solar cell is of the ord(c)e.r5 2
A. 0.1W 4 )
c. 1IW
Ans. C . | |
» turbine, which of the following wiy

th
As compared t0 steam at entry t0

pe larger at exit ~ 5. Flow odin
2- :riscsi?i:ev;alume | D. specific enthalpy
. 9P
Ans. C
The rr;odel of transmission line in which full charging current flows over
half the length of line
Aa NominalT . g. Shortline
C: Nominal N D. Equivalent N
Ans. A~ '

Which of the following is -called "certain length of actual transmission

line"? ;
A. Electronic delay line
C. Electromagnetic delay line

Ans. B

g. Distribution delay line
D. Magnetic delay line

Transient state stability is generally improved by
A. Using high speed governors on machines
B. Usinglow inertia machines

_C. Dispensing with neutral grounding
D, Any of above-
Ans. A )

-

The surge resistance of tréﬁ‘_émission'lfnes—i§ about

A SComm [, " 'B. 75 ohm
©C. 4000hm - . ik B
Ans. C - - ¢ ohm:

* In high voltage transmiss ”
high voltage transmission lines, the top most conductor i
s

lc\. R-phase conductor B. Y |
. B-phase conductor § e g

Ans. D D. Earth conductor

1 "
: ' ‘.
: ;
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574.

575

576.

577.

skin effect is proportional to
A piameter of conductor -

B. (Dlameter
: of condu 2 : of conductor) %
c. (Diameter ctor)? | p, (Diameter of conduct or;‘

Multiple Choice Questions

Ans. C

shunt capacitance is usually neglected in t
A, Short transmission lines
c. Long transmission lines

: he analysis of
. Medium transmission lines

'p. Medium as well as long transmission lines

Ans. A '

(n order to reduce skin effect at UHF

A. Conductors are painted

B. Conductors are anodized

C. Copper tubes with silver plating are used
D. Copper rods with silver plating are used
Ans. C

Transmission lines link

A. Service point to consumer premises

B. Distribution transformer to consumer premise
C. Receiving end station to distribution

D. Generating station to receiving end station

Ans.D

The flow chart of a thermal power plant consists of ____ main circuits.
A. Four B. Five -

C. Six : D. Seven

Ans,A .

In_____ the furnace is arranged as a horizontal cylinder.

A. Horizontal boiler B. Vertical boiler

C. Cylindrical boiler " D. Cyclone fired boiler

Ans.D .

Fossil fuel power plants often have a__ section in the steam generating
furnace, ' . ;

A. Heat exchanger : B. Heatrecovery .

C. Super heater D. None of above

Ans. ¢



582.

583.

584.

585.

586.

587.

A. Analysis

86

which simply measure the

1 3 / 1 1
yires ction device for measuring.

t the relaying point.

ta

measure both voltage and currenh i =

A D'fferential protection g. Eart
g i None

c. Distance protectaon D.
Ans. C

ive device is the process of Qetermining ﬂ.'lg "best fit"
protective de en abnormal electrical conditions occur.

iming of currentinterruption wh .
x g. Coordination

A. Diagnosis,

C. Calibration "« D. All of above

Ans. B

me connected 1O earth via low

one br two phases beco
| increase dramatically as current

In
r magnitudes wil

impedance path, thei
will imbalance.
A. Earth fault
C. Symmetrical fault

Ans. A

8. Phase to phase fault
D. None

is used because they offer precise controi of voltage,
frequency, VARs and Watts.

A. Induction generator ,B. Synchronous generator
C. DCgenerator. : D. ACgenerator
Ans. B :

In ‘
process control system there are three main terms or factors:

manipulated variable d
. andunc :
é. gontrolled variable B D(i;::rrobl:;end oA
. BothA&B ' ce
D. None of above

Ans. B

A process '

control i
e consists of four essential oces®
m ment, and control ial elements such as Pr

B. Evaluation .

| ) =



588

589.

590.

591,

592,

593,

$9¢

Multipie Choice Questions

¢. Quality D. None of aboye
Ans. B

provide a conductive path for DC for rotating fi indi
ﬁrminal ends B. Collector ringsg e Winding.
C. Commutator D. None of above
Ans. B
internal parts of a motor are protected from environmental element
A, Frame B. Enclosure . Oty
¢. Housing D. Capsule
g. Casing
Ans. B

exciter gets field power from generator output voltage.

A. Series type B. Shunt type
C. Brushless type D. Brush type
£. Console type
Ans. B

which feeds its own field current from its output.
A. Self excited generator B. Separately excited generator
Ans. B

Modern voltage regulators are designed to maintain the generator line
voltage within better than of nominal for wide variations of

machine load.

A +1% B. +3%
C *5% D. +7%
Ans, A

Sinusoidal voltage and current at constant frequency is character ized by 2

Parameters; A maximum value and .
A. Phase angle .B. Value of load angle

C. Rvalue D. Load angle
Ans, A

Reactive power that can be generated at low e deter,mmﬁ:ﬁl:v
A. Field current heating limit B. Field Currint zoo e
C. Field current overheating limit  B. None of 20

Ans, A



595. Power system is a word used In connection with ¢
power system denoting 2 condition wherein, the various )
h each other.

the system remain in synchronism wit

A. Range B. Loop
C. Gain D. Conservation
E. Stability

Ans. E

are used for voltage of low valyec a d.
n

596, __ transformers
transformers for high voltages-
B. Power; Electronic

' _———
A. Electronic; Power

C. NeitherAorB D. Current; Instrument
Ans. A

597. Which of following circuits are used to measure performance o

transformer?

A. Equivalent circuit B. Power circuit
C. Electronic circuit D. BothA&B
Ans. A

ary voltage into two equal voltages?
B. Centre tapped transformer
D. Step up transformer

598. Which transformer splits second
A. Power transformer
C. Current transformer

Ans. B

599. Which of the following is not a type of thyristor?
A. DIAC oot B. TRIAC
C.- Light activated D. Inverter gate
Ans.D ;

Steam pressure can be cl,assiﬁed by shaft position, method of driv,

600.
_____ and action of steam.
A. Exhaust pressure . B. Blade design ) !
C. Boilertype " C. Inlet feed to the boilers
Ans. A S |

601. Strength of magnetic field is increaséd by
A. Increasing number of turns

; ‘B. Increasing air gap |
. 88 ﬁ



| Multipte cho,
’ ceQ
¢, Decreasing number of turns Uestions

g

03,

606.

607.

608,

D.- pecreasing air gap
Ans. A
Skiﬁ effect is proportional to

(Diameter of conductor) 2
¢, Diameter of conductor

Ans. A

B. (Diameter of conductor) *
D. (Diameter of conductor)*

P rotor has too weak magnetic field.

A. Salient pole type B. Non Salient pole

¢. BothAandB D. None poepe
Ans. A

Which of following is not a type of transformer?

A. Resonant transformer B. Laminated core transformer
C. Single instrument transformer D, Ferrite core transformer
E. Castiron transformer

Ans. E

Which of the following is semi controlled power switch?
A. Thyristor B. Transistor

C. Diode D. All

Ans. A

Stator core is made of rhany thin metal plates or sheets joined fogether
called '

A. Wallet (7 - B. Slots

C. Laminations / D. Pastes

Ans. C .

In substétion is a substation without a transformer where

there is no step up or step down voltage transformation and operating at
only a cingle voltage level.

A. Switching B. Collector

C. Converter D. None of above

Ans, A

A transfers power from.transmisslon system to distribution

7 icity
-1 to directly connect electrici
system of an area. It is uneconomlcal t b i e '

: : tech r
consumers to the main transmission netwo
amounts of power



Multiple Choice Que

609.

610

611.

612.

613.

614.

615.

90

stions
g substation

Gcncratin

station D'. None

A. Distribution sub
ation

C. Transmission subst

Ans. A |
. f air is of the order of

i [ the ressure 0 [
::alar :ﬂa;tkcg/"cc::’t breaker %75 " 20 to 30kg/cm
. . Noneé
G 30tosokg/cm’ D
Ans. B

th of the air gap is increased, the

inducti ator when the leng ‘ crea
In .nd';th:" cr;rrer\t of the motor increases while the short circuit current
o e g. Increas
exponentually

A. Decreased

C.. Remains unchanged

Ans. C
" |n DC choppars per unit ripple is maximum when duty cycle alpha (a)is
A. 0.1 B. 0.3
c. 05 | D. 0.7
Ans. C
dback .

in.control systems with fee
A. System stability increas

B. System stability decreases
tability decreases and system

es and system gain decreases

and system gain increases
gain decreases

C. Systems

. D. System stability as well as gain increases
Ans. A '
The electrostatic potential inside 2 hollow conductor is
A. Constant B. Minimum
C. Maximum D. Zero |
Ans. A
Inside a hollow spherical conductor electric field i
A. Constant B. Mini 2
C. Maximum ' D. 7 e
Ans. D ’ g, ik erO

:{1 a:w FM signal, the power
. Incre . .
s Reduz:e;saasi:‘he modulation index increases
e a: :h: mogulatic'm index increases
: modulation i
ituon index decreases



| S Muitiple Choice Questioné

- gemains constant when modulatiop, index inc

reases
ans. D
: et Opro-cissrgr at most elementaé Ievfl is made of
g6 Transisto -+ Flip flops
2‘ Transistors & gates

D. Digital logic gates & latches
Ans. D

16 bit binary word provides.approximate|

h N
[ A 2n code combinations B. 256 Zodoevicr)nr:gl.g‘t)ir::smamm
. 65000° D." 0001.10
Ans. C
g 8 -4RT> 0is ___type of wave equation.
A. Elliptic B. Parabolic
C. Hyperbolic * D. Semi-circle
Ans. C ;
69, S*-4RT=0is type of wave equation. -
A. Elliptic * B. Parabolic
C. Hyperbolic D. Semi-circle
Ans. B

60. S*-4RT< Ois___type of wave equation.

A. Elliptic - B. Parabolic
C. Hyperbolic D. Semi-circle
Ans. A
821 let y=x +1,then the average rate of change of 'y ' with respect to. J
x' over interval 3, 5] is
A -8 : _ B. 2x
C. 8 , D. 16.
Ans. 8
622,

_ . "its base is

A'S feet ladder leg against the wall slips in such a ::a:r',at? iar:s;ant when

Moving away from the wall at the rate of 2 feet/S:C- ladder moving down
ase is 4 feet from the wall. How fast is top of the :

the wall of that instant?

A - 2ft/sec B Rt
C 8 g - D. -8/3 ft/sec
Ans, p v ' '



nt of 80 ampere and rypg ot 800

Cholce Questions
otal curreé

Multiple
kes 3! d that of arm
20V shunt motor 1ake 500 an ature is 0,

g23. A2 istance © unt fie dis W. What is e divin 0.1Q. Iron

RPM. Resis unt 10 s~

and friction losses @ of

motor? ‘ B. 14500 W

A. 16050 W D. 18500 W

C. 12600W :

Ans. A o

: sAatad terminal potentia ifference of
: tor delivers 19 . 250
624. Cs:'an: rgr:f:; :e esjstances 3T 0.02Qand 500 respectively. What is the
. The )

value of generated EMF? 5 270V

e §;’§¥ D. 282V

Ans. C
g25. |Ifalarge rumber of load gaté inputs are connected in a TTL circuit, what
' will happen to voh and voh-min?

A. Vohand Voh-min are unaffected

B, Voh exceeds Voh-min '

¢. Voh-min drops below Voh

D. Von chops below Voh-min

Ans, D '

a 16 bit architectural unit (ALU). Which of the

626. The execution unit has
following has not been performed by ALU?
B. OR

A. AND -
C. XOR D. NAND

Ans.D

627. Asignal is defined as power signal if and only if
IB\. Its power is normalized by assuming R to be 10’
c. ;o:ve: i; de-normalized of normal value
A as infinite energy b
g i gy but non zero power 0 < P <o for all time

Ans. C
628. P o : ‘
| Aur;;::tee::itr:;sfer function is to decide
.- s 0 ‘ .
C Slemisaabiabiin, g i Ooteubie
Ans. C D. None .

92 . |
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.' Mu|
gfficiency of electric motors is ysyq| _ Ultiple Choicg Questions
629 A 30 - 90% Ba V7between ;
R - 70-80%
-- 98% '
Cn 75A D. 60 - 98%
Ans.

The primary and secondary induced EME
transformer are always s (E1 ang E2) in a twg winding
A, Equalin magnitude B. Anti-
~ ; phase with each
c. Inphase with each other D. Determined e ootrer
Ans. C N transformer

0.

1. The main difference between electric lines and-magnetic lines of force

A. Eletctm? lines are closed curves whereas magnetic lines of force are
no ‘ '

Electric lines are in the form of open curves whereas the magnetic
lines are closed curves

Electric lines tend to contract lengthwise whereas magnetic lines do
not

D. None

Ans. B

£,

632. In‘'synchronous motor if load (same) is off suddenly then motor -
A. Begins to speed up ' ‘
B. Begins to slow
C. Suddenly have to carry load
D. Remains working

Ans. A
633, A ——oremee wave is a high frequency waveform (sinusoidal usually) that
is modulated with an input signal.
A. Modulated B. Carrier.
C. Sinusoidal D. Amplitude
Ans.B
834, what principle is used by indu:ating_inGstl'u“n:Iei:l':Z?spﬂ"8 ‘
A. : inciple B. Grav :
C ie:ztn;::\agnet prm'cp : p. Noneof a{bove

Ans, B i . , ¥

. "



tions P
. e

Multiple Cholce Ques
635 power carmyin capability js im | terf\al properties of system
: A. Therma condition 0. Noné of gbove
c. Design of syste™
i jon when it |
stive VOItaBe regutation s load power factor
636. A transformer has neé
is Unity
A. Zero D Lagging
C. Leading
Ans. C
hile on open circui
e of atra ansformer W uit is
637. The commerctal efficiency A Maximum
A. Zero : 100%
C. Eitherzero or100% . . D.
Ans. A
638, In large pOWer transformer, pest utilization of available core space can be
made by employing —— cross section.
A. Rectangular B. Square
C. Stepped D. None of above
Ans. C
639. Arrangement of dataina speciﬁc order is called |
A. Merging o s B Sorting
C. Classification *! D. Verification
Ans.B :
640. When covalent bonds break
: IHOIES and electrons pair are produced
. lons are created C. Bo
‘ th A
D. None of above &8
Ans. A
641, The dUra
tion of t,behul
Se inanpu
:t prec puise t"gge”“g SVStem for SCRs should be
60 mlcro seconds
~ €. 20micro B. 40 mi
D  seconds 5 icro seconds
. N | . 10 mlcrOASeconds 3
“ ‘



=

4.

. b45.

646.

647,

643,

¢ r - Multipiq
8M 360 series was introduceq ; in . Choice Qu,w

 First generation B. Secong
C- Third generation D. 1950 B¢neration
- ANS. c
The power factor of ac circuit ligg between
A Oand1 B. -landp
c. 0and-1 D. None of apoye
Ans. A '
The heat developed in an electric j Iron is attributed to
A. Apparent B. Reactive T
c. True D. True and reactive

Ans. C

When the power factor in the transmission lin
employed at substation to reduce the power factor?

A VT A B. Shunt Reactor
C. Synchronous condenser . D. None of above
Ans. B

In a circuit, low reactive power compared to true power indicates

A. Low power factor B." High power factor
C. Low efﬁcsency ' D. High efficiency
Ans. B

The rating of given on the name plate of a transformer indicates the

“A. True power which it can supply

B. Apparent power which it can supply

C. Apparent power which it draws from the supply mairis
D. True power which it draws from the supply mains
Ans. B

n is determined by
Itage applied to th
D. Allof ;hese

Ina stepper motor the speed of rotatio
A..Frequency of the waveform B. Vo

C Input current
Ans, A

e motor

95

e is leading, which device is



Multiple Cholce Questions
: on uapotentlal surface IS — -
649. E'CdﬂCﬂ ﬂe'd lntensW . Ad)acent to surface |
A. paraliel t0 surfact D. Perpendlcular to surface
c. Alongside the surface
S he rate of
t the e of 4200
ed toa DC enerator @ 1/
650. Mechanical energy 15 su;‘JzP '; p at 120 V. HowW much energy |s q:t
The generator delivers 34 |
per minute of operation? 5 20160
A 20060] 25060
C..23060) D.
Ans. B
‘ . Norton equivalent current is .
,,G . A. Anopen circuit B, A pure resistive circuit
¢. Short circuit through load D. None of above
Ans. C '
652, The main current crossing the collector junction ina normally biased Npy
transistor is '
A. Diffusion current B. Base cqrrent
C. Equal current D. Drift current
Ans. D
653. The only place where slip ring induction motors used in thermal power
" plqnts Is
A Boilers " 'B. Coal handling plant
"‘;'&:'_'Not used in thermal plants  D. ‘None of above l
.Ans.B "% ' : .‘
. | R |
654. An input transducer 2. ]
. A. Converts voltage to current i
2. Converts current to voltage | '
. Converts electrical quantity to non-electrical |
D. Non electrical quantity t i
Ans. D o electrical quantity
&
65. Low attenuation | o
ation rate an
d ... bandwidth is the cause of use of opﬂf" |

as

fiber system for communication;




657.

658:

Y’-——*

659..

* A. Cannot be used for motors below 200 H.P
~ B. Produces noise

661,

Mulm.m ] !

2. t:;"h B. Narrow

2 D.

e Constant
peak time is constant along

A. Imaginary axis B. Dlagonal

C. Real axis D. None of
<A of above
A voltmeter using thermocouple measures

A. Peak value _ B. RMS value

C. Average value D. Peak to peak value
An?c 8

Which coal will have highest ash content?

A. Bituminous coal B. Grade 1 steam coal
C. Coking coal. D. Lignite
Ans.D

What is the main disadvantage of phase advancers?

C. Can be used where synchronous motors is inadmissible
D. None of these
Ans. A

* Under what condition is D.C supplv applied safely to the primary of a

transformer?

A. We can connect directly to DC; no condition is required

B. We cannot connect to DC supply

C. A High resistance should be o
circuit will be useless

D. Above statements are Wrong

Ans. C

nnected in series with primary, but

- the secondary
In a Transformer, the primary flux is always ——

ﬂux & 3

maller
“A. Greater . g :qual ‘
C. Twice > qf:‘l_
Ans.o . ’

“ _”



663.

664.

665.

666.

667.

Multiple Cholce Quastions
Bandwidth can be increased by U%€ of ---------- network, 1

662,

B. Phase lead
A. Phase lag D. None
C. Mesh
Ans. B

. i 0 of non-linearity?

is the source f non : y

Which of the'following N Suturstionn i ®

A. Backlash in gear B ? Uf A o ven Plifie
C. Threshold season D. All of abo s

© Ans.D

The program for early PLC was in
A. Boolean algebra

C. Arithmetic logic

Ans. B

B. Ladder logic
D. All of above

The pointer which cannot be used in the register indirect addfessing

mode
A. BX B. BP
C. Sl D. DI
. E. AX
Ans. E
compensation is used to decrease steady state error.
A. Lag B." Lead
C. Lead and lag D. Lagand lead
E. None of above
Ans.A

The mutual inductance between two coils is zero when the fluxes
produced by fhem

A. Aid each other

B.. Oppose kach other

C. Are at right angle to each other

D. None of above

Ans. C |
If fhe admittance of a ' 3

parallel AC circuit is i et current® |
A, Decreased " i |r:tc:2 lnczjeased, the circuit ¢ |
C. Remains constant D. N ase : :
Ans. B . None

’



C e o

669.

670.

671.

672.

673.

674.

——
Impedance is for Ac

Circyj . g
S FCuit ang fesistance i for
A. ACis vector while p
B. AC changes its dire
C. Voltage phasor or
D. None of above
Ans. C

Multlplo Choice Quosélons

DC Circuit, the differer;ce
C. is Scalar Quantity |

Ction White pc does not

Current Phasor

40 W, 60 W, 100 w

and 200 w ' ,
will glow brighter? bulbs are Connected in series which bulb
A 40W

B. 60w
C. 100w -

D. 200
Ans, A W

‘Which of the following is trye?

A. Transducer and actuator are sensor
B. Sensor and actuator are transducer
C. Sensor and transdu

cer are actuator
D. None

Ans. B

A\l

Peak to peak 200 Volt will be read by an AC voltmeter as ‘

A. 1417V B. 100V
C. 200V D. 70.7V
Ans. D

The square law of photo detector gives current. This current is

i f combined optical field.
proportional to 0 ot
fy Sql;afe D. None of above
C. Cube ;
Ans. A

Intensity of light depends on

B. Frequency
A. Wavelength D. Amplitude
C. Velocity
Ans.D

i i Y lated tO

carry information.



r-—_
. oice Questions - \
 Multple C B. Sound \

A. Air _ D. Electricity
c. Light
Ans. €
may be used forgengrating
676. /’\suwc°"d“cwr g B. Current
A. :O'tszﬁfe D. Magnetic field
c. Pre
Ans.D 7

perconducting state have the property of
tic field 8. Repelling magnetic field
D. Repelling electric field

677. Materials in su
A. Absorbing magne
‘C. Absorbing electric fiel

»

Ans. B :
e ~
678. Stability of LC tuned circuit dependson - ‘
A. Quality factor B. “Inductor
C. Capacitor D. None of above
Ans. A

679. Primary and secondary winding of an ordinary 2-winding transformer
always has : - ,
+A. Different number of turns  B. Same size of copper wire

: in sAc°°mm°" magnetic D. Separate magnetic circuit

680. - | '
In a transformer, the leakage flux of each winding is proportional t0 t"'

current in that winding because

:. Ohm's law applied to magnetic circuits
- Leakage paths do not saturate

C. i
The two windings are electrically isolated

D. Magnetic flux |
oS e fiux is confined to core

681 Com ’
mo i ' '
Cu": :tmitter Is used for amplification of
C Poos: X 2 1 Voltage
e D. All

682,

Tf‘ansfof :
Mer is rateq :
0ad pau.. o -d S KVA | ‘
Power factor js unknnos\:vead oKW becansa




— — Multiple Cholice Quostions
B. Transformer loss depends on yoit-
C. It has become customary
D. All of above
Ans. B

amperes

683. Reverse bias of JFET increases its width of d
' A. Decrease its channel capacitance
B. Increase its channel capacitance
C. Decrease its channel resistance
D. Increase its channel resistance
Ans.D

epletion layer ang

684, Netreactancein RLC at resonance is
A. Maximum

. B. Minimum
C. Zero D. Infinity
Ans. B '
685. Circuit current is in RLC at resonance.
A. Maximum B. Minimum
C. Zero D. Infinity
Ans. A
686. is current in transistor due to minority charge carrlers

A. Forward leakage current
B. Reverse leakage current
C. Forward resistance of transistor
D. Reverse resistance of transistor

Ans. B

687, Which conﬂguration can be to convert high impedance into low
impedance by using OP-AMP?
A. Inverting B. Non-inverting
C. Summing amplifier D. Voltage follower
Ans. D

588. The cMRR sholild be for better noise cancellation in OP-AMP.
A. Low B. Zero '

* C. High . _D. None of above

Ans, C




Multiple Choice QuestionsS I ‘ y
j

689.

690.

691.

692.

693.

. 694.

102

'B. Similar to tunnel diod

‘applications such as _
& : p ballasts for automobile headlamps

B

C

'D. Battery backup systenis
E

Transfer function is

mo O ® >

‘A. Automatic washing machine B. Traffic signal system

«ristics of UIT s .
The VI characteristi d saturation region

A A : &
A. Similar to CE with a linear a
' e in some: respects

C. Similar to FET with a linear and pinch-off region

D. Similar to PN junction in some respects
Ans. B
A DC-DC converter with a high step up voltage gain is used fo, 0

» g .
A. High intensity discharge lam
. “Fuel énergy conversion system
. Solar cell energy conversion system

All
Ans. E

Mathematical model
System with no physical structure

System with no defined inputs
Can be calculated through differential equations

All .
Ans. E

Which system needs more stability?

C. Home heating system D. Motor with position control
E. Remote control :
Ans.D

In parallel resonance RLC circuit :
A. 1iﬁbéda'n'ce IS minimum B. Power factor is unity

-C. Current is maximum D. None of above -
Ans. B -
Cross over distortion is maximum in amplifier.
A. Class A B.. Class B
C. ClassH ; D. ClassC
- E. Class AB , - e G

Ans. B . . i -L



g A is maximum when RLC circult s "UIIple Chojey Question
695 7 |nductive circuit | B. Pow "N resonance,
C. capacitive voltage D. Non: dlsslpaum‘
Ans. B
9. Group diversity factor is
6 A. Less than 1 HlCTo—
c. Equaltol D. Zero ni
Ans. B
Like 3phase ______ gives constan
697. ~ HVDC . : ; B.t gzi,"’\:e':;;z:sfer to the linear loag,
C. Two phase : D. Single phase
Ans. C
~ Which of the following technique/me
& of ac high frequency voltages"'q PSSR USEd for the measurements
A. Peak voltmeter
'B. Seriesresistance micro ammeter
C. Resistance potential leIder ‘ i
D. Any of above
Ans. A .
699. Paschen's law is associated with
A. Breakdown voltage B. lonization
C. Thermal radiations D. None .
Ans. A
700. ATeslacoilisa
A. Cascaded transformer
B. Coreless transformer
- C. High frequency resonaht transformer
D. Lowimpedance transformer
Ans. C .
0L Van de Graaff generators are useful for

t applications

A. Very high voltage and low curren
Al 5 t applications

B. Very high voltage and high curren

‘ TS L ’103



‘ 4
C. Constant high voltage and current applications \ §

D, High voltage pulses only
Ans. A

702.  The phenomenon of corona Is generally accompanied by
B. Hissing sound

A. Bang
C. Magnetic hum D. All of above
Ans. B

703.  Which of the following is a polar dielectric?
A. Teflon B. Quartz
C. Nylon D. Polyethylene
Ans. C

704.  Polar dielectrics are normally used for

A. High frequencies B. Microwaves
C. DCand power frequencies D. None of above
Ans. C

705.  The moving system in the indicating instruments is subjected to

A. Deflecting torque B. Controlling torque
» C." Damping torque : D. All of above
Ans. D '

706. If there are three resistances in parallel whnch path current will chose

- A. High resistance B. High impedance
C. High conductance D. None '
Ans. C '

707. The basic requirement of a DC armature winding is that it must be

A. Closed one ' B. Lap winding
C. Wave winding ° D. Elther Bor C
Ans A ’ .

708. Among the following damping method the most effective and W

damping is

A. Airfriction ~ B. Fluid friction

C. Eddy current D. All are equally efficient
Ans.C -



~
-

709-

710.

* ————

acitor start, capaci i g
Acap : pacitor ryn single phase hoice Questiong
A. AC series motor c € INduction mey
A Twophaseln duction métor o r:enes Motor oris basicallya
Ans. C € Phase induction p, t
otor

A capacitor start single phase induction motor wi
factor of O Will usually haye
A. Unity & [ o
C. 0.6 leading D‘ - 82 ::::i':g

. A g

~ Ans.D

711

712

713.

714,

115,

In ultrasonic welding the frequency ran
A." 100-4000 cps

C. 20,000 - 80,000 cps

E. 800,000 - 5,000,000 cps

ge is generally
B. 4000 * zo;mo cps
D. 80,000 - 800,000 cps

Ans. B

Kwh meteris a ___ type of meter.

A. Recording B. Digital
C. Integrating D. None
Ans. C

If resistance decreases with increasing temperature, the coefficient will
be.

A. Positive B. Negative

C. Zero . D. None

Ans. B

Synchronous motor is operating on leading PF when the motor is
A. Over excited B. Under excited

C. Non excited ~ D. Ngne "

Ans. A

Regarding skewing of motor bars in a squirrel cage induction motor..

(SCIM) which statement is false.

A. It prevents cogging

B. Itincreases starting torque

C. It produces more uniform torque

D. It reduces motor 'hum' during its operation

: Ans. 8 05
L —



’:an unloaded zener regulato“

jons
Muitiple choice aucsuon mcreases t'
If the series resistance
i samé
v o e B w: [tage divided by the resjsy
A Decreases D Equalsthe voltag .
C: lncreases
Ans. A P zener regulatOr, thesanee currem

717.

718.

719..

720.

721.

T

. ceases in
If the load resistanc® increas®> g  stays the same

A. Decreases "
. '.’

C. Increases -

p. Equals the source voltage di

Ans. C i

creases,

ed by the series resistance |

oint Moves
if the base supply voltage in th: ap
2 Ir:‘)lowrt:ere R -v p. Off the load line
_ Now 5 e .
Ans. B

or and apparent power aré respectively represented by

:ctt:&p::; kVAR c Y8, kVAR and kVA,

C: KVA and kVAR D. kW and kVA

Ans. D

For a consumer what is the most economical power factor?
A. 0.25-0.5lagging . 8. 0.25-0.5 leading

cC 0.85 - 0.95 lagging D. 0.85-0.95 leading
Ans.C

:he l;:(u;imary reason for the low power factor is due io the installationof
. DC motors 4 B. Synchronous motors

C. ‘Induction motors
N D. Commutator motors

b

Ca On O | .

factor ppliance which is responsible for the poor P°




723 power factor, a capacitor is connected

A. In series with the equipment
g. In parallel with the equipment
c. Inseries-parallel with the e
p. Either (a) or (b)

Ans. B

Quipment

724, Ifthe load resistance decreases in alZe
. A. Decreases
C. Increases
D. Equals the source voltage divided
Ans. B

ner regulator,

the serjes Curren
t
B. Stays the same

by the series resistance:

725.  The device associated with volta
A. Light emitting diode
C. Varactor diode
Ans. C

ge controlled capacitance js 3
B. Photodiode
D. Zener diode.

726.  To isolate an output circuit from an
use

A. Back diode B. Optocoupler

C. Seven-segment indicator D. Tunnel diode
Ans.B

input circuit, which is.the device to

i 721.. The danger of electric shock is maximum

A. During arcing - B. After arcing

» C. While inserting electrode into the holder d

T ‘ D. None of above .
Ans. C |

8. The average DC output voltage for a half-wave rectifier is 13.05 V.

Average vaiue for a full-wave rectifier will be
A. 26.1 B. 28 :
C 10 D. None of these
Ans, A

. . ' to-diode
The major advantage of a photo-transistor as compared to a pho




R —
Multiple Choice Questions —\‘
A. Response to higher frequencies ' |

730.

731

732.

733,

735,

-C. Both (A) & (B)

B. AC operation .
C. Increase sensitivity

D, Durability .
Ans. C -

When transistors are used in digital circuits they usually Operate -
. J

A. Active region
B. Breakdown region
C. Saturation and cut off regions

D. Linear region
Ans. C

power amplifiers in high frequency applications are mainly used

A. As a switch B. For amplification
C. As protective devices D. Voltage controllers
Ans. A ' ~

Input impedance of an inverting OP-AMP is

A. Zero B. . Infinity
C. 10M2 ~ D. Noneof these
Ans. B :

“Switching surge is

A. High voltage DC B. High voltage AC
C. Short duration transient voltage '

D. Hyperbolically dying voltage
Ans. C

I:sulamfs for high voltage applications are tested for
. Power frequency fests B. Impulse tests

Ans. C % D. None of above
Transf |
A c°°rmeff contribute to radio interference due to
B. ' troraa discharges in air

« In '
S :rr:izlgor Partial discharges in insulation
Ans. D D. Anyofabove

¥ \—/



muitple Chojcq Quoamms )

[ P ol volta_se originate in power Systems due tq
- + Lightening B. Switchingoperations
= Faits D Any.of aboye

Ans. D

The torque developed by a split phase motor is
A. Sine of angle between Im and |s

B. Cosine of angle between Im and Is
C. Main winding current, Im

D. Auxiliary winding current, Is

i ‘Ans.A :

- 73T, Proportional to

738. The power factor of an alternator depends on

A. Load ~ B. Speed of rotor
C. Core losses D. Armature losses
Ans. A

739. A welding generator has characteristics. -

A. Rising . _ B. Drooping
C. Linear D. None of them
Ans.B

<

740. A 4-pole, 12-slot lab-wound DC armature has two coil-s.ides/slots.’
Assuming single turn coils and progressive winding, the back pitch would .

be ) <
A Bt S : B..7 |
C 3 : " D. None of above

Ans. B

ML ifthe load on a DC shunt motor is increases, its speed is slight,y reduclzed
dueto , _
A. Increase in armature current B. Increase i?nﬂ::ck s
C. Decrease in reactance - D.'» Decrease ; .
Ans, p

14 -poles and

o having 4
Fl’equency of voltage generated by an altem?tor _
;otating at 1800 rpm is -—--hertz.

60 B. 7200
Ans, A

Y : ) ' . 109



‘Multiple Choico Questions [—— WERCE
using short-pitch winding in ajt
243, The main disadvantage ok SMatoyg 5y :
it he generated voltage v N
monics int B
A. Reduces :‘:; rotal voltage around the armature coils
g_ se::::; asymmetry in the three phase windings
, P P
D. Increases CU of end connections ,
Ans. B
: : ir i .
744, The efficiency and P°Wei' factor of 2 5‘?‘;,' rel' Cage inductig, =
; s in proportion to ts .. "3 :
::cr;::dl e B. Mechanical load
C Voltage - D. Rotor ;%rqgs
Ans. B
745. A 4-band resistor has Red, Black, Green, Blue bands, its resistance
A. 1MQ B. 3MQ
C. 2MQ D. None
Ans. C
746. An-AC waveform having DC equivalent value
A. Effective value B. 0.707 peak value
* C. BothA&B D. None of above
Ans. C '
747. 1f 1 =5+ 5 sin 100ft then what will be t[\é average current value of el
sinewave
A O ' B. 5
i' 1g D. None
ns.
e are fea‘”'es&

110

Al::ence of skin effect, lower line cost, less corona effect
which of the transmission system ' -

A.' High voltage direct current (HVDC)
B. ACtransmission system

- C. Subsurface distribution system

D. BothA&B
Ans. A




754,

V.

750.

751

752,

753.

Multiple Chojce Questions

Itage (EHV) tr
Extra high vo ansmission has whi
it ch of the following

A, Reduction in noise

g. Increase in transmission efficiency
c. Improves voltage regulation

p. All of these

Ans.D

The purpose of comparator Is to

A. Amplify an input voltage

. Detect the occurrence of 3 changing input voltage

C. Maintain a constant output when the DC input voltage changes

D. Produce a change in input voltage when an mput voltage equals the
reference RRILE

Ans.D oy, SgN

DOG-ACSR conductor has |

A.. 1strand of steel 6 strand of aluminum

B. 6 strand of steel 1 strand of aluminum

C. 6strand of steel 7 strand of aluminum

D. 7 strand of steel 6 strand of alumlnum'

Ans.D '

Manufacturers measure the resistance of conductor at which

temperature , .

A. 0 o B. 20
C. 25 D. 27
Ans.C

Standard voltage supply in Pakistan is

A. 220 . B. 230
C. 240 D. 400
Ans. B $

One horse power (hp) equals how many pounds per feet of engine
A. 22000 foot-pounds per minute

B. 22000 foot-pounds per second

C. 22000 foot-pounds per hour

D. 33000 foot-pounds per minute
Ans. D

“ 11



Mumplt CNOICE Wuuauwire —

755.

756.

757.

758.

- 759.

760.

761,

112

uble its length the resiét;,m:e \'
of '

A piece of wire is stretched O do
e

:ecgr:es . 5 4R
c. R/2 D. R/4
Ans. B

One'ton of air conditioner means

g. One ton of ice in 12 hour

n of ice in 1 hour
A. Oneto D. None

C. Onetonofi ice in 24 hour
Ans. C

A 50 ohm resistance with 5% tolerance will have colour code

A. Green, black, black

B. Green, black, black, gold
C. Green, black, brown, gold
D. Green, black, gold

Ans.D .

Cost saving of conductor in three phase over single phase

A. 100% B. 200%
C. 300% D. 400%
Ans. C

In electrical traction, speed of DC motor can be varied by varying

A. Terminal voltage B. Field current

C. 1stvarying terminal voltage then field current

D. None )
"Ans. B

In case the air gap |n an mductlon motor is increased
A. The magnetizing current of rotor will decrease
.8 The power factor will decrease '

C. Speed of motor will increase

D. Windage losses will increase

Ans.B

The number of sli .

A Yoo er of slip rings on a squirrel cage induction motor is. usuall
C. Four - B. Three

Nk D. None

.
. 4 5
. s ’
WL



P ‘ : Muyy;
what is the dielectric str. Ple Cho,

eNgth of porcely; °® Questi,
in . ns
6% 4 20 . B 109 (kvpe”"ch)? '
Ans. C
is th dieledric
% Wwhat is the strength of glass (kV per inch)?
A 355 B. 500
c. 600 D. 750
Ans. A
764. ios; :; t;nderground cables over gvegmea; transmission fines js .
. . Double
C. Mcore than d?uble D. None of aboya
Ans.

765.

766.

767.

768,

For percentage voltage-drop ex
used

A. Sending end voltage

C. System nominal voltage
Ans. C

Pression which of the following voltage s

B. Receiving end voltage
D. Any of above

Which gas is used in gas insulated sub station? N

A. Nitrogen B. Sulphurhexachloride.
C. Sulphur hexafluoride D. Air

Ans. C

The speed of squirrel-cage induction motor can'be controlled by all of the
following except
A. Changing supply frequency B. Changing number of poles

C Changing winding resistance D. Reducing supply voltage
Ans. C | -

In case of a three phase induction motor, plugging means
A Pulling the motor directly on line without a starter

8. Locking of rotor due to harmonics
loa
C. Starting the motor on load which is more than the rated lo

Ans.p

D. |nterchanging two supply phases for quick stopping

- 113
o V



Multiple Choice Quosﬁons T \
769. The speed of an alternator is changed from 3000 rpm to 1500 ™
",

generated emf/phase will become .

A. One fourth B. Half
C. Double D.' Unchanged
Ans. B
770.  Alternators used in aircraft systems‘usually have frequency of
A. S50Hz B. 60Hz
C. 25Hz D. 400Hz
Ans. D

771.  Single phase induction motor torque at the instant of starting i
A. More than the rated torque
B. Equal to the rated torque :

C. Zero
D. Less than the rated torque

Anhs. C

-

772, Which motor has the highest power factor?
A. Capacitor start motor B. Capacitor run motor

. C.' Shaded pole motor D. Repulsion motor
Ans. B &

773. The electric motor used in portable drill is
A. Capacitor run motor B. Hysteresis motor

C. Universal motor D. Repulsion motor

Ans.C’
]
774. The direction of rotation of universal motor can be reversed by reversing
the flow of current through :
A. Armature winding’ B. Field winding
C. BothA&B D. None of above
. Ans. C
775. Which system is used in industrial process for momtoring and st
correctlon? ‘
A. " Coal-slur ry B. Closed loop

.C. Open loop D. Feed forward

Ans. B :
114 d



C' 0.1 volt :
ans. €

; Multipe Cholce
i Qu
, xand 260 voltmeter will show half scaje i Ostiong

fle .
B. 0.01voy Ction with Voltaga -
D. 1volt

A

magnetic shield or screen used to prot

. ect a delj

fll- e made of which ofthe following materjaly ¢ "Strument shoulg
A, Plastic B. Softirop! '

. ¢, Copper D. Aluminum
g For generating 1MHz following oscillatof could be used

T A Colpitt's B. Wein-bridge
¢. RCphase shift D. Hartley
Ans. A . '

. Dielectric strength in case of mica cari be éxpected to be more than
A. 500kV/mm B. 1500kV/mm
C. 2500kV/mm D. 3500kV/mm
Ans. A

780. Which impurity is present in liquid dielectric which strengthens the
dielectric effect? ' »

A. Dust B. Dissolved gases
C. Moisture D. lonic impurity
Ans. C

781, Circuit breaker is used for

A. Fault detection B. Interruption
C. BothA&B . D. None
Ans. B

2. Whatis the relative speed of stator and rotor fluxes?
A. Ns - B. Nr
C Ns-Nr D. 0

~ Ans.c
783,

in induction motor?
What is the synchronous speed of 960 rpm and 4% slip indu
A, 1000rpm B. 900rpm 3



meiipie Lnoice Questions

784,

785,

786.

787.

788.

789.

116

. D. Constant amplitude and stationary field

C. 2000rpm D. 3000rpm

Ans, A

The principle of'operation of a 3-phase induction motor is mgg; Si"‘ilart
0

thatofa

A. Synchronous motor :

B. Repulsion start induction motor
C. Transformer with short secondary
D. Capacitor start

Ans.C

The three phase induction motor with rotor circuit open will

A. Run normally B. Make noise
C. Notrun D. Get over heated

Ans.C-

Poly phase field mean

A. Pulsating and stationary field

B. Pulsating and rotating field

C. Constant amplitude and rotating field

Ans.C

The main rea?on for generation of harmonics in a transformer could be
A. Fluctuating load B. - Poor insulation

C. Mechanical vibrations *  D.. Saturation of core

Ans. D it :

Tertiary winding is used in which transformer

A. Star-delta | B. Delta-delta

C. Star-star D. - Any of above

Ans- C '

A power transformer has a single primary winding and three secondary
windings producing 5.0volts, 12.6 volts and 150 volts. Assuming Sl
wire sizes, which of the three secondary windings will have the highe
measured DC resistance? ,

A. 5volt winc?ing B. 12.6 volt winding .
2- 120 volt winding D. All will have equal resistance
ns. Py



. M
ulm:flo Chojce Qu

230 DC motor is run on 239
A volt Ac Supply then -

790- A, It will run smoothly

B. It will stop
c. It will burn out

p. It will run with less efficien '
Ans. D €Y and high sparks

191 A good dielectric should have al| thes
A High mechanical strength
C. High dielectric loss

5 e.parameters except
D. :gh thermal deterioration
. Freedom frorn 8aseous inclysjon

Ans. C
792. Corona effect can be identified by "
A. Bushy spark_s B. Faint violet glow
'C. Red light D. A :
Ak B ‘ ‘ rcing betweer.1 conducfors and earth‘

793.  Van de Graff generator output voltage can be controlled by
A. Controlling the corona source voltage
B. Controlling the belt speed .
C. Controlling the lower spray point
D. Any of above

- Ans. A
.& . . .
794.  Which. of following materials is not used in fuses?
A. Copper; B. Silver
C. Aluminum D. Caribon
Ans.D ' '

795. Resistive type transducer is used in_
A. Carbon microphone B. Strain-gauge

C. Thermistor D. Al
Ans.D

796. Speed of induction motor can be varied by varying
A. Voltage of supply B. Frequency.
C. BothA&B D: None
Ans. C. l 7

. ’ 17 -~



Multiple Choice Questions ==

797.

798.

799,

800.

801.

802.

803,

804.

118

do i
Operation of induction motor above base speed can be done with

A. High voltage and high frequency

B. Cognstant vgoltage a:d high frequency
C. Constant frequency and high voltage
D. 3rd harmonics

Ans. B

i heel electrode is used in . ‘
20“:::: sv\:ld?ng - B. Resistive spot welding

C. Resistive seam welding D. Dielectric welding
Ans. C

Voltage regulators normally use B
A. Negative feedback B. Positive feedback

C. No feedback D. Phase limiting
Ans. A

A power supply with low output impedance has low

A. Load regulation B. Current limiting
C. " Line regulation +D.;, Efficiency
Ans. A

When electrical and mechanical degrees become same in DC machine
A. Speed more than360rpm  B. Less than 360 rpm

C. In 4 pole machine D. In 2 pole machine

Ans.D

.
R DA

In which braking method of induction motor, the. motor stops dissipating
heat in the resistor

1

A. Regenerative braking . B. Dynamic braking e
C. Plugging ) +, D: All of above
Ans. B iy '

In AC systems, ground or earth is connected to

A. Neutral B. One of the phases
C. Midpoint _ D. None

Ans. A i

Bus bar is at




Multiple Cholce Questions
B. Constant current
D. Varlable voltage and current

_ Constant voltage
c. BothA&B
g. None of above

Ans. A

. g » for which of following loads voltage drop is minimum
- A. Load atthe end of feeder  B. Uniformly distributed load

c. Uniformly increasingload D, Uniformly decreasing load
Ans.D .‘

' go6. InaDC machine, hysteresis loss is
4 A. Proportional to frequency
B. Inversely proportional to frequency

C. Proportional to square of frequency
D. None of above
Ans. A

~ .807. Ina DC machine, eddy current loss is

) A. Proportional to frequency

B. Inversely proportional to frequency
C. Proportional to square of frequency
D. None of above

Ans. C

808. The Common Collector co_nf“uguration is used for

A. Impedance matching B. Voltage gain
C. High power applications D. None of above
Ans. A
' 809. Thecurrentina copper wire is because of
" A. Free electrons B. Holes
C. Holes and free electrons D. lons
‘Ans. A :

810. DC transmission is economical for

A. Short transmission Ilne:s

B. Medium transmission lines

C. Long transmission lines "
D. Both medium and long transmission lin |

Ans. C

| — 119




Multiple Choice Questions
; han the sendin
811. When the receiving end voltage is greater t € end Vol
this is called 8. Proximity effect

2. ?:'::oifafii;ect D. Ferranti effect

Ans. l_)

812. In modern computers which of the following technology is useq now

days. :
A. Mosfet B. BJT
C. JFET _ D. TTL
Ans.D

813. In domestic wiring earth is prowded to .
A. Protect human beings from electric shock
B.* To protect machines
- C. To protect human and machines
D. To protect birds
Ans. A >
814. Fuse wire is installed
A. In series with the wire circuit
.B. In series with the neutral wire
C. In parallel with the neutral wire
D. In parallel with earth wire in the cnrcuut
Ans. A

815. The merging of a free electron and a hole is called
A. Covalent bonding B. Lifetinie
C. Recombination D. Thermal enérgy
Ans.C - ' o

G wior g "

816. In an intrinsic semuconductor the number of free electrons
: A. Equals the number of holes ’
B. Is greater than the number of holes ‘
C. Isless than the number of holes.
D. None of above
Ans. A

”"w
o s | A



r

18,

‘821,

g1

819.

820.

822,

823,

muiupie Choice Questions

At absolute zero temperature (-273 ® C) an intrinsic semiconductor has

rew free electrons B. Many holes
c. Many free electrons D. No holes or free electrons
Ans. D

When the graph of current versus voltage is a straight line, the devuce is
referred to as

A. Active B. Linear
¢. Non linear D. Passive
Ans. 9.‘ '

Meggar test is used to measure

A. To measure the insulation resistance
B. To check the calibration of instrument
C. To find the unknown resistance

D. None of above

Ans. A

-

Transformer oil is used for

A. Insulation : B. Cooling

C. BothA&B . D. Lubrication

Ans. C

Which circuit breakers are normally used for 11 KV?

A. Oil circuit breaker B. SF6

C. Vacuum cnrcuit breaker D. Air blast circuit breaker
Ans, C

Trans conddctance indicates how effectively the input voltage controls
the —

A. Voltage gain B. Input resistance
C. Supply voltage . D. Output voltage
Ans. D '

Demand factor is the ratio of

A. Maximum demand to connected load
B. Connected load to maximum demand
C. Maximum demand to average load

Average load to maximum load
Ans A

S ——



824

825.

826.

827.

828.

829.

830.

122

Multiple Choice Questions —____ﬁ
generator supplies ___ - to "

. An over excited synchronous

B. Reactive power 8rig, |

A. Active power D. Reactive load |

C. Active load
Ans. B

The amount of heat necessary to raise the temperature of g,
1l ter by 1 Celsius degree at norm logy,
(or 1 liter ) of pure water by al ¥

_pressure is called phg
A. 1calorie - . B. Kcal

C. Joule D. None of above

Ans.B

power FETs are

A. Integrated circuits B. Small signal devices
C. Used mostly with analog signals
D. Used to switch large currents
Ans.D '

Most power FETS are

A. Used in high current applications ;

B. Digital computers C. RF stages

D. Integrated circuits

Ans. A . .

Monolithic ICs are ‘ =
A. Forms of discrete circuits

B. On asingle chip -

C. Combinations of thin film and thick film cir.cuits

D. Also called hybrid ICs
Ans. B

For ceiling fans generally the single phase motor used is

A: Split phase type
. B. Capaci
C. Capacitor start and run pacitor start type

Ans.D | type D. Pe(manent capa;;t_ortype
Kie:::in :f two cascaded amplifiers are
e
C. Multiplied © B Subtracted
. Ans.C ' D. Divided



N Multiple Choice Questions

831

832.

833.

834.

835,

836.

837. .

Kirchtiosts Second law is based on the law of conservation of

A. Charge B. Energy

C. Momentum D. Mass

Ans. B ‘ ’

Which of the following is not the same as watt?°

A. Joule/sec B. Amperes/volt -

C. Amperes x volts D.” (amperes)2 x volt
Ans. B

Which method can be used for absolute measurement of resistances?

A. Ohn'!'s law method B. Whetstone bridge method
C. Releigh method D. Lortentz method

Ans. B

A standard 60W bulb is in series with a room heater and connected
across the'mains. If 60W bulb is replaced by 100W bulb '
A. The heater output will increase

B. The heater output will reduce

C. The heater output remains unaltered

D. None of above

Ans. A
\..l» .
Whicl’;‘ material is expected to have least resistivity?
A:, Céﬁper B. Lead
"C. Mercury ' D. Zinc

. Ans. A

Certai-n substances lose their electrical resistance completely at finite low

temperatures. Such substances are called
A. Dielectrics B. Super conductors

C. Semi-conductors D. Perfect conductors
Ans. B

The plates of a lead acid battery are made of

A. Rolled zinc-copper alloy’
8. Cast antimonial lead alloy
C. Rerforated nickel cadmium alloy

‘D. Pressed antimony bismuth alloy

Ans.B .

# 123



Multiple Choice Questions

838.

839,

840.

841:

842.

843,

844,

124

_ A. Hygrometer

In a lead acid battery, during charging
A. Anode becomes whitish in colour
B. Voltage drops :

C. Specific gravity of acid increases
D. Thg cell gives out energy

Ans.C

The value of specific gravity of acid when a lead acid battery fl
charged is '

A. 1.285 : B. 2185

C. 2.585 D. 2.9585

Ans. A

The indication of the state of charge of a battery is best given by
A. “Specific gravity of electrolyte B. Temperature of electrolyte
C. Calor of electrolyte D. Level of electrolyte
Ans.A ' '

On watt hour basis the efficiency of a lead acid battery is in the range

A. 90to 95 percent B. 80to 85 percent
C. 70to 85 percent . D. 60to 70 percent

_ Ans.C

The internal resistance of a dry cell is of the order of

A. 0.2to040bhm - - ° B. 1to1.50hm
C. 2to5ohm - D. 1to150hm
Ans. A ; i

The electrode for a battery must be
A. A good conductor of electricity

B. ‘A bad conductor of electricity ': )
C. Asemi-conductor .. D. Aninsulator
Ans. A

The specific gravity of acid is checked with the help of a

" B#Lactometer

C. Hydrometey, - D. Cell tester

Ans. C



845

§46.

847.

848.

849.

850.

851,

cells are connected in series to

A;, Incréase the V.OItage Output B. Decrease tp,
C. pecrease the internal resistance p. Increase s € Voltage output
Ans. A € Current Capacity

A battery whose EMF is 45 volts js Connected to a 29 o
mr

acurrent of 2.1A flows. The terminal voltage is esistance ang
. A A2V ' B. 45v

C. 40V D. 54v

Ans. A ’ :

The best instrument for the measurement of EMF of acellis

‘A. Voltmeter B. Ammeter

C. Potentiometer D.. Wheatstone bridge

Ans.C

The RMS value of sinusoidal 200V peak to peak wave is

A. 200V B. 100/v2V

'C. 200/v2V D. 100V

Ans.B

Which wave has the highest value of form factor?

A. Sinewave B. Triangular wave
C. Square wave D. Half wave rectified sine wave
Ans.D - C .

The form factor of DC supply voltage is always

A. Zero B. 0.5
C. Unity . D. Infinite
Ans. C ' '

Which of the following relation is incorrect ?
Power factor=

A. Real power / Apparent power

B. kw/kva = 9

C. Resistance / Impedance

D. Conductance / Susceptance
Ans, p

\- . . — 125
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853.

854.

855.

856.

857.

858.

Questions —
Multiple Cholce
acmr corrc\(/‘.‘tlon are rated in terp, of
B.

852,

The capacitors for power f

A, Voltage B
C. kW

Ans. D

or of an inductive circuit can be improved by c°"neqi .
My

power fact
capacitor to it in g. Parallel

A. Series nds on the va
C. Either series or par allel b.; Oepe lue of Capaciy,

Ans. B

A series circuit consisting of R=1. 2 k @ and C= 0.1pF is supplied vith g
at a frequency of 1kHz. The reactive power will be

A. 0.1VAR B. 0.4 VAR

C. 0.81VAR D. 1.62 VAR

Ans. C

A non-linear network does not satisfy

A. Homogeneity condition B. Super position condition
C. BothA&B - D. None of above

Ans. C

A coil with 1000 turns carrying a current of 8A produces a flux of 6x10¢
Whb. The inductance of coil would be

A. 0.75H ‘ . B. 0.075H
C. 0.0075H D. 0.00075 H
Ans.D

The super position theorem is appllcable to
A. Linear responses only

B. Linear and non-linear res
C. Linear, non-linear and ti

D. None of above
Ans. A

Ponses only
Me variant responses

The super positio
A. Current only
C. Both current
Ans.D

n theorem is applicable td ‘

B. Voltage only

and v
oltage D, Current, voltage and powe'

126 ‘ . ’



860.

861.

862.

—y

A unit ramp function when inte

r : ;
A. Unit parabolic function Brated vielgs

B. *inj
¢. Unit doublet D U::: Famp function
Ans. A . IMpulse function
The system with characteristic equation s4 4 353 +
A, Stable o ;' B. ‘Unstable 6524954129
c. Marginality stable D. None
~ Ans.B '
if a zero appears in first column of the Rou
; , th table, the system i
A. Necessarily stable - - B. Necessarily unstablz e
C. Marg.aally stable Dz None
" Ans. B . “'ﬁf\i’

The open loop transfer functions of systems are given below. Identify the

. system that is not stable for all values of gain constant K

963.

864,

A. m_—__"'_

sk .
b 0= g :
C §=k/(s*+25s+2) . .
D. P=k(s+ 1)/(s+2)(—s+4) ‘
Ans. D ' :

The main application of transfer function is in the study of

. A. Steady behaviors of system

B. Steady as well as transient behaviors of systems
C. Only transient behaviors of system '

D. Neither steady nor transient behav
Ans,B ' :

iors of system

Ll

Which signal will become zero when the feedback 'signal and reference

Signs are equal?
A. Actuating signal

C. Feedback signal
Ans,A :

B. Reference signal
D. Input sighal

. ; ] ’ 127
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'865. The outputofa thermocouple is = | ‘ \
A. DCcurrent’ ' ke B. ACcurrent
C. DCwvoltage D. ACvoltage
Ans.C
866. The Bode plot is used to analyze ,
A. All phase network . B. Lag lgad network
C. Minimum phase network _ D. Maximum phase networ

Ans. C

867. Non linearity caused by servo motor is

A. Saturation B. Backlash
C. Static friction . D. None of above
Ans. A

868. Resistivity of metals is expressed in terms of

A. pohm B. pohm/cm
C. pohm-cm®* D. pohm-cm.
Ans.D '

‘869. Constantan contains

A. Copper and nickel B. Copper and tungsten
C. Tungsten and silver . D. Silver and tin
Ans. A

870. Bakeliteis

A. A semiconductor 8. Incombustible.
C. Low resistance conductor  D. Highly inflammable
Ans. B :

871. Dielectric constant for vacuum is

C 1 . ' D. Zero -
~Ans. C

872. Which material can be used at temperatures above 10077

A. Polythene B. Teflon

D. Paraffin wax

" Ans.B ' _
128 ﬂ
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C. Rubber
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§73

g74.

876.

877.

878,

879_

 One farad is the same as

"Two infinitely long parallel conductors

ST Mueauuns

rce of 1 Newton is experienced between 2 e

sAe[fJ:rated by 1m and having a magnitude of Aual charges i space,
A 1coulomb " B. 10 micro-coulombs

c. 100 pico-coulombs D. None of above

Ans. B '

Which medium has least dielectric strength?

A Air B. Quartz

C. Glass D. Paraffin wax

Ans. A

A region around a stationary electric charge has
A. Magnetic field

‘B. Electric field

C. Both magnetic and electric field

-D. Neither magnetic nor electric field

Ans.B,

One volt is same as

A. One joule - B. One joule/sec
G One joule/coulomb D. One coulomb/joule’
Ans. C '

A. One coulomb/volt B. Onejéul‘e/ volt

C. One-joule/coulomb D. One coulomb/joule

Ans. A ~ :

in vacuum are separated by a

hen a current of 1 ampere flows

distance of 1 meter between centers, W
f force exerted by the two

thf°”8h each conductor. The magnitude 0

conductors on each other willbe . ;

A 2x10-7N per meter length B. 2X 10-5 N per meter lengt
2x10-2N per’me‘ter length

" € 2x10-3 N per meter length D-

Ans, A

A device that converts from decimal to binary number s called
A. Decoder g. Encoder

C cry D. Converter

Ans, B



Multiple Choice Questions P '
r B6C7 is equivalent 10 decimal number
B. 46 '

880. The hexadecimal numbe it
A. 49761 . 5 49761 -
C. 47691
Ans. B
is wi facturg of
ithi logy is widely used in the manu
= :I 0':::;3:;;9(:}‘"0 'gy. g. Transistors
C. Integrated circuits p. All of above
Ans. C
882. 64Kis R
A. 6400 : B. 64000
C. 65536 , D. 66536
Ans.C } |
883. Micro processor 8085 is the enhanced version of --—===- with essentially
the same construction set. o
A. 6800 B. 68000
‘C. 8080 D. 8000
Ans. C
884. Opcode : . |
A. That part of construction which tells the computer what operation 0
perform - :
ata to be added or subtracted

B. An auxiliary register that stores the d

from the accumulator :
C. The register that receives the constructions from the memory

D. One of the constructions in the memory set
Ans. A .
nit. The confe“::

885. In 8085, the instruction register is part of the control U
he uppe’ ™

of the instruction register are split i 3
split into ;
goes to the --—-—s-=- 0 two nibbles. T

A. Mem
C. Sourczrgyarzd(:;::s B. Controller sequence
Ans. B g rﬁe D. ‘Micro-instruc,tion
¢
skes P

"886. Interaction between
: . . a CPU and a peri o that t
during an 1/O operation is known as gophmal qeey i

— |




T ——— MU’ '
tiple Choice Quostlois

A. Handshaking B. )
c. Relocating b ;laggmg.
A.ns A . Subroutine

Equalizer rings are required in a lap windin D :
» A. To decrease armature reaction : &0C machine
g. Toimprove commutation
c. To filterout harmonics

D. To prevent flow of circulating currents through the brushes
Ans. D ki

-~

88/

ges. |If the no load voltage of a certain generator is 220 V and the r;ted
voltage is 200 V, then the voltage regulation is

A 1% B. 10%
C. 20% D. 9%
-Ans: B

889. The critical resistance of DC generator refers to the resistance of

-A. Armature A B. Load
.+ C. Fleld : D. Brushes
.- Ans. A

890. The armature reaction of an unsaturated DC machine is

A. Non-magnetizing B. Magnetizing
C. Demagnetizing - D. Cross-magnetizing
Ans.D

891. The speed of a series wound DC motor
A. Can be controlled by shunt field regulator
B. Cannot be controlled by diverter

C. Increases as flux decreases
D. Increases as armature circuit resistance increases

Ans, C -

892. The function of breather in a trans_forn:\er is -
A. To provide oxygen to the cooling oil
B. To provide cooling air A
' i the
C. To arrest flow of moisture when outside air enters

D. To filter the transformer oil
Ans. C

. | — 131
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Multiple Choice Questions “

893,

894.

‘895.

896.

897.

898.

© 899,

900.

A. Universal motor

i imum i
Power transformers are usually designed to have max efﬁmency at

B. At 75% of full load
2' zte ;rO‘f};: 2;?3:: load D. Between 50% and 75% of full |z
Ans. A

Distribution transformers are usually designed to have mayjm,,
efficiency at

A. Near fullload . B. Near 75% of full load "
C. Near 50% of full load D. Near no load
Ans. C

Which value of flux is involved in the emf equation of transformer?

A. Maximum value B. Average value
C. RMS value D. Critical value
Ans. A

. An alternator is said to be over excited when it is operating at

A. Unity power factor B. Leading power factor
C. Lagging power factor D. Lagging to leading power factor
Ans. C 8

For an alternator when the power factor of load is unity
A. The armature flux will have square waveform

B. The armature flux will be de magnetizing -

C. The armature flux will be cross magnetizing

D. The armature flux will reduce to zero
Ans. C

'

Which of the following is likely to be the full load power factor of a three
phase induction motor? .

A. 0.2 leading B. 0.2lagging
C. 0.8 lagging D. 0.8 leading
Ans.q

Which single phase motor has relatively high power factor?

: 'B. Split phase motor
C. Repulsion motor D. Synchronous motor
Ans. A : ' '

Out of following which one is not an unconventional source of ener gy’

e —— ——""

-

N



. gy
# Tidal power

: Ultiplg gy,
% B. G Ole ue
C. Nuclear energy D. “Z:;h::\:al €nerg, Sons
er
Ans. C
overall thermal efficiency of 3 steam
g0l -24% POWer station i ;
A 18 B. 30- 40% N the fange
b 62% ! 0
c. 44 , D. 68- 79
Ans. A
enera i
902. MPSt of the Eenetatorsiin thermal POWer plants run at
A. 3000 rpm B. 1500
C. 1000 rpm il

D. 750 rpm
Ans. A

g3. Inpower station practice "spinning reserve" is
A. Reserve generating capacity that is in Operation bot not in reserye
B. Reserve generating capacity that is connected to b
us and
take the load ready o

C. Reserve generating capacity that is available for s

ervice but not in
operation :
'D. "Capacity of part of plant that remains under mamtenance

Ans. B
%04. The overall efficiency of boiler in a thermal power plant is of the order of
A 10% B. 25to 30%
C. 40to 50% D. 70to 80%
Ans.D )
905, Cost of operation of which plant is least?
A. Gas turbine plant B. Thermal power plant
C. Nuclear power plant D. Hydroelectricplant
Ans.D _
' the
%6, | a hydro-electric plant a conduit system for taking water from
intake works to the turbineé is known as _
A. Dam . : B. Reservoif
C. Penstock , D. Surge tank
Ans, C



Multiple Choice Questions

907.

908.

909.

910.

911.

912.

edto
In a thermal power plant cooling towers are us
A. Condense low pressure steam

B. Cool condensed steam .
C. Cool water used in condenser for condensing ste;m

D. Cool feed water of boiler
Ans. C

Advantage(s) of hydroelectric power station Is
A. Low operating cost

B. Free from pollution problems

C. No fuel transportation problems

D. All of above

Ans.D

When coal analysis gives fixed carbon, volatile combustible matter, ah
and moisture the analysis is termed as

A. Ultimate analysis B. Proximate analysis
C. Orsat analysis D. Gross analysis
Ans. B ~

‘Generally the major constituent of exhaust gases from a thermal power

plant is : ,
A. Oxygen B. Carbon Monoxide
C. Nitrogen D. Carbon dioxide
-Ans, C - .,

In hydro plants ‘

A._Initial cost is high and operating cost is low
B. Initial cost as well as operating cost is high
C. - Initial cost is low and operating cost is high

D. Initial cost as well as operating cost is low,
Ans. A

In which of the following power plants, availability of power is leas
reliable?

A. Solar power plant
C. Tidal power plant
Ans. B

B. . Wind power plant
D. Geothermal power plant




ﬁ
913.

914, .

915.

916,

« 917,

918,

919,

Multiple Choice Questions
The major disadvantage with solar cells for power generation ns

. Lack of availability B. Large area requirement
C. Variable power D. High cost .
Ans.D

The total power of a wind stream is proportional to

A. Velocity of stream B. (Velocity of stream)?
C. (Velocity of stream)® D. None of above
Ans. C

Load factor during a period is

A. Average load/ Installed capacity
B. Average load/Maximum load

C. Maximum load/Average load

D. Maximum load/Installed capacity
Ans. B ‘ .

Which plant can never have 100% load factor?

A. Nuclear power plant B. Hydro- electric plant
C. Peak load plant D. Base load plant
Ans, C

/
»*

Which equipment provides fluctuating load? -

A. Lathe machine B. Exhaust fan
C. Welding transformer D. All of above
Ans. C :

; ich is in operation but
In a power plant a reserve generating capacity which is in op |

notin service is kngwn as A P
A. Hot reserve .. B. Coldreserve
C. Spinning reserve D. Firm power
Ans. A ’
‘ ; n itis run
A steam power station will run with maximum _eff'::ice:acly whe ;
A. Atlow steam pressure B. On PUf::’;'l’ ::d
C. Athigher speeds D. Near
Ans. D

- 3 '_135



Multiple Choice Questions

920. Which of the foltowiné is likely to result in lower efficiency of a power

station?

A. Varying loads

C. Low turbine speeds
Ans. A '

8. Low voltage generation
D. Non-automatic controls

921. The life of underground cable is taken as

A. 1lyear B. 2year
C. Syear D. 40 year
Ans.D :

922. A diesel power plant is best suited as

A. Base load plant B. Stand-by plant
C. Peakloadplant ° D. General purpose plant s
Ans. B '

923. Which power plant cannot have single unit of 100 MW?.

A. Steam power plant B. Nuclear power plant
C. Hydroelectric power plant  D. Diesel power plant ; ’
Ans.D

923. Hydrogen is used for cooling of large sized generators because
A. It has high thermal conductivity '
- B. Itislight
C. It offers reduced fire risk
D All of above N
Ans.D =

924. A nuclear power plantis invariably used as a

A. Base load plant B. Peak load plant
C. Stand by plant i 2
iy yp | D. Spinning reserve plant

925. For the same plant size, initial cost of which plant is the highest?

A. Steam power plant B. Di
. Di i

C. Nuclear power plant D. G:SS:I el;\igme plant

Ans. C urbine plant

926. Base load plants have




—- 5 ——

+ 927.

.928.

929.

930.

931,

932,

Muitiple Choice Questions
A. High capital cost, high operating cost and high load fact

B. High capital cost, low operating cost and high load fact: r

C. Low capital cost,low operating cost and low load factorr

D. Low capital cost, high operating cost and high load factor
Ans. B

Which of the following is protective device against lightening over
voltages? ‘ ‘

A. Rod gaps B. Surge absorbers
C. Horn gaps D. All of above
Ans.D ‘

In power plants insurance cover is provided for

A. Equipment only © B. Skilled workers only
. C. Unskilled workers only D. Allof above

Ans.D

Skin-effect-results in

A. Reduced effective resistance but increased effective internal

reactance of the conductor s '

B. Increased effective resistance but reduced effective interr)al
reactance of conductor n

C.. Reduced effective resistance as well as effective internal reactance

D. .Increased effective resistance as well as effective reactance

~ Ans.B

Strain type insulators are used where the conductors are

A. Dead ended B. Atintermediate anchor towe::
C. Any of the above ., D. None of above 4

Ans.C

The. current drawn by line due to corona losses is

A. Sinusoidal . B. Square

- C. Non-sinusoidal D None of above
Ans. C

The effect of wiﬁd pressdre is'moré predom:r::::so“

A. Transmission lines B, NeuE e wrs
C. Insulator ' D. Supporting

MS. D »

. ; < — 137



Muitiple Choice Questions ’_‘

m a feeder feeds power 10 .
/ g. Generating stations

D. All of above

933. In transmission syste
A. Service mains
C. Distributors
Ans. C *
934. In atransmission line following are the distributed const-ants
' ‘A. Resistance and inductance only

B. Resistance, inductance and capacitance
C. Resistance, inductance, capacitance and short conductance

D. None'of above '
Ans.C . g

v
A

935. Arelayused on long transmission lines is

A, Mho's relay . %'B. 5 Reactance relay

C. Impedance relay . y-eDe NO relay is used
' \

Ans. A : :

3 &®
936. Total load transmitted through a 3 phase transmission line is 10,000 kW
- at 0.8 power factor lagging. The 12 R losses are 900kW. The efficiency of
transmission line is

A. 60% . B. 90%
C. 95% D. 99%
Ans. B

937. The power transmitted will be maximum when
A. Sending end voltage is more
B. Receiving end voltage is more
C. Reactance is high ’
D. Corona losses are least
Ans. A .

938. Stranded conductors are used f [ .
or transmitti h volt?é™
S | ‘ nsmitting power at hig ‘
A. Increased tensile strength
- C. Easein handling
Ans. C

B. Betterin wind resistance
D. Low cost

939. Incase the height of transmission tower is increased

A. The line capacitance and inductance will not change
. '




’ - Muyg;
g. The line capacitance wil| decrease and line | €@ Questigp,

; i : nduc .
c. Theline capaut'ance will decrease but line inducctt ance wij| decreage
p. The line capacitance will decressq but line indBHCe Will increaqq
unaltered - Tductance wy remain
Ans. D

under no load conditions the Curre
A. Corona effects

¢. Back flow from earth
Ans. B

b ntina tlransmlssion line is due to
B. Capacitance of line

D. Spinning reserve

gs1. Which distribution system is more reliable?
~A. Ring main system
C. Radial system
Ans. A

B. Tree system
D. Allare equally reliable

942. Inasubstation the equipment used to limit short circuit current level js

A. Series reactor B. Coupling capacitor
C. Lightening switch D. Isolator

Ans. A

~

%43.  In order to increase the limit of distance of transmission line
A. Series resistances are used
B. -Synchronous condensers are used
+ C. Shunt capacitors and series reactors are used

D. Series capacitors and shunt reactors are used
Ans. D

%4, Allof the following are leading power factor systems except
A. Under excited synchronous generator
8. Serirs and shunt capacitors

C. Induction motors ‘
D. Overexcited synchronous motors
Ans, ¢
%, . ' ~ -
S The fault clearing time of a circuit breaker is usl:ja"V
A. Few minut B Fawspeans
ey secon:s D. Few cycles of supply voltage
Ans, p >

139



In modern EHV system circuit breakers, the operating timea € g \

946.
al contact separation g
instant of receiving trip signal and fin S Of the Ordi'\
:f 0.001 sec B. 0.015 sec
0 .03 sec
C. 0.003 sec | D. 0.0
Ans. D
947.  For motor circuit breakers, the time of closing the cycle is
A. 0.001 sec _ B. 0.01 sec
C. 0.10sec D. 0.003 sec
Ans.D ; :
948. The fuse current in amperes is related with fuse wire diameter as
A - B. IxD
D ;
G Fotpd D. [x D2
Ans. C

949.  Fuse wire protection system is usually not used beyond

A. ‘10A B. 25A
C. 50A % " D. 100A
Ans.D

950. The number of cycles in which a high speed circuit breaker can complete
its operation is

A. 3to8 ‘ - B. 10t018
C. 20to 30 D. 40to 50
Ans_. A

~

951. In a circuit breaker the current which exists at the instant of cOﬂ"“

separation is known as .

A. Restriking current B. Surge current

C. Breaking current . D. Recovery current
Ans. C ;

952. A Merz-price protection is suutable for
. A. Transformers
C. Feeders
Ans. B

“"w

" B.. Alternators
D. Transmission lines




4

953:

g54.

955.

956.

957.

958.

959,

- - Multiple Chojce uacs:
greaking capacity of a circuit breaker is usually ey ' Questions
A Amperes B. Volts Pressed in terms of
c. MW D. MVA
Ans. D

The arc voltage produced in the circuit breaker is alwa
A. In phase with the arc current e
g. Leading the arc current by 90°

C. Lagging the arc current by 90°

D. In between the lead and lag angles

Ans. A }

In a. circuit breaker the time duration from the instant of fault to the
instant of energizing of trip coil is known as

A. Lagtime B. Leadtime
C. Protection time D. Operation time
Ans.C

In a circuit breaker, time duration from the instant of fault to the'instant
of closing of contact is known as

A. Recycle time B. Total time
C. Gross time D. Reclosing time
Ans.D

For a high speed circuit breaker the total clearing time is nearly

A. 1to2cycles B. 5to 10cycles
C. 10to 15 cycles D. Less than 50 cycles
Ans. A

Which relay is used for feeders?

A. MHO relay B. Translay relay
C. Merz price protection D. Buchholz relay .
Ans.B

A fuse wire should have i int
A. Low specific resistance and high mi::lngp‘:;nt
B. Low specific resistance and |°)” meeni:g point
C. High specific resistance and highm

oint
D.. High specific resistance and low melting P | Ay -

Ans.D — 141



Multiple Cholce Questions — EE— \

960.

961.

962.

063.

964.

965.

. 966.

142

to
Cables can be generally used up 8 1000V

T o

Ans.D
cables depends on

The size of conductor of power s
' insulation A

2' \1;?[);:: " D. Power factor

Ans. B

A zero watt lamp consumes.

A. No power
B. About 5 to 7 watts of power

C. About 15 to 20 watts of power
D. About 25 to 30 watts of power

Ans. B

A DC generator used for AC welding should have
" B. Drooping characteristics

A. Rising characteristics
D. None of above

C. Straight characceristics
Ans. B '

"The power factor of load using welding transfofmer least depends o

B. Type of electrode

A. Arclength
D. Material to be welded

C. No. of operating stations
Ans.D

Which type of wattmeter cannot be used for both A.C and D.C?
B. Electrostatic type

A. Dynamometer type
D. None of above

C. Induction type
Ans. C

\{Vhen t.he damping of an instrument is adjusted to enable the point®' v
rise quickly to its deflected position without overshooting, in that &

the instrument is said to be
B. Off beat

A. Dead beat
C. Over damped D _
Ans. A g D. Under damped




MU"IpIe cho’
. hen the damping force is more than ons: ce Questiq,
67. w q Optimum, INStrument wi
9 A Dea ik B. Oscnllatmg Will becoma
rgic
c. Slow and letharg D. Fastand sensitive
Ans. €

when shunt resistance of a galvanometer circuit is increased, j

A. current sensitivity increases B. Current Sensitivity decré .
ases

C. Damplng increases D. Controllmg torque decreases

Ans. B '

968

o9, Bridge used to measure dielectric loss of an insulator is
A. Anderson bridge ‘B. Wein's bridge

+ (. Schearing bridge D. Any of above
" Ans.A :

970. Synchro is a transducer
A. Variable reluctance
C. Parabolic
Ans. B

B. Angular'position
" D. Synchronizing

971. A Ryal! Crest voltmeter is used to measure

A. Peak voltage B. RMS voltage
C. DCvoltage D. All of above
Ans. A

972. In athree phase half wave rectifier, each diode conducts for a duration of

A. 180° B. 120°

C 90" D. 60°

Al'ls. B : '

C motor?

3. Which of the following finds application in speed control of D

A. FET B. NPN transistor

C. SCR D. None of above

Ans, C . ‘

: cteristics IS

974' A device that does not exhibit negative resistance chara

A. FET g. UIT

C. Tunnel diode D. SCR

Ans. A

s .



Multiple Choice Questions e i |
‘ S
975.  Thyristor ¢ oed off WRER 3T, ™ oy ching current

A. :°’|‘3’_a’d a::;enflt D. Break over current
C. Holdingcu -

Ans. C

chieved through the use of
B. R across thyrisor
D. RL across thyristor

976. In thyristor, dv/dt protection is @
A. L across thyristor
C. RC across thyristor

Ans.C |
977. For athree phase, 6 pulse diode rectifier, average output voltage s
A2y B. 3Vu/7
v =V :
L ' D. None of above
C. 3v3~ :

Ans.B

978. In 10 full converter, for load current | ripple freg', average thyrister

current is 3

A. (174)1 | B. (1/2)1 \
C. (3/4)1 D. 1

Ans. B

979. In 10 full converter, number of SCRs conducting during overlap

A 2 : B. 4
C.’6 D. 8
Ans. B

980. When one of three series resistors is removed from a circuit and the
circuit is reconnected, the current ,
" A. Increases
B. Increase by one third
C. Decreases by one third

D. Decreases by the amount of current through the removed resistor
Ans.A ‘ 4

. vald®
981. The total power in a certain circuit is 12 W. Each of the four equah?

series resistors making up the circuit dissipates
A. 12wW ‘B. 48 W

C. 3W ,
Ans. C Py 8W

g w
| i




4 rA" the voltage drops and the source yol Multipje Choice Questio,
82 ircuit is equal to e
" The total of the voltage drops

g. The source voltage

c. Zero 2 :
p. The total of source voltage and voltage ¢
53 Aﬂs- C ' ’ % w4 SPS . ‘
; , \
24V and a 6V battery ar : 5 e
983. ::..a 20V . et 2 seru;s o;;p\c;s_mg, the total voltage s
Ans. C

984. The output of a certain voltage divider is 12 V with no load. Wh
is connected, the output voltage en a load

A. Dgcreases B. Increases
C. Remains same D. Becomes zero
Ans. A

q85. The parallel combination of a 4709 resistor and a 1.5 k 9 resistor is in
series with parallel combination of five 1 k€ resistors. The source voltage
is 50 V. The percentage of the load current through any single k0

resistor is

A. 25% B. 20%
.C. 100% D. 50%
Ans.B :

986, In a certain series resonant circuit, VC = 125V, VL =125V, and VR = 40V.

The value of source voltage is

A. 125V : B. 250V
C. 290V D. 40V
“Ans.D

ss the resistor and 15

sured acro o
mea urce voltage IS

tor. The rms s0

987,

In a series RC circuit, 12 V(rms) is T
V(rms) is measured across the capaci

A. 3V - B. 27V
c D. 19V
. 19.2v

Ans. C
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Muitiple Choice Questions —-—“

988. When the frequency of the source voltage decreases, the impedanc, ofy
parallel RC circuit

B. Decreases
A. Increases b
C. Does not change D. Decreases to zero
Ans. A
989: An AC circuit consists of a resistor and a capacitc?r. To increase the Phase
angle above 45°, the following condition must exist:
A. R=XC B. R>XC
C. R<XC D. R=5XC
Ans. C
990. A 5mH, a 4.3mH and a 0.6mH inductors are connected in parallel. The
~ total inductance is
A.,9.9mH B. Greater than SmH
C. 9.9mH or greater than SmH D. Less than 0.6mH
Ans.D
991. A 2mH', a 3.3mH and a 2.2mH inductors are connected in series. The total
inductance is '
A. 55mH B. Lessthan 0.2mH
C. Lessthan 5.5mH D. 5.5mH
Ans.D
992. The winding resistance of a coil ¢an be increased by
A. Increasing the number of turns
B. Using a thinner wire
C. Changing the core material _
D. lncreafing the number of turns or using thinner wire
Ans.D ‘
993,

When the current through an ind

. uctor decreases, the amount of ener/
stored in the electromagnetic fiel

d
A. Increases " B. Decreases
C.” Remainsthe same -D. Doubles
Ans. B

994. The inductance of an iron

~core coil decreases if
A. The number of turns i

S decrea;ed

’“w



5.

996.

997.

938,

999,

| —

Mmulg

B. The iron core is removed Ple Chojcq Questiong
c. The length of the coil decreases

D. None of the above

Ans. A

When the current through an inducto

. uctor is cut in half,
energy stored in the electromagnetic field

A. Is quartered B. Quadruples

C. Doubles

D. Does not Ehange
Ans.A .

the amount of

In applying the superposition theorem ;

A. The sources are considered one at a time with all others replaced by
their internal impedance

All sources are considered independently

All sources are considered simultaneously

The sources are considered one at a time with all others replaced by
their internal resistance

Ans. A

B.
C.
D.

\

In order to get maximum p

ower transfer from a capacitive source, the
load must s

A. Have a capacitive reactance equal to circuit resis.tance

B. Have an impedance that is the complex conjugate of the source
impedance _

C. Be as.capacitive as it is inductive

D. None of the above

Ans. B

; \ itions, it is
- A6V battery is connected to a 300 9 load. Under these conditions

ad?
rated at 40 Ah. How long can it supply curren§ to the lo

A 1h o B

C. 2,000h Y or Bl
_Ans.C

" 7

A half-watt is equal to how many mllls_,w"é:‘tl\tls

A. 5,000 mw = 50 mW

C. 500 mw P

Ans. ¢
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Multiple Choice Questions

1000.

1001

1002.

1003.

1004.

~1005.

1006.

-A._ls not affected

in 15 s. The po
les of energy are consumed i Power js
9 d jou
Three hundre

2W
A. 2,000W D. 200W
C. 20W
Ans. C

h continuous current can be drawn from a 60 Ah battery
How much con
14 h?

o B. 428A '
A 42 . D. 4.2A

C. 428A '

Ans. C

A 68  resistor is connected across the terminals of a 3 V battery. i
power dissipation of the resistor is

A 132 mW B. 13.2mW
C 22.6mW D. 226 mW
Ans. A

If the_value of C in a series RLC circuit is decreased, the resonant
frequency

B. Increases
C. Isreduced to zero D. Decreases
Ans.B

The conductance of an 8 0 resistance is

A, 12.5mS B. 8msS
C. 125 D. 125ms
Ans.D -

A two-terminal variable resi i
esistor is k
A. Potentiometer b

C.. Rhmostar B. Thermistor
Ans, C D. Wiper
When the speed cf
: at which : jnetic
Is increaseg, the inducegq vZI:::: kA s
NCreases
C. Remaing 8. De
o « Decreases .
Ans, onstant

D. Reacheszero -




T

1007,

1008.

1008.

1010.

1011,

1012,

1013,

Multiple Chole
0 Questio
The induced voltage across a coll with 250 1y t na
ns th

magnetic field that is changing at a ¢

A is located |
ate of 8 W/ is SO
A. 1,000V B. 2,000y
C. 3;.25V D, 3,125V
Ans.

For a given wire wound core, an increase in current th

. ' rough i
A. Reverses the flux lines 8 the caf
B. Decreases the flux density
C. Increases the flux density

D. causes no change in flux density
Ans. C

If the cross-sectional area of a magnetic field increases, but the flux
remains the same, the flux density

A. Increases B. Decreases

C. Remains the same D. Doubles
Ans.B

When the current through the coil of an electromagnet reverses, the
A. direction of the magnetic field reverses

B. direction of the magnetic field remains unchanged

C. magnetic field expands

D. magnetic field collapses

Ans. A.

The unit for relqctance is

A. Tesla B. At/Wb
Ans. B

' handle a
What kVA rating is required for a transformet e W
maximum load current of 8 A with a secondary voltag

A

A. 4 KkVA B. g'ia:v

C. 16kVA D. i
Ans. C ; :

winding and 2,000
A certain transformer has 400 turns in the pfimaf‘/'

tio is
turns in the secondary winding. The tu(ns L

X — 149



Multiple Choice Questions
| A B. 0.4

A. 0.2 . o
€: 5 |

Ans. C

014. The primary winding of a transformer has 110V AC across it, What i the
- secondary voltage if turns ratio Is 8?7

B. 88V
2. g:ovv D. 8,800V
Ans.C

1015." In a certain loaded transformer, the secondary voltage is one-fourth the
primary voltage. The secondary current is
A. One-fourth the primary current
B. Four times the primary current
C. Equal to the primary current
D. One-fourth the primary c¢urrent and e

qual to the primary current
Ans. B '
1016. The primary winding of a power transformer should always be
A. open B. shorted
C. switched D. fused
‘Ans, D ' :
1017. I a certain transformer, INPUt power to primary is 120W. If 8.5W are b
to winding resistance what is the out . lecting
. ¢ ut d, negle
any other issues? : P Boer o the log ’
| A. 0w . B. 141w
C 1115w D. 1.0
Ans. ¢ + Lo20w
1018. The maximum o
utput . . . The
Output voltage at t:e c,’;?hage °f a certain low-pass filter is 15 V:
A OV tical frequency is
C..10.60 8. 15V
Ans, ¢ D. 2121y
sting of tra :
A. Bushings to with tarormers i o



102,

2

— ' -

" (. windings to withstand volta

r 10200

'C. Field emission tubes

1021,

1022.

1023,

1024,

105,

Mumplo Choice Quuvons

ge fluctuations
p. all of the above

. Ans.B

Vacuum insulation is used in a|| of

the following EXCEPT
A. Particle accelerators

B.. EHT of color TV

D. X-rays
Ans. B

All of the following dielectric ma
applications EXCEPT
A. Polyethylene

C. Teflon

Ans. B

terials are preferred for high frequency
" B. Butyl rubber
D. Polystyrene -

The output of a NAND gate when both the inputs are high is

A. High B. Low
C. High-high D. Low-low
Ans. B ‘

A 100 W bulb is connected in series with a room heater. If now 100 W
bulb is replaced by a 40 W bulb the heater output will ;

A. Increase B. Decrease
C. Remains same D. Uncertain
Ans, B

Kirchoff's La'wﬁ are applicable to circuits with

A. Lumped parameters’ B. Passive elements
C. Non-linear resistances D. All of these
Ans, A

Thermocouple isbased on

A, Seeback effect B. Thomson effect
+ Joule's law D. Hall's effect
Ans, A

Acc‘"dins to fuse law, the current carrying capacity varies as :
A D B. D%

C DY, D. 1/D

Ans, ¢

h 18t



Multiple Cholce Quostions  |IEEEE— ‘\

1027. Laplace transform of a unit step function Is

A. 1 B- Sz
C. 1/s D. s
Ans. C

1028. The laplace transform of e Cos(wt) Is |
A, (S+pa) / (S+a)* + w? B.'S. ./ (S+a): + w:
C. (S+a) / (S+a)* - w? D. § / (S+a)* - w

Ans. A .

1029. An electric circuit with 10 branches and 7 nodes will have

A. 3 loop equations B. .4 loop equatiqns
. C. 7loop equations D. 10 loop equations
Ans.B

1030. The surface integral of the normal component of the electric
displacement D over any closed surface equals the charge enclosed by
the surface. This statement is associated with
A. Gauss's law & B, Kirchoff's law
C. Faraday's law ' D. Lenz's law
Ans. A

1031. A network is said to be a non-linear if it does not satisfy
A. Homogeneity condition
B. Superposition condition- '
C. Both Homogeneity condition as well as superposition condition
D. Homogeneity, superposition and associative condition
Ans. C -

1032. Instrument used for DC measurement alone is

A. Moving iron type . B. Permanent magnet type
C. Electrodynamic type D. Induction type
Ans. B \

1033. As the height of the transmission tower is increased, the line capaciten®
and line inductance ------- == and -—------- respectively.

A. Decreases, Decreases B. Increases, Decreases

C. Decreases, Remains unaltered D. Increases, Increases
Ans. C ;

- 152 y
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1038,

1039,

E— |
7
1034.

1035.

1036.

1037,

Multiple Chojce Questions
Addition of Zeros in a transfer function causes

" A. Lead compensation B. Lag Compensation

C. Lead lag compensation D. Interval compensation
Ans. A

The knowledge of transfer function of a system is necessary for the
calculation of

A. Output-for a given input
C. Order of the system
E. All of the above

Ans. E

B. Steady state gain
D. Time constant

Which of the following techni

que is not applicable to non-linear system?
A. Functional analysis

B. Nyquist criterion

C. Quasi linearization D. Phase plane representation
Ans. B
The SCR is @ ~-=----- device.

A, Uni-directional

C. Tri-directional
Ans. A

B. Bi-directional
D. Two terminal

The most commonly used transistor arrangement is =--—--m-s,
A. Common emitter . B. Common base

C.. Common collector D. None of these
Ans, A

The shunt derived series fed feedback in an amplifier
A. Increases its output impedance
B. Decreases its output impedance

C.increases its input impedance
D. BothBand C
Ans. D ’

g FET (L FE— device.

A. Half power B. Logarithmic
C. Unear -D. Square law
Ans, p

h 18



Multiple Choice Questions

1041.

1042,

1043,

1044,

1045.

1046.

1047.

1048.

154

A pulse transformer uses a - core.

A. Copper B. Iron
C. Ferrite D. Air
Ans. C

Which of the following can be generated by the use of 3 Mong

stablg
multivibrator?

A. Sweep B. Sinusoidal

C. Pulse D. Any of the above

Ans. A

The best electronic device for fast switching is

A. BIT B. Triode
C. JFET D. MOSFET
Ans.D

The minimum value of current required to maintain conduction in an SR
is called its --- current.

A. Commutation B. Holding
C. Gate trigger D. Breakover
Ans. B

An ideal voltage amplifier should have

A. Ri=0 ,R;=0 B. Ri=0 ,Ry=00
C. Ri=ee ,R,=0 D. Rizeo R, =00
Ans. C :

An ideal current ampilﬂer should have
A. Ri=0,R;=0 B. RI:O‘R‘,:M
C. Ri=ee ,Ro=0 D. Rizeo R =00

Ans. B

How many flip flop circuits are needed to divide by 16?
A. Two B. Four

C. Eight D. Sixteen

Ans. B ‘

64 Kis
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_ ‘ —— Multiple Chojcq Questions
A 6400 B. 64000
C. 65536 D. 66536
Ans. C
1049, The mnemonics used in writing a Program is called
A. Assembly language B. Fetch cycle
C. Micro instruction D. . Object program

Ans. A

1050. XOR function can be realized by a minimum of

A. 2 NAND gates B. 4 NAND gates
C. 5 NAND gates D. 3 NAND gates
Ans. C

1051. Magnetrons are commonly used as radar transmitters because

A. . High power can be generated and transmitted to aerial directly from
\ oscillator '

B. Itis easily cooled |
C. Itis a cumbersome device
D. ‘All of the above

Ans. A

1052, 'Which of the following is essential for fast communication?

A. High S/N ratio B. High channel capacity
C. Large bandwidth D. All of the above
 Ans.A’

1083. Lissajous patterns obtained by an oscilloscope can be used to get
A. Phase information B.  Frequency of input signal
C. Both frequency and phase information '
D. Voltage amplitude

Ans. C
1054. An oscilloscope is generally used to measure the value of -—----- voltage
A. DC B. RMSAC
C. Peak to peak AC D. Average value of AC
Ans, C '

1055, The inverse fourier transform of the function F(w) = 1/ jw TT §(w)

|




Multiple Cholce Questions M
. . Cos ol

1056.

1058.

1059.

1060.

* 1061.

1062.

156

i et S e bk dhim i v

B
A. Sin ot D. U(t)
c. Sin(t)
Ans. C
The fourier transform of a unit step fun(jctic;n isjgiven by
: B. F(jw=Jw
A F(w)= /@ o
c Fluw= Vv D. Flw= 1/w
Ans. C
The form factor of a 220V, 50 Hz AC waveform is
" K 18 B. 1.14
¢ 111 D. 0.85
Ans. C
Conductors have an excess of
A. Free electrons, ~+ B. Electrons
C. Protons D. Neutrons
Ans.
In superposition theorem, independent current sources are replaced by
A. Short circuit B. Open circuit
C. Close circuit D. Active circuit
Ans. B
‘Which wave has the highest value of form factor?

~ Ans.D

A. Sine wave : B. Triangular wave
C. Square wave D. Half wave rectified sine wave

Orthogonal means two lines

A. Parallel to each other B. Perpendicular to each other

C. Copla )
i Bp nar D. None of these

Afuﬁct!onal soft ate
ware is mana
A. Computer ged by

B. Computer ﬁ:zm"‘"‘e' but not computer organization
C. Not Compme,g;:;" mer and computer organization
D. Not Com grammer, not computer organization

uter pr
Ans.D Programmer but computer organization




|
Multipye Choice Questions

ccuracy of an instrument is defineg as '

4063 A precision+ Calibration error g, Precisj

2' Precision + sensitivity

on + Significant figure
Ans. A

D, Precision + resolutign

The bandwidth of an optical fibre can pe in

Creased by
WDM B. TDM
2- EOM D. None
Ans. A ; ~
. if ihe angle between voltage and current is 90 then the power consumed
1065. |
e ? q g
':.Zero . ' B. Maximum
e Kl D. Half
Ans. A
W Ry &0ke
Ri h

Q6w | E\)“C?'

Vi )_U
1066. What will be the output Vo? B. -12
A 12 ;
D. -6
C.6 '
E. 0 -,
Ans.D
- Fourier cosine.
1067, Fourier transform imposes __Bp a"(';:;;or
A.t Even .
. None
G Both evéand odd D
Ans. A

157



Multiple Cholce Questions

1068.

" 10689.

1070.

1071.

1072.

The ideal delay system is defined by the equation

Y[n] = x[n-nd], - ce<n< e Wherendisa fixed negative integer in the

above equation, then the system would.

A. Shift the input sequence to the right by nd samples to fo, the
output : '

B. Shift the input sequence to the left by nd samples to f?l.’m the outp,,

C. The output of the system remains unchanged for positive or negayy,,
values of thend - ) )

D. The system will become unstable and output will remain undefineq

Ans.B '

Which term relates analog and its discrete representation?

A. Sampling B. Quantization
C. Digitization D. None of the above

Ans. B

The stability of a general 'dynamical Syétem with no input can be
described with __ stability. '

A. PID . - _B. Lyapunov

C. Haralop : D. None

Ans.B

A Function is if it lies in open interval.

A. Different_iable . B. Dependent
C.,Independent . - D: Not differentiable
Ans.A - 3 ' ‘

-

Fourier transform of discrete time system is represented as

A. continuous frequency spectrum continuous time response
B. discrete frequency spectrum discrete time response

C. discrete frequency spectrum continuous time response

D. continuous frequency spectrum discrete time response

" Ans.D

1073.

A. Parabolic

d (function)® / dt* =1/k x ¢ (function) / dt is known as -

B. Elliptical equation

C. Telegraphy D. Laplace equation

Ans. C

’




& e
f ' ‘. Multiple Choice Questions
/ [f(x)sin (x)+eo—o= is known as ;

1
ot & Gibbs B. Euler equation
C pirichlet _ D. Green
AnS. B
«tion theorem applies to a circuit whi
superpOS'tlon Circuit which hav
e current SOUTCeS. “ = € __ voltage and
A, More than one B. More than two
¢. More than three D. None
Ans. A

1076~

1077.

1078.

1079,

1080,

Matrix has m rows and n columns the order of the product of both
matrices will be

A M ) B. N
C mXxn D. n xm
Ans. C

In Thevenin Theorem the equivalent resistance is connected in series
with |

'A. Voltage source : B. Current source \
C. Power source - D. None of these
Ans. A

Electric lines of force at right angle to its length tend to -

‘A. 'MOVE AWAY FROM EACH OTI;lER

B. ) Cross each other
C. Come close to each other

D. None

Ans. A

Current carrying conductor at right angle to the magnetic field
experiences .

A. Force 1L 4 B. Torque

C. Momentum D. Acceleration

Ans, A : .

The armature reaction of an unsaturated DC machine Is

A. Non magnetizing _ B. Magnetizing . ‘
C. Demagnetizing D. Cross magnetizing -
Ans, D :

_-——_"_ ' / . 3
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% : —- former oil are adversely affe Y
1081. The insulating pilropertles of trans Cteg thhE

presenceof « ' ;

A. Oxyeen v B. Copper
c' O’z(:ﬁe : D. Moisture
Ans. D
1082. Which type of instruménts can be used for the measurement of AC only
* A. Movingiron type B. PMMC type
C. Induction type . D. None of the above
. & Ans. C

1083. Super heated steam is always
! A. at a temperature higher than the saturation temperatyr,
, corresponding to a steam pressure
B. at a pressure more than the boiler steam pressure
C. separated from water particles before being supplied to turbine

R D. ata pressure less than the maximum cycle pressure
Ans. A

. 1084. The __ dictates that higher ‘efficiencies can be attained by increasing
the temperature of steam. :

A. Steam efficiency B. Carnot efficiency
C. Mechanical efficiency . D. None ;
Ans. B ,

1085. Which is not a part of steam turbi

ne or coal fired power plant?
A. Condenser :

B. Boiler
C. Superheater D. Moderator
Ans. D
1086, ---emeeeee- energy needs no boiler/ ' ' rally
condense use natu
. occurring steam source. r since they :
;. A. Geothermal B. Hydel
C. Solar ;
Ans. A - D. None of the above.

1087.

e include
ystem protection devites ind

,ec:nomy and simplicity.

: ' Compatibility
160 w

.~ . ‘
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’——— ] . TTHIupIe LNoIce Questions

C. Ruggedness D. None
Ans. A
--------- interrupting contacts af a circuit breake
0es WhICh enable circuit breaker to be removed. "R o of contacts
A. withdrawal B. ‘Disconnector
C. Plugin circuit breaker D. Current limiting
£. Moulded case
Ans. B
1089. Which analysis deals with the effect of disturbances on power system?
A. Fault trend analysis B. Sinusoidal analysis
C. Stability analysis D. Line power analysis
E. Load flow analysis
Ans. C
1080, The ____ of an equipment is specnf" ied by manufacturer the rating of
circuit breaker as making rating.
A. Rated making capacity
B. Rated breaking capacity
C. Rated ultimate short circuit breaking capacity
D. Rated short circuit breaking capacity .
E. Rated short circuit making capacity
Ans. E SRR '
1091. The terminal of an element is called or vertex is also called as
A. Edge B. Limit
C. Zero D. Node
E. Rim
Ans.D
1052, — is defined as subgraph of connected element when not more than
two elements connected to any node.
A. Planar graph B. Path * : 3
C. Route - m 3 ‘D. Linear graph
E. Tree
Ans, B
1()92

A

| oo is the point from where power is SUPP

lied to the induction motor.
Stator B. Rotor -

“ 161



C. Slip rings D. Commutator \

Ans. A

1093. Power switches are divided into ____Broups.

A 2 B. 4
C.-5S D. 7
Ans. A

1094. If F (jw) is the Fourier transform of f(t), than

A. £ f(-t)=F (jw) B. £f(-t)=F *(jw)
C. £ f(-t)=F (-jw) D. £f(-t)=F *(- jw)
Ans. B

1095. Binary of decimal 0.6875 is

A. 1.1011 B. 0.01011
- C. 0.1011 D. None
Ans, C .

1096. Which of the following is not a basic component of a transformer?

A. Primary winding B. Secondary winding
C. Core D. Mutual flux
Ans.D

1097. The faults due to lightning and storm damage are called
A. Line to Line faults

B. Single line to ground faults
C. Double line to ground faults
D. Ground to ground faults
Ans. B ‘

1098. AV =—P/E iscalled
A: Maxwell equation

‘B. Poisson equation
C. Laplace equation

D. Continuity equation

Ans. B

1099. Concept of sending/receiving text etc on computer networks Is
‘A. Online database B. Email
C. Tele conferencing D. Tele Printing

Ans.B y :

62 “./
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p— T — m.mlple Choice Questions
00. Drawback of 1R (Infinite impulse response) filters is
A. Instability B. Non linear
C. Causal D. All
Ans. B
1101. Full wave rectification needs minimum __ number of diodes.
A. Four B. Two
C. One D. Six
Ans. B
1102. A circuit of zero lagging power factor behaves as
A. An inductive circuit B. A capacitive circuit 0
C. R-Lcircuit D. R-C circuit /
Ans. A ¢
1103. In order to improve the power factor which device should be connected
to the power system
A. Series capacitor B. Shunt capacitor
C. Series reactor D. Shunt reactor
Ans. B
1104. In an induction miotor when the air gap field hetween rotor and stator
increases power factor of the machine
A. Increases B. Qecreases
C. Does not have any effect  D: No'qg
Ans. B
. oty
1105. The power factor of an ac circuit is equal 'tof;t'h —
i e
A Coslr of e phase o6 > zmt‘:!:gent of the phase angle
C. Tangent of the phase angle D. (0 : .
Ans. A \
: t of the current.
1106, 1n an ac circuit i x sin (Phi) is called th: = c:is:‘m"e"
e : X
A. Wattless B.. S hesboE. G
C. Quadrature D. A 4G
Ans.D .- S
3 * lve because of -,
‘ tals, electrons revo RS
oy, According to free electron theory, In metais, | ‘

. . i s s T



murupie Choice Questions

B. sinusoidal V

A. constant V
D. triangularV

C. squareV
E. non periodicV
Ans. A

1108. Which of the following is not base load power-plant?

A. Pump storage B. Run water
C. Diesel D. Nuclear

Ans. A

1108. The common emitter short circuit current gain is

A. 0 B. 1
C. 10 ; D. 100
Ans. B

1110. By increasing frequency the current in series resonance circuit before
A. increase before resonance and decreases after resonance
B. Decrease before resonance and increase after resonance
C. Increase before resonance as well increase after resonance
D. None of the above
Ans. A

1112. A steam power generation has an overall efficiency of 20 %. 0.6 Kg of coal
is burnt per kWh of electrical energy generated. Calculated the calorific
value of fuel?

A. 7166.67 kCal/kg ' B. 7611.45 kCal/kg
C. 6921.23 kCal/kg D. None of the above
Ans. A

1113. The ripple factor of a Half wave rectifier

A. 0.5 B. 1.21
C. 0.482 D. 1.11
Ans.B

1114. In case of photo conductor for Germanium when forbidden energy 83 |
0.72 eV, the critical wavelength for intrinsic excitation will be

A. 1.73 micro-meter B. 15 micro-meter
) C. 1.3 micro-meter D. 2.73 micro-meter
Ans. A

g e _
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Mumple Choice Quosﬂons

» 1000 w electric kettle if it
t1s Minutes?

ill be the thermal efficiency c?f a 249 v
5 e “ZH:iters of water at 15° C to boiling poin
ph> prings

B. 78.96 %,
A 7456 %. D. 80.25%,
79.33 %.
C.

s. C . -
i omponents of the fault current are as follows : 1 4+ - j1.5
The sequence ¢ Iz =?jpu Which fault is this?

116 yl- =?j0.5puy, B. LLG fault
2 LG fault D. None of the above
: It -
c. LLfau
Ans. B

rhead line conductor h nit length of Henry..
7. Anave li ctor has an inductance ;?er ::l : |i e
= he entire lmedium around the conductor is f‘"ed with a dielectric
| r . r vity uctance will be
. ial ofl p;e mittivity ( ? ), then the induct b
mate

B. €/L
e D. Infinite
C.0
Ans. A

g
A

i tio
8. Damp'"S_ra
A. Natural frequency D. Settling time
C. Peak time '
Ans.D

sured with:
1119, High ac voltages are mostly mea

A. electrostatic voltmetersnd i r

B. potential transformer a i
s t transformer and pote |

C. curren S

D. voltmeter and multiplie

Ans, B : . ;
eso
‘ resents lin vershost
1, Horizontal line in the S plane R 5 Percentagi:ﬁnng -l
A, Damping ratio . D. Maximum
. 'constant peak time
Ans, ¢ N s
-- repe
. r -
y TYPes of robotics is done fo a3
A 1 o4
0.5
Ans, g
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Multiple Choice Questions

1122,

1123.

1124,

1125.

1126.

—-type of robotics is done for Menial task.
A 2 B. 1
C. :3 D. 4
Ans. C
In PLC each program line is called

" A. Rung B. Step
C. Line D', All
Ans.B '
In PLC — is replaced by
A. Motor ~ B. Machine
C. Relay ‘ . D. All
Ans.C

As compared to 2-wire DC system the volume of conductor material
required in 3-phase 3-wire AC system is

A. 2/Cose : B. 3/cos?
C. 0.5/cos? ; . D. 4/cosy
E. 1.5/cos% -

Ans. C

Q-factor is

A. Directly proportional to resistance of coil
B. Inversely proportional to resistance of coil

" ¢. Independent of resistanée of coil

- D. None

1126.

1127.

‘l166

Ans. B

4 Condensers / Capacitors are connected in parallél with capacitance“
micro-F, C-eq will be : )

A. 16 micro-F B. 4 micro-F -
C: 1 micro-F o D. % micro-F

Ans. A i ' A
Current across 90 Ohm resistor is to be reduced by 90% which resisto’
should be connected in parallel to it :

- A. 10 ohm B. 900 ohm '
C- 90 Ohm D_ 45 ohm b
Ans. A ~
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1129.

1130.

1131

1132,

1133,

1134,

Multiple Choje
UniOfi of two evepts'P(a) and P(b) is p (a U p )= €0 Questions
A P(a)+P (b)-P(a N b)
_pf@ *+ P (b)

c. P(a)+P(b)+P(a N b)

D. p(a)+P(b) +P(aU b)

Ans. A . /

Minimum acceptable range of biasing voltage for operational amplifier i
A -18to+ 18 , B. -15to +15 plitier is
C.--10to +10 : D. -5to+5

Ans. A

In most of the op-amps the level of the roll off is approximately
A. -3db S B. -6db

C. -12db D. -18db

Ans.B o

* .20 dB / decade or -6 dB / octave
‘In a cumulatively compound DC motor shunt and series field winding

A. Multiply each other " B. Subtract each other

C. Add each other D. None

Ans. C ’

DC series motor is known for its ;

A. Torque . B. Speed

C. Power , ' D. None

Ans. A ‘

To decrease the power in control system we use

A. Open loop system | B. Closed loop system

C. Open loop and closed loop system

D. None

Ans, A

\:lhat is power factor? : WA
- True power/apparent power B. K
C. R/z {opP D. All of the above

Ans, D

. ‘ |-\ / . . ‘ 167
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1135.

1136.

1137.

1138.

1139.

1140.

168
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Generally speaking a digital multimeter with ammeter, Voltme ter
ohm meter are used to measure current, voltage and resistance If ¢ ®

3 are taken on a single unit is called thesy
A. Low pass filter B. High pass filter

C. Band pass filter D. Analog to digital converter

E. Digital to analog converter

Ans, D

In a 3 phase 4 wire AC system the number of voltages we getis

A. Two B. Three
C. Four D. None
Ans. A

In an LTI system, if all the poles and zeros are inside the unit circle thep
A. Itsinverse does not exist

B. The system is causal and stable

C. The inverse of system is causal and stable

D. Both system and its inverse are causal and stable
Ans.D

Z-Transform is used when signal is not
A. Absolute summable B. Squarely summable

C. Converges D. Diverges .
E. A B,andC
Ans. E

In which of the following power plant the availability of power is Jeast
reliable '
A. Solar B. Wind

C. Tidal D. Geothermal
E. Biogas

Ans. B

. ) . ; rhow
__listhe source which gives constant voltage (V=E) n0 matté
much current is drawn from it.
A. ldeal voltage source B. Real voltage source

C. Ideal current source D. Ideal resistance source
E. Real voltage and current source

o ,

F




- | | e Multiple Chojce Questions
p power in inductive reactance of the circuit is calle

A, Active power B. Reactive power
c. Apparent power B. None
Ans. B

1142. |deal transformer has the following properties
A. Zero winding resistance or no copper loss

g. Zero core losses C. No leakage flux
D. infinite permeability - E. All
Ans. E

1143. Output variables are known as

A. Dependent variables B. independent variables
C. constant variables D. zero variables
Ans. A 4

1144, Circuit that produces output without external signal source is obtained

from

A. Filter B. Amplifier
C. Oscillator D. None
Ans. C '

1145. Diode limiters are used
. A. To clip positive input cycle
B. To clip negative input cycle
C. To add a DC level in input cycle ;
D. To clip both positive as well as negative input cycle

Ans.D
1146, s used for converting signal from time domain to frequency
domain. :
A. ROC B. Fourier transform
C. Fourier series - D. Laplace transform
Ans. B ;
1147. DIAC s a two terminal ___layer device.
A. One B. Two
C. Three D. Four
Ans. D i ;
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1148.

1149,

1150.
1151.

1152.

1153.

1154.

170

D. None

Ans. A

Voltage is differencein ______ hetween two points.

A. Electric pressure B. Magnetic pressure

C. Pneumatic pressure D. Hydraulic pressure

Ans. A

Oscilloscope measures ‘

A. Current ) B. Voltage

C. Resistance D. None : .,

Ans.B

‘Superposition theorem is used to solve network.
- A. Thevenin B. Norton '

Load factoris

A. Average load / peak load

B. Peak load / average load

C. Average load / connected load

C. Both Norton and thevenin D. Newton
Ans. C '

Ripple frequency of a bridge rectifier is’
A. same as the input frequency

B. double the input frequency

C. half the frequency

D. None

Ans.B

The Norton equivalent of a circuit consists of an ideal in parallel
with an ideal impedance or resistor for non-reactive circuits.

A. Current source -B. Voltage source

C. Power source - D. None

Ans.A

Automatic circuit controller or circuit breaker will when a fault oceurs
in the system. ‘ -

A. Open B.' Close

C. Trip asensor alarm D. None

Ans. A ~

-
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f (155, Whlph motor gives best variable frequency s Choice Cuestions
: A, Variable frequency drive B. VJoundpr:: controf?
’ or
I E: Tractlon motor D. Shunt motor
! Ans. B
(156, The technology of long-distance communication is known as
A. Mass communication B. Telephony
i. sTc(a:lecommumcanons D. Mobile communication
ARS.
1157. The turn on voltage of a Germanium (Ge) junction diode is —— voit.
A. 0.7 '~ B. 10
c. 01 - ° - D. 0.3
. Ans. D
1158. A tunnel diode
A. Is a highly doped P-N junction device
B. Isa gallium arsenide device
C. Is a point contact diode with a high reverse resistance
D. Has a small tunnel in its junction
Ans. A
1159. FPGAis
A. Reprogrammable silicon chip
B. Programmable routing resource
C. Logic block '
D. High sensitivity silicon chip
Ans. A
. : f stack in 8086
_ 1160. Which instruction is used to copy 3 specific word totoP @
microprocessor?
A. Copy B. Mov
C. Push : D. PushA
Ans.C
nd 2KHZ
1161, Is have frequen of 998KHz 2

If carrier and modulated signa ideband frequencies e

respectively, then upper S‘deba"d e '3.?.7:' zsz. 900KHZ
A. 1000KHz & 998KHz o' 1002,(“, & 996KH2

. C. 1002KHz & 998KHzZ

| Ans.C ' ! — 171




1162. Brush voltage drop in DC motors is

A 20V B. 10V
C. 40V D. 2V
Ans.D

1163. To decrease the required power of system we prefer
A. Open loop system
B. Closed loop system
C. A combination of both
D. Open loop system with passive elements
Ans. A

1164. For RLC circuit at low frequency, impedance is large because

A. X.is larger , B. X_islarge
C. X.issmaller D. X.is small
Ans. A A

1165. Natural frequency of a system gives information about

A. Nature of transient response B. 'Overshoot
C. Oscillation

Ans.D

D. Speed of response

1166. Armature reaction of an unsaturated DC machine is
A. Non-magnetizing
C. Cross-magnetizing
Ans.C

B. Magnetizing
D. Demagnetizing

1167. What happens if relative speed between rotating flux of stator and
of Induction motor is zero? .

A. Torque produced will be very large
B. Rotor will not run

C. Rotor will run at a very high speed
D. Slip will be 5% i
Ans. B

1168. Fastest possible réSponse with
r out ov
A. Over damped'response e

B. Under damped response
C. Undamped response

172 w
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muiupie Cho B
D Critically damped response k. Qm_ﬂ o
Ans.D

1169. Hopkinson test on a DC motor Is conducted at

A. No load B. Half load
C. Low load D. Full load

Ans.D

1170. Usually very wide and sensitive speed control is required in case of

A Reciprocating pumps B. Colliery winders
C. Centrifugal blowers D. Lathe machine
: Qns. B

v

1171. In a parallel resonance circuit at resonance

A. Impedance is zero B. Voltage is maximum
C. Current is maximum . D. Impedance is minimum-

Ans. B

1172. A circuit that produces an output waveform without any external signal

source is 7

A. Filter _ B. Amplifier

C. Oscillator D. BothA&B -
Ans.C

1173. In a DC machine maxnmum losses occur due tg

- B. lron
A. Copper
C. Mechanical D. BothA&B
Ans.A ;

t full load
1174. The test used to determine the eff' ciency of two transformers Ly

is

A. Open circuit test B. Shorttil;:unt test
C. Backto back test D._ Type :

Ans. C

1175, Lenz's law corresponds to the
A. Law of conseryation of momen
B. Law of conservation of charge
C. .Law of conservation of emf

' ’ 173
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1176.
1177.

1178,
1179.
1180.

1181.

~ 1182.

R

D. Law of conservation of energy

Ans. A
addressing mode is
Pointer that cannot be used in register indirect
A. BX B. BP
C. SI D. DI -
E. AX : '
Ans. E
Modulation technique in which carrier is switched between two different
carrier levels (0&1) is called . :
. A. Amplitude shift keying B. On-off keying -
C. Frequency modulation D. Phase modulation
Ans. B
Sign of charge carriers in a conductor can be experimentally found by
~A. Thomson effect B. Seebeck effect
C. Hall effect D. ‘Peltier effect
Ans. C '
Equalizer connections are required for paralléling two
A. Compound generators B. Bipolar generators
C. Shunt generators D. Series generators
Ans. A :
A DC motor can be identified by
A. Yoke | B. Commutator
C. Size of conductors D. Windings
Ans. B 3
The radi?s; of curvature. of path of charged particle in a unjform magnetic
field is directly proportional to
A. Flux density of field - | B. Particle's ene rgy
C. Particle's momentum D. Particle's charge
Ans. C ’
Total load transmitted in a 3-phase transmission line is 10, OOOkW power

factor is 0.8 lagging, I’R losses are 900k of
n
transmission line is ; | W. Then the efficiency

A

v



1183.

1184,

1184,

Multipe Choice Questions
e . B. 95%
s D. 99%
Ans. C

-

Which® comparison is correct between filament bulb and huorescent
lamp?

A. Average life fluorescent lamp is 5 to 7 times higher

B. Fluorescent lamp produces more brightness

C. Fluorescent lamp produces more sharp shadows

D. Fluorescent lamp has higher dazzle
Ans. A

Crystal frequency of 8051 based system is 16MHz. Period of m
cycle is
A. 1.333 microseconds B. 0.75 microseconds

C. 0.6 microseconds D. 1.66 microseconds
Ans. B :

achine

A high speed circuit breaker can complete its operation in -

|
A. 2-3cycles B. 6-12cycles !
- € 3-8cycles D. 10-12cycles -
Ans. C >

1185,

- 11gg,

Force acting on a conductor of length 1m placed at right angles to
magnetic field when 1 ampere current flows through it is called

A. Magnetic force B. Electric force
C. Static force ; D. Lorentz force
Ans. A '

i ol
Oscillator whose frequency can be changed‘ by a variable DC contr
Voltage is

¥ ie llator
A. Triangular wave oscillator ~ B. Wien bridge osci

& Crystal oscillator : D. Voltage control oscillator
Ans,p

Inductive circuit time constant is

A LR B. R/L

C R D

I/RL



1188.

1189.

1190.

1191.

1192.

1193.

1194.

17—

_— ‘

Ash content of Indian coal is mostly

A. 20% B. 5%
C. 1% ' D. 10%
Ans. A

A transfer instrufnent employed in the standardization of a polar type A
potentiometer is

A. Electrostatic instrument B. Dynamometer instrument
C. Thermal instrument D. Moving coil instrument
Ans. C

Which of the following can be used to measure a signal of 10 mv at
25MHz?

A. Vacuum tube voltmeter

B. Cathode ray oscilloscope

C. Moving iron voltmeter ' -

D. Digital multimeter

Ans.B '

Radio signals are made up of

- A. Voltage and current ' B. Electrons and protons
C. Energy ! D.. Electric and magnetic fields

Ans.D

In petro thermal systems of geothermal energy there is hot dry rock but

no underground water exists. In such systems, energy is obtained by
A. Circulating compressed air

B. Creating water wells

C. Pumping water .

D. BothA&B '
Ans.C

Boiler using lignite as fuels do not use

A. Travelling grate stoker B. Spreader stoker
C. Underfeed stoker D. BothA&B
Ans.C X ;

Which-meter is suitable for radio frequency measurement?
A. Electrical resonance frequency meter

y



L ' Multp)

B, Weston frequency meter Pl Chojey Quostigy,
¢. Heterodyne frequency meter

D. BothA&B

. i overall efficiency of steam locomotive Is close to
A. 75 to 80 percent B. 55 to 60 percent
C. 5to 10 percent D. 2510 30 percent
Ans. C

1196, Which of the following is correct?

A..Only finite number of differential equations can have same
integrating factor

. N
B. Infinitely many differential equations can have the same integrating
factor . ;
C. Notwo differential equations can have the same integrating factor
D. No more than two differential equations can have the same
integrating factor
Ans. B

1197. A substance which can be strongly magnetized is called

A. Paramagnetic . B. Diamagnetic -
. C. Ferromagnetic , D. Anti-ferromagnetic
Ans. C '

1198. Open loop gain of an ideal Op Ampis
A. Zero B. Infinity
C. Very srha_ll ' D. Very high
Ans. B

2 ' i entis
11, Advantage of an electrodynamometer type instrum

A. Low torque/weight ratio

B. Large operating current

C. Coil being air cored the
eddy current losses.

D. No uniform scale
Ans. C

. tion?
are not installe‘d in a substa

S Which of the following ;nstrUmen: Voltage transformers

! 177
A. Shunt reactors
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1201.

1202.

1202,

1203.

1204.

1205.

178
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C. Exciters D. Series capacitor
Ans. Cc

Under commutation in a DC machine gives rise to
A. Spark at leading edge of brush

B. Spark at trailing edge of brush

C. Sparkat middle of brush

D. No spark at all

Ans. B

To carry current of 100rms area of alumlnum bus bar must be at least

A. 25 mm B. 1mm’

C. 10 mm? D. 50 mm?

Ans. A

Which of the followmg is true about'computer software?

A. Ordered collectlon of instructions

B. Program or set of programs

C. Require no further elaboration

D. .All of above

Ans.D
"Horizontal lines on S plane are Imes of

A. Constant peak time

B. Constant damping ratio »

C. Constant percent overshoot

D. Constant settling time

Ans.A ’

In --—- condition no resistor 6r capacitor is.connected from its outPt %3
its input. ‘
A. Open loop B. Closed loop

C. Open loop gain D. All

Ans. A

The cost of generation is/are theoretically minimum if
A. The system constraints are .considered

B. The operational constraints are considered

C. BothAandB




. Multiple Choice Questio ™
p. The constraints are not considered )

Ans. D

1206. A tuned circuit has a Q of 100 at its resonant frequen
c

" pandwidth is Y of 500khz, It
A 4KkHzZ B. SkHz
c. 6kHz ' D. 7KHz
Ans. B

. 1207. What are normal 4 step sequence of a stepper motor if we st ~ o
~ in clockwise direction with 0110 value? art to move

A. 1100, 1001, 0011, 0110
’ g. 0011, 1001, 1100, 0110
/. ¢, 1001, 1100,- (0110, 0011
D. 0101, 1010, 0101, 1010
Ans. B '

11208. When a single phase captacitor start induction motor is running at steady

speed and deliveririg a fixed torque then;
“A. Forward flux produced by .rotor current . equals backward flux
produced by rotor current :

B. Net forward rotating‘ﬂux equals the net backward rotating flux
C. Peak of forward stator mmf is equal to peak of backward stator mmf
D. Peak of forward rotor mmf is equal to peak of backward rotor mmf - ¢
Ans. B | .

1209. Power scale of circle diagram of an induction motor can be found from
A. Shortcircuittestonly ‘ ¢
B. No load test only
C. Stator resistance test only
D. BothA&B '
_Ans.A

~

M

1210, Normally Zpes matrixis @

; S o ‘gparse matrix ’
A. Null matrix B 9P

A D. Full matrix

C. Unitymatrix & | =
Ans.D |




Muitiple Choice Questions . “

1211. If current sensitiviiy of galvanometer increases voltage sensitivity
A. Increases B. Decreases
C. Remains unaltered B. May increase of decrease
Ans. B

1212. Most commonly used single phase energy meters are

A. Dynamometer type B. Electrostatic type
C. Induction type D. Moving coil type
Ans.C :

' 1213. Location of poles of system gives info about

A. Peak time _ B. Percent overshoot
C. Settling time D. All of above
Ans. D
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T “noice Questions

SHORT QUESTIONS
1. 1 Byte equals?
Ans. 8 Bits
2. In emails BCC stands for

Ans. Blind Carbon Copy

3, Delta service transmission is economical due to
- Ans. Neutral conductor is not used

4, Equations that are used to predict values of dependent variables from
one or more independent variables are called
Ans. Regression equatio_n _
T may be used where the geothermal steam is very corrosive or
contains excessive suspended solids.
Ans. Heat exchangers
© b Kilowatt hour is the unit of
Ans. Energy
7. Vertical line in the S plane is for
Ans. Poles
8. Vertexisalsocalled
Ans. Node
don
9. The primary and secondary coils of a transformer are woun
Ans. Core
0. - Current tl;a.nsformer‘ls a proiection device for
Ans. Measuring '
; : : 2 tc are
l . power plarits which run on natural gas ,steam coal , !
Ans, Fossil fuel plants
1 '

‘ i NCY ANDureuirusnsnesmnse™
A sin wave is characterized by amplitude, freque cy .

Ans. Phase — c 181
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Multiple Choice Questions — : \

13.  Induction motor-rotor is Squirrel cage AN
Ans. Wound type

14..  Asinusoid is represented by amplitude and phase is called

Ans. Phasor

15.  Synchronous genefators are used, because they offer precise contro| of

Ans. Reactive power (VAR)

16. SEIMENS is unit of
Ans. Conductance

17. Which transformer is used in arc welding and high voltage discharge

lamps?
Ans. Leakage transformer

18.  The matrix obtained by deleting the column corresponding to the
reference node in the element node incidence matrix A is called

Ans. Bus incidence matrix A

19,  —-—ee- is used for emergency stop of steam.
“ Ans. Throttle valve '

20. Complex quantities in power system are represent.ed by
Ans. Phasor 4

21.  The loss in a transformer due to reversal of direction of current is called
Ans. Hysteresis loss

22.  The frequency of generator depends on speed and
Ans. No of poles .-

23.  The boiler in which tubes are placed in a horizontal cylinder is called
Ans.Firetube . ' '

24.  With reference to the transmission impairmer{t, the ratio of signal powe!

to the noise is called
Ans. SNR
1

;32' ~
| -




25,
26.

27.

28,
29,
30,

31,

32,

33,

34,

35.

—

MHINNIG Chyly Questinpg
Serles capacitor In transmission line results in

Ans. Voltage controller

Series reactor in transmission line is used for
Ans. Current limiter

Force on a current carrying conductor of length 'L’
field of strength 'B' depends upon
Ans. Angle between 'L’ & 'B'

placed in 3 magnetic

Why microcontrollers are considered as general purpose devices?
Ans. Because they are not meant to do a single work at a time,

Which method is used to find depreciation in equipment with usage?
Ans. Sinking method

Which of the following can happen in a synchronous generator?
Ans. Rotor speed is equal to the speed of stator magnetic field

For the surface where surface charge density is zero, the normal
component of ___is continuous.
Ans. Electric flux density

Diffusion is when
Ans. N type carriers come into P type region-and P type carriers come

.into N type

is used to.record incidents that portray power system
behavior during dynamic events such as low frequency oscillations and
abnormal frequency or voltage excursions.
Ans. Dynamic disturbance.recorders
Generators are produced into two basic configurations: _____—— and
totally enclosed.
Ans. open ventilated

————

Ans. Static and rotating



Multiple Choice Questions — ‘

36. In operation the vohage of generator is determlned by

excitation.
Ans. Island operation

uent change in the pressure of the

. sion and conseq .
; ¥ " S zles which direct the steam in jets

steam occurs entirely within the noz
against the moving buckets. ? 1
Ans. Impulse reaction type turbine

38. The performs the function of controlling the quantity of
steam admitted to the turbine by throttling and acting as a quick closing
.emergency valve  on some governors ) in impulse turbine.
Ans. Throttle valve

39.  ACinduction motor is also called as
Ans. Asynchronous motor

40.  Synchromous speed of motor is given by the formula
Ans. N=120F/P : =

41. ___  isthe return path for the flux in the induction motor.
Ans. Stator frame '

42.  From the total PLC memories most of their memory parts are used as
Ans. Header Files

43.  Whith equipment does not supply reactive power in HVDC converter
stations?

‘Ans. Series capacitors

44.  In air blast circuit breaker arc is extinguished by
Ans. Blasting compressed air which cools the arc

45" Most effective agent for fi
electrical equipment is
Ans. Dry powder

re extinguishing involving liquid, gas and

)

46. Soda Acid and CO; are types of
Ans. Portable fire extinguishers
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7. The atomic number of silicon is 14, its valency is
47.

Ans. 4

8 A-——Is used to cut off the output of the receiver during times when
‘ no signal is being received.
Ans. Squelch circuit

49, For an operational amplifier (OP AMP) hgving open loop gain Aol , its
' output voltage is '
Ans.Ve= Aol (V+ - V-)

50.- To move data from Port O to register and then from register to port 3 we
use the command ”

Ans.MOVC,P0.1 MOVPO3,C

51.  Water is flowing into the cylindrical tank the differential equation of flow
rate would be

Ans. Qi= A*dh/dt

52.  Theideal delay system is defined by the equation

Ans. Y[n] = x[n-nd], - ee<n< oo

53.  of / dx is called
" Ans. Partial derivative

54,  The energy efficiency of a commercial thermal power station, considered
saleable energy produced as a percent of the heating value of the fuel
consumed is typically ‘

Ans, 33-48 %

55, There are two types of induction motor: Squirrel cageand -
Ans. Wound Rotor

56, -

—==--is known as ohmic drop of winding.
Ans. Copper losses
Sy,

Water is heated, turns into steam and spins a steam turbine which drives
3N electrical generator. After it passes through the turbine, the steam is

tondensed in a condenser and recycled to where it was heated , this s
k“_°Wn as. ' :

A‘ns. Rankine Cycle
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58.

59.

60.

61.

62.

63.

64.
65.

66.

67.

68.

R —
should be installed in the main steam line to the turbine to

prevent foreign particles from being carried into the turbine with the
steam.

Ans. STRAINER

A steam

* Impulse turhine is also called as ___ and Rateau Turbine.

Ans. CURTIS

A generator has 60 Hz frequency and 10 poles Find the synchronoys
speed

- Ans. 720 RPM

Modulation is a proceés of varying one or more properties of a periodic -

_waveform called the --- with a modulating signal and that typically

contains information to be transmltted

-Ans. CARRIER SIGNAL

Formula for power for 3 phase load is .
Ans.P=v3 VL IL cosd

- is a high frequency waveform (sinusoidal usually) that is
modulated with an input signal. ’

Ans. Carrier wave
L4 o
Compuserve was
Ans. Online service provider

2i’x (-3!<)=

‘Ans. 6]

Number of increase in hne transistor or increase in capacity of
mlcroprocessor is followed by
Ans. Moore's Law

Proposed calculus is also called
Ans. Sentential Logic

First 16-Bit multichip is

Ans. NATIONAL SEMICONDUCTOR IMP-16

R
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Multipig Choice Quesﬂons

MISCELLANEOQUS QUESTIONS

China has built-an artificial island to e

%A south China Sea B
C. East ChinaSea
Ans. A

stablish a mjita

+ Philippine seg
D. West China Sea

ry base jn

2. Bahadur Shah Zafar was son of

A. Akbar 2 B. Humayun
C. Shahjehan D. Nadir Shah

Ans. A

3. Name the highest battlefield in the world

A. Waterloo B. Siachen
C. Siberia . D.” The Arctic circle
Ans. B ’

4, FIFA 2022 to be hosted by

A. Qatar - B. Russia

C. United kingdom D. Australia

Ans, A
S The headquarters of Islamic Military Alliance Force (IMAF) is in

A. Riyadh B. Jeddah

C. Abu Dhabi - D. Doha

Ans, A o
5 Who is the pfe;ent secretary general of UN?

A. Ban ki Moon B. KOﬁ 'An?nbove

'C. . Antonio Guterres - LD, ﬂone ofa

Ans, C

g Ilah (SWT)?

; . First prophet who was taught the art of wntitnls1 ::aA(A.S)

A Prophet Idrees (A.S) B. Prop:::t Ayub (AS)

C. Prophet Ibrahim (A.S) D. Prop

Ans, A

| | ' 187
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11.

12.

13.

14,

First woman martyred in Islam

Safia
A. Hazrat Rukayah B. :3::: i
C. Hazrat Samiyah 'D. Ha
Ans. C

In the battle of Badar, Quresh army was commanded by

A. Abu Sufyan B. Abu jehal
C. Zamzam bin 'AmrGhafari  D. Utba
Ans. A

Warsac dam is constructed on =-«=-==== river.
A. ladus B. Kabul
C. River D. Jhelum
Ans. B

Zakat is the - pillarof © am

A. First B. Second
C. Third D. Fourth
Ans C

Coniplete the series 15,45--—- 405,

A. 60 B. 150
C. 135 D. 205
Ans.C

8th letter from the end of Alphabets

A U B. Vv
&3 0. T
Ans. S
Which of the following titles was awa British
government? ~ rded to Allama Igbal by the
A. Sir
B.
C. Philosopher Doctor

Ans. A " D. Noneof above




16.

17.
18.
19.

20.

21,

22,

: | 189

T ——
What is the meaning of word
A. Show patience

B. Observe the principles of nature

C. To keep Away/abstain from or observance ¢
D. All of above of Fasting

Ans. C

'Soum"?

Holy Prophet (PBUH) was born in

A.*571AD ‘B. 572AD
C. 671AD D. 672AD
Ans. A c
Cave Hira is situated near
A. Mecca B, Madina
C. Taif . D. Yasrab
- Ans. A :
- The capital of Turkey is
A. Istanbul B. Ankara
C. Kazan D. None of dbove

Ans.B

- The largest airport of Pakistan

A. Allama Igbal International Airport

B. New Islamabad International Airport
C: Jinnah International Airport

D." Sialkot International Airport

Ans. C

Man stepped on Moon in -

A. 1959 : B. igg;
C. 1965 D.
Ans.D

shield?
Which of the following rukn e‘islam is also referred as ,

Roza)
A. Prayers (namaz) g ;ZStt}:n:éB
C. Giving (Alms)
Ans. B

Multipie Cholce Quesiong
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24,

25.

© 26.

27.

30.

The capital of ICELAND is

A. Reykjavik B. Kopavogur
C. Midborg D. Faxa Bay
Ans. A ‘

Northern end of Pakistan is occupied by western range of which of
following mountain range
A. - Karakoram range.

C. Koh e Suleman range
Ans. B

B. Himalayan range
D. Koh e Hindukush range

Which "pass" connects Chitral and Gilgit?

A. Khyber pass B. Shandoor pass
C. Muztag D. Tochi '
Ans.B

Which of the following is not an articulator?

A. Lip B. Face
C. Teeth D. Tongue
Ans. B : '

" UN was founded on
" A. 24 October.1944

B. 24 October 1954

C. 24 October 1945 D. 24 October 1955

Ans. C

Mount Everest is located between the borders of Tibet and

A. - China ' B. India
C. Bhutan " D. Nepal

Ans.D

Diamer Bhasha Dam is to be constructed on_ river

A. Indus : B. Chenab
C. Jehlum D. - Ravi

Ans. A

Baglihar dam is being constructed on river,

A. Indus B. Chenab
C.. Jehlum . D. Ravl

Ans. B

e
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Mirani dam is in

31.  Miranidamisin............ ,
A. Azad Jammu & Kashmir B. Punjab
C. Baluchistan D. Sindh
Ans. C . -
32. Gomal Zam dam isin |
A. North Waziristan B. South Waziristan
C. Khyber Pakthunkhwa D. Khyber Valley
Ans. B ‘
33.  Gomal Zam dam was inaugurated on
A. .12 September 2011 B. 12 September 2012
C. 12 September 2013 D. 12 September 2014
Ans. C
34.  Neelum Jehlum hydropower plant capacity is
’ A: 969 MW B. 1050 MW"
C. 1150mMmw D. 1250 MW
Ans. A
35.  Kishanganga dam isin India and constructed on ------ river.
A. Chenab B. Sutluj
C. Ravi D. Jehlum
Ans.D
36.  Which of the following "pass" is located in FATA?
A. Khyber B. Shandoor
C. Tochi : D. None of above
Ans. C '
. Its length is
3. Khyber Pass connects Afghanistan and Pakistan g
A. 7km B. 25km
C. 53km = D. 56km ~
Ans.D \
3
8 Sukkhur barrage is on. 5. Indus Rivex
A. Arabian sea o sutlu] River
C. Ravi River 2 )
Ans, B

multiple Chojeq Quosrlons
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39.

- 40.

41.

42,

| 43,

|
b 44,

45,

Length and location of Baltoro glacier
A. 62km; Karakoram Range

B. 62km; Himalayan Range

C. 52km; Karakoram Range

D. 52km; Himalayan Range

Ans. A

How many barrages have been constructed on the River Indus?

A1 ‘B. 3
C 6 D. 12
Ans.C

River Indus originates from

A. India B. China
C. Tibet D. Pakistan
Ans.C

The oldest dam of Pakistan is

A. Warsak dam B. Tarbela dam
C. Rawal dam D. Gomal Zam dam
Ans. A '

*Warsak dam is the oldest and constructed in year 1960

River Ravi originates from

A. Himachal PradeshinIndia  B. Northern glaciers of Pakistan

C. Indus river D. None of above
Ans. A ' '

Timeline of first world war

,2, ig;g-igzo ‘ B. 1914; 1918
A'ns,a -1924 | © D. 1919-1923
Timeline of second Qorld war

1580 1od3 D 108 1
Ans. D 3

T _ et
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46.

47.

48.

49.

50.

51

52,

53,

Neelum valley is in

A. Khyber Pakhtunkhwa B. Punjab

c. Jammu Kashmir D. Azad Kashmir

Ans. D

Hunza valley is in ------ ; And --—-river flows in the valley
A. Gilgit Baltistan; Hunza B. Gilgit Baltistan; Gilgit

C. Khyber Pakhtunkhwa; Hunza D. Azad Kashmir; Hunza
Ans. A .

--—--- is the Switzerland of Pakistan.

A. Murree B. Kalam .
C. .Swat D. Kaghan valley
Ans. C ' :

Kailash valley is in

A. Kaghan . B. Gilgit Baltistan
C. Azad Kashmir D. Chitral
Ans. D ‘

Chaggi mountains séparate Pakistan from
A." Baluchistan from Iran

'B. Baluchistan from Sindh

C. Baluchistan from Afghanistan
D. Baluchistan from KPK

Ans. A
G | -
Peshawar and Chitral are connected by
A. Tochi pass ) B. Khyber pass
C. Malakand pass . D. None of above
Ans. C
Tochi pass connects ----- i Afghanistan with ----- in Pakistan.

B. Ghazni; Bannu

A. Kabul; Bannu
D. Ghazni; FATA

C. Ghazni; Peshawar
Ans. B

n 4Pakistan and connects

i st pass i .
Wizteg pasate the higieste B. Baltistan with purand line

A. Baltistan with China 193




54.

S8,

6.

57.

58.

59.

60.

194

C. KPK with Afghanistan D.

Ans, A

Largest river of world is

A. Amazon B.
C. Hudson D.
Ans. A

Longest river of the world is

A. Amazon B.
C: Hudson D.
Ans. B

A fly has-----

A. 4 legs and 2 wings B
C. 6legs and 4 wings D.
Ans. C

BothA&B \

Nile
Thames

Nile
Thames

8 legs and 4 wings
4 legs and 4 wings

Waleed is 1/3 minus 5 of his father age. Waleed's age is 7. What is his

father's age?

A. 32 B.
C. 35 D.
Ans.D
Which one is odd? 12,15,18,20,24,27
A 12 B.
C. 18 . D.
E. 24
Ans. D
- ‘Decode 6554=
A. .FDDE - B.
C. FEED ‘ - D,
Ans.C -
If FAIR is to FARE then HAIR is to?
A. HARE B.
C. HEAR D.

Ans. A i 1 g

20

15
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63.

65.

67,

munpie Lnioice yuestions

ers 8m towards north from origin, 12m towards east 4

a person €0 d finally 12
If o t0 wards south and finally 12m towards east. Find final distance
meé
igin?

from orié B. 6m

: 3:’; D. 8m
C.
pns: €

ere is attock Oil Refinery situated?

wh;mock B. Rawalpindi

C: M uzzafa.fgarh D. Karachi

»

ns. B

where i arsenic is found in Pakistan?
Ans: kohat (Not Sure) ,

A, Kohat B. Peshawar

C. Chitral D. Bannu
_Ans.A

Where and when oil was discovered?

A 1759, Saudia Arabia B. 1759, IRAQ

C. 1759, USA D. 1759,_Canada
Ans. C- ' '

Coal & petroleum are fouqd in what type of rocks?
A. -Metamorphic _ B. Sedimentary
C. Seismic : D. None of above
Ans. B '

Which mineral is most found ih pakistan?

A. Diamond - -B. Sulphur
C: Coal - . D. Arsenic
Ans. C . '

The chief source of water in Pakistan is )

A. River water ‘ 8. Underground water
C:. Sea Water . . D. Rain water '
Ans. A :
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68.

69.

70.

71.

Y A

73.

74.
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Multiple Choice Questions ﬁ
is a heavier residual fuel oil used in a Ship's boiler,

A. Crude Oil
C. Bunker Fuel
Ans.C

B. - Natural Gas Liquid
D. Heavy fuel

is a renewable fuel synthesized from soybean, othe, 0il corps
Or

animal tallow, .
A. Vegetable fat B. Bio diesel
C. Animal fat - D. Vegetable oil
Ans. B -

......... is a substance containing methane and-carbon dioxide, Produceg
from anaerobic decomposition. of organic material in a landfil|,

A. Bio gas . : B. - Bio fuels
C. Hydrocarbons ~ D. None of above
Ans. A '

e IS @ light petroleum distillate that is used in space heaters,'cooking
stoves, water, heater and suitable for use as a source of light.

A. Gasoline B. Diesel
C. Kerosene oil 3 D.. Paraffin
Ans. C '

Freedom movement of Muslims was based on
A. Two nation theory

B. Ideology of Islam ;
C. Concept of sovereign state for Muslims

D. .All of above
Ans. B
Against Nehru's report Mohammad Alj Jinnah proposed
A. Fourteen points . B. Joint resolution for separate state
C. Electoral reforms D. All of above
" Ans. A’ i
What'is the literal meaning of word 'Qiblah'?
‘A. To bow down B. Suppression
. C. In front of D. None of above
Ans. C




-. I’ o Multiple Choice Questions

f

6

%

il

8.

of “fran" i
ancien® '?amie B. Persia
Tt“acc'mst""m‘op D. Gharnata
t Aﬂdl”
pns:?
of national college of arts (NCA) Was---=s==s i
old “am: school of Arts B. Scott academy of sciences
A '::;;,.John arts academy D. Lahore arts academy
C
N‘"A
4 ' ia. china and South Africa is
. of Brazil, Russia, India,
R:g n B. SCCO
. e D. G5
¢ NATO
Ans. A
i {ze of land is
{ pravince of Pakistan by §
L:‘::n;b 8. Balochistan
¢. Sindh D. KPK
Ans. B
voum-e-Nafat is also known a5
A Hajj day 8. Eid day
¢ BothA&B D. None of above
Ans. A

Sun shines vertically on the equator
A Oncein ayear B. Twice ayear
. Theoughout the year D. None of above

Ans. B

Production of rubber tree is adapted Lo« climate.

A. Hot and dry 8. Hot and humid
€. Wet and cold D. Dryand cold
Ans. A

Sun's heat and light energy reaches the earthby

A Conduction 8. Convection
C. Transmission D. Radiation
Ans. D




muIpIe LNOICE WUeStions ﬁ

83.  The term third world refers to 2 _
A. Asian countries B. African countries

R ALk |

C. Sub-Saharan countries D. Under developed countries
Ans. D .
!
84.  When the cease fire line was drawn in Kashmir?
A. 1948 . B. 1947 "
- C. 1949 ' D. 1950
Ans. C

85.  Buffer state of Asia is geographical surname of

A. Pakistan B. India
C. Afghanistan D. China
Ans. C 3

86. What is the location of Canada?

& A. South America B. North America
C. Antarctica D. North pole
E. South pole

Ans. B

87. Atmospheric pressure is measured by

A. Pressure gauge B. Barometer
C. Pressure transmitters D. BothA&B.
Ans. B .

88. Largest railway station in the world is

A. Grand central terminal B. Moscow subway
C. Delhi railway station D, Karachi railway station
‘Ans. A '

%

89.  Which prayer has no "Azan"?

A. Eid B. Namaz e Janaza
C. Jumma D. BothA&B
Ans.D !
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. Ans.

Ans. ,

Ans.

Ans.

10,

Ans,

11

Ans,

P18 Chojeq
SHORT QUESTIONS i Quosﬁons ;

what are the total numbers of AsgA m ,
10 : ember statesy

where is the headquarter of ASEAN?
jakarta -

who is India's current Chief Justice?

i jan Gogoi. " chief j
Justice Ranjan Gogoi. He is the 46" chief Justice of India

. When was NAB (National Accountabi

16" November 1999 : bility Buraau) formed?

" Who is current Brexit Minister (Bl’ltISh Secreta

European Union)? ry of State for Exiting the
Ans. Stephen Barclay -

Vi|nil\JS is the capital of which Baltic state?
Lithuania (its currency is Euro)

v

On 27" October 2017, CAREC, Central Asian Republics Regional Economic
C00perat|on Ministerial meeting’ (16"‘) was held in?

Dushanbe (Capital of Tajikistan)

CAREC (established in 1997) has total membership as?
11 Countries '(Afghanistan, Azerbaijan, China, Georgia, Kazakhstan,

Kyrgyiztan, Mongolia, Pakistan, Tajikistan, Turkmenistan, Uzbekistan)
and 6 multilateral institutions

Who is the current Kenyan President?
Uhuru Kenyatta

By UN investigators, who was held responsnble for Sarm gas attacks in
Sheikhoun (Idlib)?

Syrian Govt. (not rebels)

Who will be the host of FIFA world Cup 20227
Qatar
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Multiple Choice Questions

12,

Ans.

13.
Ans.

14.

Ans.

15,

Ans.

16.
Ans.

17.

Ans.

18.
Ans.

19,
Ans.

20.
Ans.

21.
Ans.

200

‘

Current President of FIFA (Federation Internationale pe F°°tbl
3|

Association) is?
Gianni Infantino

In Kashmir, which day was observed as Black Day?
27 October (because India illegally occupied Kashmir on 27% Octoh,
r

1947)

Motorway projects, which have currently been completed cover g,

much length?.
760 km

Which country has currently agreed to grant duty free access to Pakistan

products?
Italy (Pakistan's trade with Italy has increased 1.6 billion Euros in 2016)

Current ambassador of Tunisia to Pakistan is:
Adel Elarbi

First multmatlonal anti-terrorism air exercises (between Pak, Turkey,
Saudi Arabia) have been concluded in Pakistan, on 29" October. These

exercises were named as
ACES MEET 2017

Who was the first chief of air staff? -
Zafar Chaudhry (1972-1974) before 1972, this’ posmon was named as

Commander-in-Chief of PAF; So first C-i n-C PAF was Allan Perry while

first Muslim CG-in-C was Asghar

Iraq's current PM is:

- Adil Abdul-Mahdi

Total members of EU (European Union) area:
28 (EU was established on 1* November 1993 as a result of Maastricht

Treaty) its HQ is at Brussels

Egypt’s currently appointed chief of army Staff is:
M. Farid Hegazy




Multiple Cholc. Qu estion
. 5

gU foreign policy chief.

22', fFederica Mogherinisk

Ans.
join Compretiensive Plan of Ac‘.i°" the accord With Iran agreed in-

23.; 14 July 2015 in Vienna Y

Ans. 2

Spain’s Deputy Prime Minister.
14.5 Soraya Saenz de Santamaria
n .

25.  Current Secretary Election Commission of Pakistan is.
An.s. ‘Babar Yaqoob Fateh -

‘26,  Pakistan’s I:Iigh Commissioner desi

Bnate to Sri Lanka is:
Ans. Maj. Gen (R) Shahid Ahmed Hash

mat

27. Under China-Pakistan Economic Co
| been completed? .
“Ans. 5 Projects (with an installed Capacity of 2,520 megawatt of electricity)
; (1) 320 MW Shaiwal Coal Power Project (2) Hydro China Dawood ang (3)
Sachal Energy Development wind power project
MW wind power project in Jhi

$ with 50 mw; (4)100
! mper, Thatta (5) Quaid-i-Azam Solar’
Power Park of 300 MW out of 1000 MW

\

28. Pakistan.'s current ambassador to China is:
Ans. Masood Khalid

29.  Who has been appointed as Indian Government's interlocutor on Jammu
and Kashmir?

: Ans.  Dineshwar Sharma
30.  Current head of Iran's Paramilitary Revolutionary Guard is:
Ans, Mohammad Ali Jafarj .
31. Current Russian Prime Minister is:
An§. Dmitry Medvedey

|

2. When was ASE
Ans,

. ’ ?
AN (Association of Southeast Asian Nations) formed
8 August 1967

| h 201
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33.

Ans.

34
Ans.

17.

s

38
Ans.

i9

Ans.

41.
Ans,

42.
Ans.

43.
Ansi

202

Muitiple Choice Questions A

Pakistan is most populous country of the world.

6th
of Guru Nanak will be celebrated on?

In 2018, birth anniversary b
23 November (currently 549 )

Current Palestinian Prime Minister is:
Rami Al-Hamdallah

When will Britain 'eave the European Union formally?

29 nMarch 2019

Current  Director Planning  State  Earthquake Rehabilitation apg
Reconstructuion Authority is:

Abid Ghani Mir

Which committee has currently been operationalized by Senate?
Ethics Committee of the Upper House

What, according to the delimitation bill, wall be the status of overall seats

of Nation-! Assembly?
272, but number of seats by Punjab has been reduced by 9, (7 general

seats and 2 reserved), KPK will be given new S more seats (4 general + 1

reserved) Balochistan will be given 3 more seats (2 general + 1 reserved)
and 1 more seat will be given to Islamabad capital territory; In this 9

seats from Punjab has been shifted to these provinces; while seats of
Sindh Assembly will remain same.

Pakistan’s current ambassador to Bahrain is:
Javed Malik

Independence date of Gilgit Baltistan is
1 November 1947

Famous poet Tanveer Naqvi died on.
01 November 1972

Israel's current chief of ground forces is:
Major General Yakov Barak (who currently visited India)

e
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S

16,
pes:
YR

AnS.

4.

51.
Ans.

S2
Ans.
53.
Ans,

54,
Ans,

hich d.,ughter' of Quaid-e-Azam has dled (on 2ng Nove
c u

york?
SR

mber 2017) in

current spokesperson of forelgn office?

¢ the
whols 77 ad Faisal

pr. Muham

which publication has currently been launched by ex-pm Shahi

npakistan gnergy Outlook 2017” (which aims at encompassing ex
and future energy scenarios of the country) ‘ Xisting

d Khaqan?

|terfax news agency belongs to?
Russia

international Court of Justice (IC)- formed in 1945 under UN charte;) -
how many seats of Judges?

15 Judges (9 years is term of each judge)

current President of 1CJ is:
Abdulgawi Ahmed Yusuf (Somalia)

Where is the headquarters of 1CJ?
Hague, Netherland '

Kazakhastan’s President is:

Nursultan Nazarbayev

The Silk Road Economic Belt (the Landbased) and. the 21st-century
Maritime Silk Road (the oceangoing path) are known as: the ‘
One Belt and One Road Initiative (OBOR), OR

Currently the Belt and Road Initiative (BRI)

China's the Belt & Road Initiative consists of how many corridors?
6 Corridors + 1 Maritime ;

Corridors, which are part of the Belt and Road Initiative, afe?
a, Chln_a-Pakistan Economic Corridor

e S AR
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Trwrdpie Choice Questions ‘
. b. New Eurasian Land Bridge (from Western China + Kaza akhy, |
n b

Ans,
56.
Ans.
57.
Ans.
58.
Ans,

59,
Ans.

60.
Ans.

61.
Ans.

62.

Ans.

204 -

'Western Russia) '

€. China - Mongolla' Russia Corridor
d. China-Central Asia-West Asla Corridor (China + Turkey)

€. China - Indochina Peninsula Corridor (Southern Chinan * Singay
f. China - Myanmar - Bangladesh — lndia Corridor (S°"them c:re)

Myanmar)
Maritime Silk Road (Chinese Coast + Singapore + Mediterranean)
Ex-CM Balochistan is Nawab Sanaullah Khan Zehri. Who Was first oy i

Balochistan?
Ataullah Menal (1972-73).

Balochn;tas was given status of full- ﬂedged status of province In 1969

Urban ‘popu]ation has gone up from 28.3% to:

.325%’

The urban population growth rate is 3.45%, whereas the rural Populatign

growth rate is:
2.24%

According to the 1998 Census the total population of Paklstan is 1305

million. It was _____in1981
64.2million

The population of Punjab has risen from 47 2in 1981 to in 1998.

72.5 million

The population of NWFP has gone up from 11 million in 1981 to in 1998:
17.5million

| The NWFP growth rate has declined from 3-32% to:

2.75%
in

The Balochistan population has increased from 4.3min 1981to ____|

1998.
6.5million

e e
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e Multiple Choice Ouo.lﬂons .
¢3.  EATA population increased from 2.1 m to _in 1993,
Ans. 3‘1 m

4. Which river crosses the equator twice ?

65.  The Headquarters of Asian Development Bank (ADB)islocatedat
Ans. Manila

66.  Night blindness is caused by lack of Vitamin
Ans, A

87.  Who is the conqueror of central Asia 2.
Ans. Qutayba bin Muslim

6. According to 1998 Census, 67% of people live in rural areas, down from
in 1981.

Ans, 71%

8. The proportion of urban population shows an increase from 28% in 1981

to in 1998:
Ans, 329

i
. According to the 1998 Census, almost 43% of the country’s population is
below _

Ans, 15 years

| 1981 to
" The share of urban populations has increased from 28.3% in
32.5% in 1998 or by

MS. 4‘2% '
i 8.
! s Z48 t ____m 199
Ai The population NWFP has increased from 13.1% in 19810
S 134y
' . in
B : in 1981t0 _—
The Population of Sindh has increased from 22.6% in
Ay 199g, ;
vs. 23y :
\ ": ' —— g 205
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74.

.Ans.

75.

Ans.

76.

Ans.

17"
Ans.

78.

Ans.

70,

80 -

Ans.

81.

Ans.

82.

Ans.

83,
Ans,

84,
Ans.

For 100,000 live bifths, women die of
135010500 ' 2T kA

: - '
X . :_ . i q 1981 .

The population of Islamabad has mc:reased.fr?m 0.4% in to___ i

1998. v = , \ l

0.6% : ;

According to 1998 Censﬁs islamabad is the most urbanized area with 3,
cc :

urban population share of:
65.6%

“ 2 . *
According to 1998 Census FATA is the least urbanized area with an urban
population share of:
2.7%
Sindh is the most urbanized province 48.9%, followed by Punjab
31.3% | , |
A;égrding to 1998 Census, the three big cities of Sindh; Karachi,
Hyderabad, and Sukkur account for 73.1% of the total urban population

and of the total population of the province:
5.7% s :

According to 1998 Census, the average household size ha§ declined

marginally from 6.7 persons in 1981 to persons in 1998:
6.6% s

According to 1998 Census,

the Balochistans populatio ; fall
down to 2.42%, which was in 1981: P n growth rate
7.09% ' : - :

Infant mortality rate in Pakistan is
95 per 1000.

gh fertility rate.in Pal{ista'n are

Desire for Larger Families & Low use of c°ntfacept'¢;"

I

The reasons of hi
Early Martlages,




I Multiplo Choico Questions

85.
Ans.

86.
Ans.

87.
Ans.

88.
Ans.

89.
Ans.

90.
Ans.

91.

Ans.

92.

Ans.

93.
Ans.

- 94,
Ans,

95.

Ans.

96.
Ans.

The legal age for female marriage in Pakistan is:
16 years

-

A census of US population has been conducted évery ten yeéars since:
1790

Generally Pakistan conducts a population census every:
10 years

The interdisciplinary study of human population is called:
Demography

Demography includes statistical analysis of:
Births, Deaths and Migrations

In Pakistan, first population census was conducted in:
1951

In 1998 census: the population density i.e., persons per square kilQ!peter

is: ; |

116 . e
b ! - !

The sex ratio i.e. males per 100 females is '

108.5

The current population of Pakistan is:
207,774,520

The percentage of male population is:
52.03%

Islamabad's area is 906 sq.km. W
sq.km)? '
888

hat is its population density (persons per

Our national language Urdu is the mother tongue of ___people. |
7.57% ‘ A ' |

A —————— S
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97.

Ans.

" 98.

Ans.

99.
Ans.

100.

Ans.

101.

* Ans.

102.

Ans.

103.

Ans.

104.
Ans.

105.

Ans.

106.

Ans.

107.
Ans.

\ 108.
" Ans.

109.

Ans.

208

Punjabi is the mother tongue of people.

44.15%

What percentage of our population is divorced?
0.36%

What percentage of our population is widowed?
5.40%

Muslim population of KPK is

99.4%

Sindhi is the mother language of population.
14.1%
Pushto is the mother tongue of people.
15.42%

Which is the largest minority in Sindh?
Hindus (Jati)

Saraiki is the mother tongue of ___ people.
10.53%

‘What part of population (15 yéars and above) is currently married?

63%

Which is the fourth largest city of Pakistan according to population size?
Rawalpindi

Which one is the largest city population wise?
Faisalabad.

Battle of Pilasy was between Siraj-ud-Daula & .
Lord Clive

Muslim League was founded in:
Dhaka
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110. Durand line treaty was between Sir Mortimer Durand &
Ans. Abdur Rahman Khan, Emir of Afghanistan

111. Lion's share of UNO's budget Is spent on:
Ans. Peace Keeping

112.  American Plan "Great Initiative Plan" was for:
Ans. Democracy

113. Tsunami hit 12 countries in 2004. Its epicenter was:
Ans. Sumatra

t

114,  Muslim country with Iowest per capital income is N
Ans. Somalia . : '

A}

115.  First country which issued currency notes was:
Ans. China

116. Spratly island are disputed between China &
Ans. Vietnam

117. The 2™ country with more inventions after USA
Ans. Germany

118. Khanki head-works is situated on the river:
Ans. Chenab

119.  Braille Educational System was invented for:
Ans. Blinds -

120.  Ghulam Muhammad Barrage is also called:
Ans.  Kotri Barrage

121, Kremlinisa fortress for government offices of:
Ans, Russia

122, Which Desi month is called brother of march?
Ans, Chate

A T TR |
R '



* Multiple Choice Questions

123.
Ans.

124.
Ans.

125.
Ans.

126.
Ans.
127.
Ans.

128.
Ans.

129.
Ans.

130.
- Ans.

131.
Ans.

132.
Ans.

133:-
Ans.

134,
Ans,

135,
Ans.

' Bosphorous strait connects Bla

E—

The Capital of Taiwan:

Taipei
Olympic airways belongs to:
Greece-

ck Sea with: -

Marmara |

Abel Tasman discovered:
New Zealand

Longest river of Asia is

~ Yangtze

ATM stands for:
Automated Teller Machine

Playground of Europe is:
Switzerland

Naira is currency of:"
Nigeria

2nd largest ethnic group in Afghanistan.
Tajik

“The idea of Pakistan” was written by
Stephen Cohen v

Religion “Shintoism” is followed by:
Japan : I

N \

\

"Clash of Civilizations" wa; wri
Huntington

/

tten by:

Oldest organization of huma

A nright:
Anti-Slavery Internationa| P
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e e — ~~Multiple Choice Questions

136.
Ans.

137.

138.
Ans.

139.

140.
Ans,

141.

142,
Ans.

143.
Ans.

144,
Ans.

145,
Ans.

146.
Ans.

147.
Ans.

What was the magnitude of earthquake in 20057
7.6

Which country sent more paramedical aid to Pakistan after earthquake

20057
Cuba

Largest producer of solar energy:
Germany

Who came to Pakistan as UNO's special representative after earthquake

2005?
Bush Senior

Country with unwritten constitution is:
UK 3

Holocaust means:
Killing of Jews During World War Il

‘Antara is news agency of:
.lndo‘nesia

Word "Tsunami” belongs to which language:
Japanese

UNO has declared 2004-2014 as the decade of:
Education For Sustainable Development

“War & Peace" was written by:
Lea Tolstoy

Gandhara Civilization was situated between:
Indus And Jhelum

Main cause of France's riots in 2005:
Changes In Employment Rules

211
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i 148 | second biggest natural gas field of Pakistan is:
Ans. Mari .(Sindh)

| 149.. Babri Mosque was situated in:

Ars. Ayudhya [UP) °

150.- President of UK during World War-1 was:
Ans. Woodrow Wilson

I ast Largest army is of:
| Ans. China

152. English poet who died in young age:
Ans. John Keats

153.  "Paradise lost” was written by:
Ans. John Milton

154, The most famous brand of the world is:
Ans. Coca Cola e

155.  Oldest disease is:
Ans. Leprosy

156. Continent without any glacier is:
Ans. Africa

157. What is 'lkebana" ?
Ans.  Japanese art of flower arrangement

158. Gestapo was the secret police orgamzatlon of:
Ans, Germany

159.  Which ﬂower is the nation
Ans. Jasmine, Chambeli

al floral symbol of Pakistan ?

160. Diabetes is a disease of
Ans. Pancreas




161.
Ans.

162.
Ans.

163.
Ans.
164.
Ans.
165.

Ans,

166.
Ans.

167.

Ans.

Which of the following colors are primary colors ?
Red, Blue, Green :

Which of the following wonders of world is situated in Iraq ?

Hanging Gardens

What is the main cause of failure of Pakistan India Iran gas pipeline

project ?
High price demanded by Iran

What is Pariah state ?
A state which is not acceptable to the world and is avoided by every

country

The term Track-Il Diplomacy is used for
Managing relations between two countries using unofficial channels

Which is the oldest stock exchange of the world ?

Amsterdam Stock Exchange

Pakistan State Bank started working on July 1948 with a reserve of

rupees.
30 Millions

Al-Hilal newspaper is associated with
Maulana Abul al Kalam Azaad

Which of the following country gave the right of monarchy to women by

amending the constitution recently
Japan

Which of the-following inventions is the oldest
Clock '

In the equation E= mc?, whatisC__~_ ?
Velocity of Light

Myopia is a defect of vision of
Distant objects

s S SR

;



